4" CONC. SLAB-ON-
GRADE w/#4 BARS @

16" O.C. EA. WAY
MID DEPTH. f¢c=2,500 PSI

#4 REBAR DOWEL SET
IN SIMPSON SET EPOXY

16" O.C., ICBO NO.
R-5729, SP. INSP. REQ'D

DEEPEN EDGE
OF SLAB BY 6"

FIRM SUBGRADE
SOIL PER CODE

(E) SLAB CONN TO (N) SLAB DETAIL



DRYWALL PER CODE

(E) SLAB-ON-GRADE

N, 6"
e

16" MIN.

3!_0" X 3!_0"

PLYWOOD PER SHEAR
WALL SCHEDULE

(WHERE OCCURS)

3x4 SILL PL. (P.T.)

7/8" STUCCO PER CODE

FLASHING PER CODE

5/8"@ M.B. w/ SET EPOXY

PER S/W SCHD., MIN, EMBED.
5", MIN. EDGE DIST. 1-3/4"
LARR #25729, SP. INSP. REQ'D

(E) CONC. FOOTING

(N) 3'-0"x3'-0" CONC. PAD
w/ 4- #5 BARS @ BOTT. EA.

WAY, f'c=2,500 PSI
SPACE 8'-0" O.C. MAX.

3" CLR. (TYP.)

(E)WALL FOOTING-(N) WALL FOOTING DETAIL



ST 6224
2-2X TOP PL.

y sy

L%, WLl

EXISTING NEW CONSTRUCTION

)

(E) TOP PLATE & (N) TOP PLATE CONN.DETAIL



3#5 REBAR DOWEL , TYP.

w/ SET EPOXY , LARR #25279
MIN EDGE DIST. 1 3/4"

MIN EMBED. 5" SP. INSP. REQ'D.

o
T\i\ \7\\
o o
9 6
SECTION
(N) FOOTING , REF (E) FOOTING
SIDE VIEW

(E)WALL FOOTING & (N) WALL FOOTING DETAIL



2x4 OR 4x4, REF.
SEE S/W SCH. ON
SHEET S-1

HD, REF., PER S/W
SCH. ON SHT. S-1

M.B. PER S/W SCH., v
SET IN SIMPSON SET
EPOXY MIN. EMBED. 6",

MIN. EDGE DIST. 9"

LARR# 25279 |
SP. INSP. REQ'D & #4 DOWEL @ 8" O.C.
w/ SIMPSON SET
EMBED. 6", MIN.
S EDGE DIST. 5"
LARR# 25279

SP. INSP. REQ'D

/ | CONC. COVER, TO
| \ PROVIDE REQ'D EDGE

\ DISTANCE, 24" LONG
| fc=2.500 PSI

(E) CONC. FOOTING,
REF.

SECTION

(E)WALL FOOTING RETROFIT DETAIL



8in CMU w/ #5 @ 8.in
olc

(fm=1,500 psi)
Solid Grout,
Spc Insp

10 in Mas w/ #5 @ 8.in
o/c Solid Grout, Spc

\J
~— SWALE | — T
T~

e S 1/:?

// - 2
2 3/4"
ical]

oC
Water Proofing
(Mirafi 140N or equal)

#2 TIES @ 16" O.C.

— #4 HORIZ.BARS #24"

S
~

11'-0"

Ins '_ -
N (f'rFr)l=1,500 psi) A §
\ " L %
. g
3-0" . ' o
MIN. o I T2 L 5
_ #4 HORIZ.BARS #12" % g
s (§® L 4"% PVC PERF. PIPE
. 1| on12"sQ. 3/4@PEA
- | GRAVEL
1 ol R
— 30" _ |24"TYP
’ : FTG CONCRETE
8 in Mas w/ #5@ 8.in = 5 - (fc=2,500 psi)

olc
Solid Grout, Spc Insp
(Fm=1,500 psi)

) #4 HORIZ.BARS #24"

C
#2TIES @ 16" O.C.
Water Proofing

6-0"

10 in Conc. w/ #6 @
8.in o/c
(fc=2,500 psi)

40d-LAP SPLICE TYP

3.

4" THK SLAB ON
GRADE W/#4 @ 16"
O.C. ON 6 MIL V.B.
OVER 2" CLEAN

#4 HORIZ.BARS #12"
OoC

#4 HORIZ.BARS #24"
oC

| 1-34

e N

.| 4@ PvC PERF. PIPE
on 12" SQ. 3/4@PEA
 GRAVEL

o 7

S

40"

10'-0"

hf-*.‘.'—nﬁ'
e ¢

16"

SAND.

|
.

BOTT.

FTG CONCRETE
(Fc=2,500 psi)

#5@ 16" EW TOP &

2-10' SPLIT RETAINING WALL DET.



2x FLAT SHIM BLOCK

—

S—

ATTACH WITHSDSa x 472
SCREWS TO SHIM BLOCK
INSTEAD OFSDSY4 x 372
SCREWS PROVIDED

ADJACENT FRAMING
N BY OTHERS

STEEL STRONG-WALL HEIGHT ADJUSTMENTS
2x FLAT SHIM BLOCK




ginMasw/#4 @ 16in [ SWALE
o/c Solid Grout, Spc . //Zz>_f -
INSP - (fm=1,500 psi) iy Water Proofing
#4 HORIZ.BARS @24" .~ $%  (Mirafi 140N or equal) 5
oc . |  4"9PVCPERF. PIPE
v . on 12" SQ. 3/40PEA
4" THK SLAB ON + | GRAVEL
GRADE W/#4 @ 16" (/2 Y s Jol =y v
0.C. ON 6 MIL V.B. O ] } d
OVER 2" CLEAN el :OA )
SAND. ‘
FTG CONCRETE
| 2-0" (fc=2,500 psi)
/ 7 #4@16"EWTOP &
BOTT.

4' RETAINING WALL DET.



| O O O ®, o

J) 1010} |0

AN
\

LTP4 SPACING
BY OTHERS

4x SHIM BLOCK

ATTACH SDS SCREWS
TO SHIM BLOCK

ADJACENT FRAMING
BY OTHERS

STEEL STRONG-WALL HEIGHT ADJUSTMENTS

4x SHIM BLOCK




HANDRAIL, HANDGRIP
PORTION 1-1/4" TO 1-1/2"
ATTACH TO WALL w/4-1/4"@

LAG SCREWS OVER SOLID
BLOCKING @ 4'-0" O.C.
FLOOR SHT'G, REF.

L 2x12 PLANK RISERS

| AND THREADS, SUPP-
ORTED ON STUD WALL

~
N
N

N

3-6
ABOVE NOSING

MAX.

CMU WALL

FOOTING, REF.
F.F.

A MINIMUM HEADROOM OF 6'-8" MUST BE PROVIDED.



MIN.

" NOTCHES MIN. 11" O MAX.
1l A 6-0" O.C. EbrRED HOLE
. & . L
THHHW\THHH i ) i B
372 10" MIN. 10" MIN.
MAX.

1%'X 16 GA. STRAP W/6-10d COMMON NAILS EA. END
@ EA. PLATE (STRAP NOT REQ'D FOR SILL PLATE)

2X4 DBL TOP PLATE
2X4 OR 3X4 SILL PLATE SIM.

NOTCHES MIN.  2"OMAX.  * «Z
2" MAX. 6-0"O.C. BORED HOLE™; S
S N
HHHHFjHHHH
5}2 1'-0" MIN 1= 0" MIN.
‘MAX‘

14X 16 GA. STRAP W/8-10d COMMON NAILS EA. END
@ EA. PLATE (STRAP NOT REQ'D FOR SILL PLATE)

2X6 DBL TOP PLATE
2X6 OR 3X6 SILL PLATE SIM.

NOTCHES MIN. 31 o max
3" MAX. 60" O.C. BORED HOLE« Z
3=
Ak N R N
]/ N
Ly LT ‘
5)2 1-o"MIN. | 1-0"MIN.
"MAX

14'X 16 GA. STRAP W/11-10d COMMON NAILS EA. END
@ EA. PLATE (STRAP NOT REQ'D FOR SILL PLATE)

2X8 DBL TOP PLATE
2X8 OR 3X8 SILL PLATE SIM.

ALLOWABLE HOLES & NOTCHES



Fasteners

4-#10 Screws

5" Min length channel w/2-#8
screws

Alternate MAS Installation



CMU WALL,REF.

36" P 36"

=
-

#6@8 VERT BARS PER SCHED.

STRYFOAM FILLER

TO BE REMOVED BEFORE
WALL PLACEMENT

PROVIDE 4" GRAVEL BEHIND THE WALL /

2#6 DOWELS/DIAG "X" |
12" OC BEND VERT., THEN AFTER
TYROFOAM IS REMOVED BEND

SHOWN INTO WALL PILE PER SCHED.

SECTION

ALTERNATE PILE-CMU WALL CONN.



— T
<> STRYFOAM FILLER
TO BE REMOVED

#7@8"0.C. HORIZ.

=5

#7@8"0.C. HORIZ.

WALL (fm - 1500 PSI
SPECIAL INSP. REQ'D.
FULLY GROUTED

2#6 DOWELS/DIAG "X"

| CMU RETAINING

12"

ADDN'L

‘ SHOWN INTO WALL
2 #7 HORIZ.

CMU WALL,REF.

PILE PER SCHED.

R
ELEVATION

ALTERNATE PILE-CMU WALL CONN.



SSWT
SSWT
21

SSW

SSW

15
18

24

SSWT15-24

L\ —] ) —r—

ANCHOR BOLT HEIGHT




ANCHOR BOLT HEIGHT



/ 5 3/4"

7 3/4"

h
8 1/4"

1-2x4 or 1-2x6

1-3x4 or 1-3x6

2-2x4 or 2-2x6

2-3x4 or 2-3x6

o
1-4x6 or 1-6x6
1-4x8 or 1-6x8

J( 12" 1-4x100r 1-6x10 -
\‘\\ /// \\\\ ////
o y 7 \ A g
L s \\ %
\\\ o S
P — = 4 b
// N /// Y (
//' \\ 2 \\\
S ™~ | /// et
|
234" Compression
Typ. Post
6" Max

ANCHOR BOLT Mid-Wall Location



>~ & /f///f 1200 mm
FILL e o ANCHOR

-/
SLOPE S ~ SET
CULVERT /s \

POST SHALL
ORIGINAL BE INSTALLED

VERTICAL

//“1200rnm
/
\ 5 OUTLET

Ny @ APRON

GROUND

ANCHOR DETAILS




D=H/2

D=3'-0" MIN.
D=15-0" MAX.

L Q=P/3

ASCENDING SLOPE




#4 DOWLES @16'0.C.

SLAB WHERE OCCURES

5'-0" MAX
®

>

8" CMU fm1,500 psi_
(SPL Inspection reqid.)

#4 @16'0.C. VERT.

#4 @24'0.C. HORIZ.
TERRACE DEPOSIT

3 #5 CONT.
#4@18" O.C.

{ion

310"

AT GUARD HOUSE



DOUBLE JOIST

/ HEADER

20d NAIL

/ - 2X BLCKG

DOUBLE STRINGER (BOTH ENDS)

WOOD BEAM,REF.

BALCONY DETAIL



FLOOR
FRAMING
REF.

DOOR PAN

GAL. FLASHING

DEX-O-TEX
LARR #2360

11/8" CDX PLYWOOD
T & G, w/ 10d NAILS
@ 4"-4"-12", Pl <24

:

4x FULL DEPTH BLK'G
w/ B.N, TYP.

1/4"@x4" LAG SCREWS
@ 12" 0.C., STAGG'D

BALCONY THRESHOLD DETAIL



DOOR PAN

GAL. FLASHING

FLOOR
DEX-O-TEX
EE@M'NG LARR #2360

3/4" CDX PLYWOOD
T & G, w/ 10d NAILS
@ 4"-4"-12", Pl <24

4x FULL DEPTH BLK'G
w/ B.N, TYP.

1/4"@x4" LAG SCREWS
@ 12" 0.C., STAGG'D

BALCONY THRESHOLD DETAIL



o — \’D TOP PLATES
- ) SPLICE PER
—
S SCHED
TIE @ 48" | > L
= BN SN TO BLKG
‘u\.r - \
—
| o> va g
\ L e—
C -, ,ﬂ,,,) H
EN ( -_‘ v !—7 f; TH
—
2x BLKG - )
P ) HGR
P
— 2x LEDGER W/
=
- )
Q =
N
N
A

Ballooned Framed Shear Wall W/Ledger



BAR DEVELOPMENT LENGTH (Ld) SCHEDULE (INCHES)

g

c Fc'=3000 Psi Fc'=4000 Psi

14

w BAR

g SIZE CATAGORY 1 CATAGORY 2 CATAGORY 1 CATAGORY 2

w

= TOP OTHER TOP OTHER TOP OTHER TOP OTHER

BARS BARS BARS BARS BARS BARS BARS BARS

#3 22 17 33 25 19 14 28 22
# 29 22 43 33 25 19 37 29

o

z #5 37 28 55 42 31 24 47 36

2

2 #8 43 33 85 50 38 29 56 43

w

% #7 63 48 94 72 54 42 81 62

=

3. #3 72 55 107 82 62 47 a3 71
#9 81 62 121 93 69 53 104 80
#10 90 69 134 103 7 59 116 89
#11 99 76 147 113 84 65 127 98

NOTES:
1. TOP BARS ARE HORIZONTAL BARS WITH MORE THAN 12" CONCRETE CAST IN THE MEMBER BELOW THE
REINFORCEMENT.

2. THESE BAR DEVELOPMENT LENGTHS APPLY TO REGULAR WEIGHT CONCRETE, MULTIPLY THE SPECIFIED
DEVOLPMENT LENGTH BY 1.3 FOR LIGHTWEIGHT CONCRETE.

3. ALL DETAILING OF REINFORCEMENT SHALL COMPLY WITH THIS SCHEDULE UNLESS SPECIFICALLY
DETAILED OTHERWISE OF THE DRAWINGS.

4. db INDICATES DIAMETER OF THE BAR.

5. LENGTHS SHOWN UNDER CATAGORY 1 SHALL BE USED WHERE ANY ONE OF THE FOLLOWING CONDITIONS
IS SATISFIED.

A. CLEAR SPACING >= db
CLEAR COVER >=db
CODE MINIMUM STIRRUPS OR TIES
OR

B. CLEAR SPACING >=2db
CLEAR COVER >=db

6. LENGTH SHOWN UNDER CATAGORY 2 SHALL BE USED WHERE CATAGORY 1 ARE NOT SATISFIED.

7. A STANDARD HOOK BE PROVIDED WHERE Ld IS UNATTAINABLE DUE TO SPACE RESTRICTIONS
(REFER TO SCHEDULE FOR Ldh).

8. FOR HOOKED BAR DEVELOPMENT LENGTH, SEE 9/S106.

BAR DEVELOPMENT LENGTH



1 0"

1-1/2" TYP.

1-1/2" TYP.

1 8"

STEEL "W", REF.
5/8" THICK STEEL PL.

3/4" ') BOLT (TYP.)
9" MIN. EMB.

3/16"

BASE PLATE DETAIL (WF)



1 0"

12" TYP.

1 Oll

P6"d STD.PIPE POST
3/4" THICK STEEL PL.

3/4" @ 'J' BOLT (TYP.)
9" MIN. EMB.

P
o A
o
-
° 'Y
3/16"

BASE PLATE



10"
18" TYP.
e ‘o) P3.5STD
g 1/2" THICK STEEL PL.
5/8" @ 'J' BOLT (TYP.)
9" MIN. EMB.
| PIPE REF.
4 o
BASE PLATE
o HIDE COL. IN
BASE PLATE e WALL
1" DRYPACK
SEE PLAN FOR
EXISTING SLAB-ON-GRADE EORE PAD
|
J"\ s

#4 REBAR DOWEL SET
IN SIMPSON SET EPOXY

16" 0.C., ICBO NO. . - =
R-5729, SP. INSP. REQ'D - —
(TYP.)

BASE PLATE/FOOTING DETAIL



CEILING
JOIST

HIP
RAFTER

BAY WINDOW DETAIL

LEDGER

HEADER

WALL STUD
RAFTER

CRIPPLE

HEADER

VZ

SOLE PLATE

FLOORING
STUD



BEAM

N A 3-16d EA. SIDE
\/ LI TO BEAM END

FULL HEIGHT
STUDS EA. SIDE

16d @ 18" O.C. STAGG.
EACH SIDE TO CRIPPLES BTWN.

— SOLID PIECE OR 2x CRIPPLE
FULL WIDTH OF BM. U.N.O.

BEAM CONNECTION AT WALL (BCW)



FP

TS STEEL BEAM REF.

FP
TS BEAM REF.

BEAM CONNECTIONS



BEAM TO BEAM CONNECTION



=

=

/
-

Z \/ _

=7l
///4/ 4
<~

BEAM TO BEAM CONNECTION




—— E—— —
e e e i S
|
e —

S1.6

BEAM PER PLAN

CONNECTIONPER TYP. 1

PLAN VIEW

BEAM TO BEAM CONNECTION

BEAM PER PLAN



BEAM PER PLAN

CONNECTION PER TYP,

/
\\ S1 6 /’/

BEAM PER PLAN

PLAN VIEW

BEAM TO BEAM CONNECTIAN



11/2" MAX
TYP:

N

1 1/2" MIN.

TYP.
1/4"

B
3" TYP.
N

13/4" TYP.

COL. PER PLAN

BEAM TO COL. FLANGE

CONN. PL. 't'= 3/8" THK. MIN.

W4x, W6, L2 -(1)-3/4" DIA. BOLTS

W8 X, W10-(2‘)3-3/4" DIA. BOLTS

W12 x, W14-(3)-3/4" DIA. BOLTS
W16 x, W18-(4)-3/4" DIA. BOLTS
W21 x, W24-(5)-3/4" DIA. BOLTS

(BCF)



1 1/2" MIN.

1 1/2" MAX
TYP.

AN

1/4"

3" TYP.

"1 3/4" TYP.

CONN. PL. 't'= 3/8" THK. MIN.

W4x, W6, L2 -(1)-3/4" DIA. BOLTS
COL. PER PLAN W8 x, W10-(2)-3/4" DIA. BOLTS
N W12 x, W14-(3)-3/4" DIA. BOLTS

W16 x, W18-(4)-3/4" DIA. BOLTS
W21 x, W24-(5)-3/4" DIA. BOLTS

BEAM TO COL. FLANGE (BCF)




T&B PLATE STIFF

F.PTYP T&B
TO MATCH BEAM FLANGE
FLANGE THICKNESS
I o
/'\ 1-1/2"
N
.
e
|/
1-1/2"
74/
3/8" THK. PLATE
W/ 2-7/8"0 BOLT
/‘\/
COL. WEB 114 T¥ES

BEAM TO COL. WEB CONNECTION




1 1/2" MAX
TYP.

VS

1/2"

1 1/2" MIN.

1/2" THK. PLATE SLOT INTO COL.
W/ (2)-3/4" DIA. BOLTS

#
A1 172"
%

3" TYP. g

COL. PER PLAN

1 1/2"
#1

N

1/4"

BEAM TO COLUMN



1 1/2" MAX
TYP.

1/2" 7

1 1/2" MIN.

1/2" THK. PLATE SLOT INTO COL.
W/ (2)-3/4" DIA. BOLTS

112
/]

3" TYP. S

7
112"
7

COL. PER PLAN

1/4"

BEAM TO COLUMN



Level Area--1:20 Max.Slope Ramp -—1:12 Max. Slope
(Truncated Domes if <1:15 Slope)

1/2" Max. At 7
1:2 Slope Max. e

BEVEL EDGE AT CURB RAMP




— STAINLESS STEEL
RAINCAP

CLAMPING RING

i 16 GA. METAL
“~ STORM COLLAR

H SEALANT %%U  %%U
|
|
\

Z : . STANDING SEAM
" (TYP.)
(ST% N ESALANT | | o | MTL. ROOFING

RIGID INSULATION |
VAPOR BARRIER .

STEEL DECK

TREATED WD. BLOCK
BOLTED TO MTL. DECK
W/ 1/2" O BOLTS

" MIN.

8" CURB
MINIMUM

|| L | iT=— VAPOR BARRIER

STEEL ANGLE
FRAMING OPENING

)
) J\Vf - DOUBLE WALL TYPE
1 | 430 STAINLESS STEEL
VENT PIPE

—N ' SINGLE WALL STEEL
VENT PIPE

4

20"
MINIMUM
z

BOILER STACK DETAIL



CMP

DOWNDRAIN

25 mm x 50mm

GALV. PIPE

ﬁJWT 22 mm X 75 mm
I ‘o\
— U GALV. BOLT

24 mm GALV.

24 mm GALV.

WASHER
WASHER

NOTE: GASKETS FOR WATERTIGHT JOINTS WILL
NOT BE REQUIRED ON DOWNDRAINS WHERE
FLEX ELBOW IS SPECIFIED.

BOLT ASSEMBLY DETAIL




PL. ¥a"x7" FABRICATE
TO MATCH ROOF SLOPE
TYPICAL

4-5/8"@0 BOLTS

TS4x8x5/16

/

SYMMETRICAL

Al

SIMPSON"LSSU" = "\

HGR-TYP.

BOLT SPACING

PL. “"x7" FABRICATE
TO MATCH ROOF SLOPE
TYPICAL

SYMMETRICAL

/.

7" STEEL PLATE

52“
3n
7]



1 1/2" PIPE HANDRAIL

W/ 3/8" x 7" x 0'-7" PL.
AND (2) 1/2" EXP.

ANCHORS

4" GUARDPOST FILLED

W/ CONCRETE. ANCHOR W/
3/8" x 10" x 0'-10" PL.

AND (4) 1/2" EXP.

ANCHORS

EXIS. CONC. FLOOR
TO REMAIN

3'_4"

‘\T\

3!_6"

‘ m

8" CMU BEARING WALL
W/ R/F AT 16" O.C.

FILL CORES SOLID W/
GROUT - TYPICAL

SEE STRUCT. NOTES
DETAIL

BOLLARD DETAIL




TYP.

1/4" PL. BOTH SIDES TYP.
6 MIN
/ 1/4" TYP.

BRACES PER PLAN MN

BRACE PER PLAN

BRACE TO BRACE CONNECTION



1/4" PL. BOTH SIDES TYP.
\ /&6“ MIN

BRACE PER PLAN

BRACE TO BRACE CONNECTION

1/4"

1/4"



21/2" 12 GAUGE
3/8" DIA. HEX HEAD
BOLT W/HEX NUT AND .
st Ses UHH\}
| 5 FINISHED
GRADE
v
SROL L
©
©
o
|
21/4" 12 GAUGE
v

BREAK-AWAY DETAIL



SSWTBL15
SSWTBL18
SSWTBL21
SSWTBL24

11 (2) 1" SSWAB

BRICK LEDGE INSTALLATION



BRICK LEDGE INSTALLATION



e s

S \\\:\\\\\1?

R-Control
SIP wall Cabinet

=S Nailing strips.

/ / /
[\{

ISOMETRIC
Cabinet Attachment



€ GRADE BEAM

& PILE TYP.
2 TYP. 24:MIN. GRADE BEAM
DEVT.LGHT. PER PLAN
‘@ [ %
BEND PILE N
VERT. REINF. 90° AT BOTT. OF G.B.
TOP OF GRADE BM. G ggLTD?EROFEl e
TYP. SEE B)& :
€ 2 WHERE OCCURS
24"@ DRILLED ® <
CAST IN PLACE 0wl x
CONC. PILE TYP | e NATURAL
N.O. ON PLAN _ Q BEDROCK
(24"@ MIN.) @ ‘
14-#9 CONT. VERT. .
EQUAL SPACED. U.N.O. 2
ON SCHED. o
g
==
#4 CIRC.TIES &3 w
s 5
32 8
5 Z
¢ ¢z i
W Ow
o = w <
w| Qo >
< W=
A
) ® DEPTH INTO BEDROCK TO
o COMPLY W/ H/3 SETBACK
AS PER SOILS REPORT.
T
Laclr
TYP.

|

)

PLAN DETAIL (B)

WIDEN G.B.
AS NECESSARY

TO PROVIDE MIN.
\ CONC. COVER /
TYP.

N
PLAN DETAIL(C)

CAISSON/PILE DETAIL

o

90° BEND
VERT. BAR AT
TOP OF G.B.



CAISSON/PILE SCHEDULE GRADE BM. PER PLAN

"H* [ PILE ] "L” [PILES MAX.|VERT.BARS | TIES
- ‘ ‘Sp,j\c’c. e N #4 CIRC TIES @ 6" O.C.
12'%5°| 24 |10°-0"| 10'=0 9—#&  |#4 cireTEs| PILE DIAM. PER -~ i
2 | 24" 150" 10—0" | 13-#9 |4 creres| SCHEDULE /- 27 VERT. REINF. EQ. SPACED
9'-8"| 24" |12'-0"| 100" 9-#8 #4 CIRCTIES S 8 PER SCHED.
9'-0"| 24" [12’-0"| 10'-0" 9-4#8 44 CIRC.TIES / - 2 _
o < Il |
14'—0’| 30" [27'-0"| &-0" 10-#11  |#4 CIRC.TIES \ \ g /
- N : ‘
N—r CMU WALL REF,
. ' WHERE OCCURS
. #6 x 5-0"
SECTION @) DOWELS
NOTE: "L" LENGTH OF PILE INTO BEDROCK (GR.60)
TO MATCH
HORIZ. REINF.
GRADE 60 REBAR SPLICE”AND EMBED# #SCHEDULE
CONC. f'c =2500PSI coNe: fc CONC. f'c =4000PS|
SPLICE |EMBEDMENT SPLICE_|EW SPLICE
BAR# TOP |OTHER TC OTHE BAR# TOP DTHER TC BAR# TOP |OTHER TOP |OTHER
34| 47 | 36 | 47 | 38 3&4| 43| 33 3&#), 38 | 29 | 38 | 29
5|59 |45 | 59 | 45 5| 53|41 51 47 | 36 | 47 | 36 GR. BM. REBAR NOT SHOWN
6| 70 | 54 | 70 | 54 6| 65|50 64 56 43 | 56 | 43 FOR CLARITY
7 | 103]79 [103]| 79 7| 94| 72 7 |81 82 | 81 | 82
8 [117]90 [117] 90 8 | 107 |82 8 | 92|71 92|
9 137 || 104 131 101 9 120 |92 <} 104 30 104 80 ‘:EE DET 9 —H—HS SHEET FOR
10| 147|113 | 147 | 113 10 [ 134|103 10 #1116 [ 89 |116 | 88 BALANCE OF INFO
1| 181 (124 [161 [ 124 1] 147]113 ] 14 17| 127, 98 [127 | 98

REBAR SPLICE & EMBED NOTES:
1. SPLICE AND EMBEDMENT LENGTHS ARE IN INCHES. SPLICES ARE CLASS "B".

2. 2/3 OF SPLICE LENGTH MAY BE USED IF BARS ARE SPACED AT 8d CLEAR OR
GREATER & MIN. CLEAR COVER @F d .

3. TOP BARS REFER TO HORIZONTAL BARS WITH MORE THAN 12" CONCRETE PLACED BELOW
DURING A POUR. OTHER BARS ARE BOTTOM OR VERTICAL BARS.

4, WHERE REQUIRED EMBEDMENT CANNOT BE OBTAINED WITH STRAIGHT BARS PROVIDE
180° OR 90° STANDARD HOOK.

22 BAR DIAMETER EXTEND FAR AS
= POSSIBLE BUT NOT LESS THAN 8"

5. SCHEDULE IS FOR REGULAR WEIGHT CONCRETE. INCREASE LENGTHS BY 30%
FOR LIGHT-WEIGHT CONCRETE. (IN ADDITION TO AFOREMENTIONED FACTORS)
6. LAP SPLICE FOR MASONRY SHALL BE 48 BAR DIAMETERS.

CAISSON/PILE SCHEDULE



HD5A @ EACH SIDE
STAGGAR'D @ 48" O.C.
MAX. TYP.

1/8" X 3" STRAP ON 4X BLKG
. (SEE DETAIL 1 SHEET S-8)
4x BLK'G. @ 48" O.C.
. EA. SIDE OF CMU WALL
W/ A35 EA. END &
(5)8d F.N. AT FLR.
. SHT'G. TYP.
WATERPROOFING AT T é\ ] T
@ SR
3o FLR. JOIST
e 4x LEDGER W/ PER PLAN
0 ANCHORBOLT @
(6" MIN. EMBED)
23|
wax]” "B" REINF.
“IR" REINF- ° "C" REINF.
T
’ CMU RETAINING
WALL (fm - 1500 PSI
SPECIAL INSP. REQ'D.
S 3/4" GRAVEL FULLY GROUTED
LB PER SOILS SEE PLAN & SCHEDULE
S REPORT . " BELOW
3} 52 SRR 2 g
: = BB
(g Em BEEEEE FIN. FLOOR
a0 Sose sy . - >
_Q & & (2 ;"‘Q\} \ 1
Yo \/[ “ &
oive:
7 @ . o
(B . (5) #6 T&B |
| 12"0.C.
- A . XN
GRADE BM. CLOSED STIRRUP
S ERELAN . e e @ 2" 0.C..10@4" REST @8"0.C
AISSONC @ o o o PILE/CAISSON PER PLAN
.
DOWELS TO
MATCH WALL
REIN
24"
CMU WALL SCHEDULE
"Hll "Tll "A" llB“ “Cll
7'—6 10"
g'—0" 0
i
11'-9 12

CAISSON/PILE-CMU DETAIL(PARALLEL)




(SEE DETAIL 1 SHEET S-9)
4x BLK'G. @ 48" O.C.
EA. SIDE CMU WALL

v, . W/ A35 EA. END &
g‘i) 8d F.N. AT FLR.
HT'G. TYP.

1/8" X 3" STRAP ON 4X BLKG

HD2A @ EACH SIDE
STAGGARD @ 48" O.C.
MAX. TYP.

7‘;? | | Ikuf | | I [/
s 7 / 5 EQJ S E\x
g. VAN i \9. P “,“‘ ]
/N 1 |
8
4x LEDGER W/ FLR. JOIST
ANCHORBOLT@ PERPLAN
. . 16" O.C.
(6" MIN. EMBED)
= o /
Sz max.| "B" REINF.
& S "A"REINF. iy vC" REINF
. )
3/4" GRAVEL v
PER SOILS . . CMU RETAINING =
REPORT 508 WALL (fm - 1500 PSI -
7 g SPECIAL INSP. REQ'D.
Rt — FULLY GROUTED
. ' SEE PLAN & SCHEDULE
9 % BELOW
o y 3 °
aw 3) 24" -
éO (7] YT
82 [ FIN. FLOOR
D:LIJ'n_: 5 ), o; ] ° r<
E&o BN A ° ° -
Q o { Y y
SEh el L ‘ &
: /
*—6 e
(5) #6 T&BI
o # @ 12" O.C.
EACHFACE %
I #4 CLOSED STIRRUP
DOWELS TO —— 1@ 2" 0.C.,10@4" REST @8"0.C
ATCH WALL : PILE/CAISSON PER PLAN
REINF. S {
i R
CMU WALL SCHEDULE

#6@B"0.CH

#6@8"0.C

#7@8"0.C#4@24"0.C#5@16"0.C

CAISSON/PILE-CMU DETAIL(PARALLEL)



HD2A @ EACH SIDE
STAGGAR'D @ 48" O.C.
. / MAX. TYP.
(WHERE OCCURS)
|
5 oy ——{5 \ /L
g. i i I i 1
B
4x LEDGER'W/ 4x SEC. A‘NCHOR@ 48' OC.
. ‘ ANCHOR BOLT @ (WHERE OCCURS)
(6" MIN. EMBESGH SIDE.
(@ 2
=z 1 "B" REINF.
8'S  "A"REINF. iy Se—
3/4"GRAVEL -
PER SOILS RN | e . :
e CMU RETAINING T
REPORT — /~ Z2oA20 WALL (fm - 1500 PSI K
SPECIAL INSP. REQD
T SE Lﬁ %SEHEDULE
oo Q BELOW
> i [ ] [ |
o = .
D, © 24| 3
53 3
(@]
62 o BT FIN. FLOOR |
i 3 Tl || M 2
wa SR = = ° P
ggfg (/S \\~ g |
;EE = \\.//' ° o é
/?\ & ® @ L 3
NAVAN IR AN (5)#6 T&B |
. LA * # @ 12" O.C.
EACHFACE %
#4 CLOSED STIRRUP
_ eee 1@ 2" 0.C.,10@4" REST @8"0.C
. o o s PILE/CAISSON PER PLAN
DOWELS TO T
MATCH WALL S S
REINF.
CMU WALL SCHEDULE
IIT" "A"

10" #6@870.C. | #4024

CAISSON/PILE-CMU DETAIL(PERP.)



MAX. TYP.
TV T 4x BLK'G. @ 48" O.C.
4 THK. SLAB-ON-GRADE
wi#4 BARS @ 18" O.C. EA
WAY @ VID DEPTH.
fc=2,500 PSI (WHERE OCCURS)
5o a
e, RRN
WATERPROOFING < e oG @
(6" MIN. EMBED)
21
o K "B" REINF.
wAN TYP.
l\ REINF- ® e "C" REINF.
? * CMU RETAINING
WALL (fm - 1500 PSI
. SPECIAL INSP. REQ'D.
Q 3/4" GRAVEL ; FULLY GROUTED
- A PER SOILS SEE PLAN & SCHEDULE
£ o REPORT ¥ 2 . BELOW
5 29
% Qo b0 0 FIN. FLOOR
o L 'n_: 5 ot —
o o < ~;‘,ﬁ‘,x;12‘ - °
o ot pe0se-atsd ° °
50X ;025 /1 1 e o N
;% ® e @
| (5) #6 T&B I
. . B RS
GRADE BM. | L Y. #4 CLOSED STIRRUP
— 1@ 2" O.C..10@4" REST @8"0.C
SEREMNG & . = @ @ @
<l
PILE/CAISSON PER PLAN
DOWELS TO
MATCH WALL
REINF.
24"
CMU WALL SCHEDULE
"H" “T“ "A" "C“

PLYWD SW (WHERE OCCURS)

ABOLTS PER SW.SCHED.

HD5A @ EACH SIDE
STAGGAR'D @ 48" O.C.

#608"0.C

CAISSON/PILE-CMU DETAIL(PARALLEL)




LAP SPLICE TYP.

HD5A @ EACH SIDE
. { MAX. TYP.
(WHERE OCCURS)
WATERPROOFING |
i ] e L
(v At = ] T
’ 5n |
#?  4x SEC. ANCHOR@ 48 OC.
4x LEDGER W/ _ (WHERE OCCURS)
O . 1A6r\'l'%H8R BOLT @
(6" MIN. EMBED) EACH SIDE.
2%.-
wax. | "B" REINF.
"‘A" REINF- ° e IICII REINF.
. . CMU RETAINING
WALL (fm - 1500 PSI
e SPECIAL INSP. REQ'D.
p LT FULLY GROUTED
o, 3/4" GRAVEL SEE PLAN & SCHEDULE
@, PERSOILS « /4 BELOW
£ | REPORT 240
0 30"
ow 20000
it D002 0:8 FIN. FLOOR ‘
Ao Bl e Iz ‘ <
st e - |
-ﬂ'n.m i ‘}V X / R
\ l A . &
"/A\ (& ® ® ®
A ‘ (5) #6 T&B I
‘ 1 " .
i A ; EAG A .
RADE BM. \ CLOSED STIRRUP
- R PLAN * — a2 & @ 2" 0.C..10@4" REST @8"0.C
@ CAISES
AISSONC | e . e o PILE/CAISSON PER PLAN
<
DOWELS
MA[CHWALL
REINF.
24"
CMU WALL SCHEDULE
IIHII llTll

£
0" 10"

& 10"

CAISSON/PILE-CMU DETAIL(PERP.)



Double
Joists

E // Optional
0749 Framing
/ For Bay
P .
PERPENDICULAR  'Vindow
TO JOIST

NOTE: Any extension greater than
2'-0" must be ENGINEERED

Cantilevered
Floor Detall



Optional

PARELLEL

TO JOISTS

Cantilevered
Floor Detall



TOP OF CUTSLOPE P R e e T B S CUTSLOPE
///// g \\\
// \\
= T T T /PJ\/
NATIVE MATERIAL
y/ . NORMAL DITCH LINE WATER
LT =T = Wil =
= T T e | FLOW
—— — <;**/ - el T~ e S SIS S
| |
v 1
HAND PLACED RIPRAP
DITCH DAM
CLASS Il WHEN SPECIFIED
SUBGRADE
‘ AS STAKED ‘ AS STAKED SHOULDER
‘< | »{
(6 m MIN.) | (6 m MIN.)

CATCH BASIN DETAIL




A35 PER SW SCH.

2X RIM JOIST/CONT. BLOCK'G

A

\
—
V

12"min.

CEILING JOIST REF.

8-16d NAILS (E.S.)

DRYWALL PER CODE

CEILING JOIST SPLICE DETAIL



GATE POST

10' CENTER OF POST TO
CENTER OF POST (MAXIMUM) o )b 0RT ARM Wi3

TOP RAIL OR TENSION

GATE GATE Y
LEAF POST | FABRIC AL B POS]
WIDTH Aan HEIGHT DIAMIDERTH|EMBE D
3¢ 0 5 |12 38" 35
3 TO 6| 2875 67 10O 97 | 147 42/ 40"
107 10 127 | 16° 46" 44"
IO 50 | 147 38 36
7T 121 4.0007 0o 9 | 16! 42" 40"
10 10O 127 | 18" 46" 44"
13 6,685 g'—0* 15 4% 40"

WIRE, AS SPECIFIED

DIA. OF
POST AS
SPECIFIED

BOTTOM RAIL OR TENSION
WIRE, AS SPECIFIED

LINE AND TERMINAL POSTS

FABRIC TYPE TA "B’ T POST
HEIGHT POST | DIAM | DEPTH [EMBEDMENT
o | LINE 5’ 26 24"
30" T0 4"-0" TERMINALL 10" 30’ 30"
- LINE 8” 32" 307
20 TERMINAL 10" 327 30”
o o  LLINE [ 1" | 38" 36"
6'-0" TU 9'-0" FERMINAL 12" | 38 36
W TH (R el 187 38" 36
o ‘=7 [TERMINAL 18" [ 38 36
= - LINE 24" | 42" 40”
1N 1Q_N*
130" 10 180" FERmINALl 24" | 4e” 40°

GRADE

CONCRETE
FOOTING

STRANDS OF BARBED
WIRE IF SPECIFIED

'—
T
Q
i}
T
o
4
o
<
[Ty
3
&N
|y
Y [
g

NOTE: TERMINAL POSTS INCLUDE END, CORNER, AND PULL

POSTS

CHAIN LINK FENCE FOUNDATION



! Factory provided

=Y/ electrical chases.

= o Contact manufacturer
| for typical spacings.

Also, refer to local
| | codes for specific

e e | T = | requirements.
—_| =
\ \\
\\\\\\

ISOMETRIC -
Chases - Electrical



. Ceiling Joist
Roof Sheathing

Molding / \

Frieze Board

Siding \

Frieze Notched to
receive siding

Wall Sheathing

~
///

CLOSED CORNICE W/ FRIEZE BOARD NEXT TO
SHEATHING



B.N. 6-1/2" 3-1/2"

CMST 12

3x NAILER = A CONT.
<,
2-#5 —
- D
HEADER BM,REF.
< 4x BLKG
: J
24" MIN 5/16 R
INT. 8" CMU

CMU WALL/DRAG STRUT DETAIL



Rafter
w /
/’//
///
Screws By Design /
/////F/ F -
g o=
/ y
/ Collar Tie
//
-

Continuous Channel Bridging as Req'd

COLLAR TIE AT RAFTER DETAIL



WOOD POST

17 COLUMN BASE
CB44

SLAB [ i
i i SLAB

#3 OR #4 BAR
- . g HAIRPIN

THRU 12/ \ 127
STIRRUP OF COL. BASE

3CLR |/ v
/]

7 REINF.- PER PLAN

% WIDTH PER PLAN o

COLUMN BASE @ EXT. PAD (CBEP2)



DEEP "V" TOOL JT. 3/4" MIN.

12" LAP 5
\ MIN. ‘

2" 2

/]
[ ]

// ®

//

|

[

/

/

/

/

/

/

F

\\\

\

\

\

-

\

Lo
|\ e
[ ]
5

T = CONT. KEY

2" SAND
#4 @16" O.C. E.W.
GRAVEL 6 MIL VAPOR
BARRIER
CONSTRUCTION JOINT
BOURS AFTER POURING
6 MIL VAPOR BARRIER (PLASTIC STRAPS AS
2"SAND s ALTERNATE PERMITTED)
b T B
N | /
2" SAND OR \I\/Av'f‘TXHAcSTJETA ‘ CUT ALTERNATE BARS AT
GRAVEL JOINT: 900 S.F. CONTROL JOINTS (U.N.O.)

CONTROL JOINT

CONC. SLAB ON GRADE DETAIL(SLAB-1)



1 l_7l|

- 2"

6"

1 I_Oll

6"

6"

FINISH GRADE

REBARS
CONCRETE CURB & GUTTER

COMPACTED SUBGRADE
ASPHALTIC CONCRETE PAVING

CONCRETE CURB & GUTTER



CONCRETE FLOORING

SUBFLOOR ON
3/4". BASE OVER
30- LB FELT OR
VAPOR BARRIER II\E?HLATION
JOIST
JOIST ATTACHED
TO HEADER
BEARING ON
MOISTURE STEM WALL Lol B}
BARRIER Z
BETWEEN =
JOIST AND . E
CONCRETE
=N DRAIN &
™ 1
\ -
3
e 2
ok
\

CONCRETE SUBFLOOR FULL DEPTH JOISTS DETAIL



1/4" THK.
BENT PLATE

1/2" BOLTS
@2-0" O.C.

TIMBER POST
PER PLAN

PLAN VIEW

CONNECTION DETAIL



1/4" - 3" LONG @12" O.C.

STEEL COL.
PER PLAN
1/4" THK. L]
BENT PLATE
[\ Ll .
1/2" BOLTS TR
@2'-0" 0.C. i
'\I
PLAN VIEW

CONNECTION DETAIL



SIMPSON'S MST48

BEAM PER
\ // PLAN
2 H ‘«/ 14\\‘
N/ i
‘ C o R - . \ - /
I // \‘\ I \7 -
// \
CONT. RIM
JOIST
TYP. . COL. PER
1/4 PLAN
2 4\,7
BEAM PER s
PLAN
BEAM PER SIMPSON'S
PLAN - MST48

- /14

BEAM BELOW COL. BELOW ‘ —

PER PLAN A N

é | | | | | | | ‘ %
| S S N

PLAN VIEW

CONNECTION DETAIL



BEA
PR CEAM PER

T.O.THIRD

FLOOR FRAMING
$
CONNECTION
PER PLAN
CONNECTION
BEAM PER PER PLAN
PEAR GOk PER
T.0. CANOPY L
~ FRAMING AR
. 0 BEAY' PER

CONNECTION DETAIL



PLYWOOD SHT'G.

BEAM PER
4 T.0. ROOF |
FRAMING \ «
< ﬁ—i\ / =
G el
] Y
JOIST PER
PLAN
JOIST HANGER L Ad BEAM PER
PER SCHEDULE N PLAN
COL. PER
PLAN T.0. CANOP
FRAMIN
55 °
BEAM PER TYP.
PLAN S

CONNECTION DETAIL



BEAM PER PLAN 1/2" THK. STIFFNER PL.

N.&F. SIDE

TS 4x4x1/4

1/4"

\ BEAM PER PLAN

BEAM PER PLAN

CONNECTION DETAIL



© ® ®)

PLYWOOD SHT'G. B.N.
SOLID CONT. BLK'G.

s

L

.- (214" LAG SCREWS
TRIARA @2-0" O.C.

/ VI B
ini i

1‘; A ” |
i B,
= /\\/ \ /Ay ( I\

T~

A

CONT. BLK'G. T
N B.N.
JOIPSILZER BM. PER BM. PER J

PLAN PLAN  |i=—1

CONNECTION DETAIL



a0

\\7 /

OR

/ /”\\

B.N.

SOLID CONT. BLK'G.

B.N.

PLYWOOD SHT'G.

S
I N —
=\
\ Vs (
\\ //

BM. PER /N

PLAN TRy Sea

CONNECTION DETAIL

| BLK'G.

JOIST PER
PLAN



o PLYWOOD
SHT'G.
B.N.
— 1\ _
SOLID CONT. / \ == m‘ T
BLK'G. e ] Y
\ / \ // I 2
A35 @16" O.C. i A |
SOLID CONT. N/ NN
BLKG. == —== | | a
PLYWOOD SHT'G. —
BLK'G.
JOIST PER ~
Bl JOIST PER
B.N. BN. | - oA PLAN
N\ RL
N/ \ SOLID CONT.
li < { /?'(\ et BLK'G.
/| 4 /NN
BM. PER
av per  JOIST HANGER BM. ¥
PLAN

CONNECTION DETAIL



PLYWOOD SHT'G. N
—
\ / K\ / : —\

BM. PER
JOISTPEE\E PLAN
JOIST HANGER SOLID CONT. BLK'G.

CONNECTION DETAIL



BEAM PER
PLAN

T.0. CANOPY

BEAM PER
PLAN

BEAM PER
PLAN

T.0. THIRD

-
5

FRAMING

CONNECTION DETAIL

FLOOR FRAMING

CONNECTION
PER PLAN

CONNECTION
PER PLAN

COL. PER
PLAN

BEAM PER
PLAN



7N

A N B
OR : (B) ( C>
PR PLYWOOD SHTG. N \,,
(1)
' JoIST PER w ) w
" % N PLAN B.N. o
BM. PER - H BM. PER
PLAN _ PLAN
; N
,,j?l - /\tﬂﬁll y
Q\\\ 7/ 3 + / \ / \\ //
=N/ i 2 2 @ ) \\/ \/
7 T 7 7
/ N\ L VAN FAY
//7, b (7 _N | ‘/7,,;\ (/ \
PLYWOOD SHT'G.
JOIST HANGER
I\’ I\’
= s B.N.
SOLID CONT. BLK'G. ——
J:LEET%}; = | T
N /N i
SOLID CONT. I/ |
BLKG. ﬁ\ AT e
7 N\
/\ ¢ \f“ “ 3 /J‘ \‘
BM. PER
PLAN
., JOIST PER

BLK'G.

CONNECTION DETAIL

PLAN



/ A\\ / o
( |
R, \G>
OR OR
N
a0 (&)
./ N
. ‘.,
B.N. B.N. B.N.
PLYWOOD SHT'G.
= o,
N = [ ] N
X / ! VP ah 7
\ / \ / |/ \ / \ /
|1 \\,’/ ‘// r = = “‘\‘f“‘ \, / A / =1
£ /\ VAN ‘;“\‘ EE 2 2 Eg /\ //"‘\E
7 X // \\ “‘s‘ + & k| // % / \\
/ \ / \|/ | [ A/ \ |/ \
/e Y | + + |f “\Li,J‘L —
BM. PER
BMﬁiiE JOIST PER PLAN
PLAN
SOLID CONT. JOIST HANGER SOLID CONT.
BLK'G. BLK'G.

CONNECTION DETAIL



5 (6) (D (@) (3
2 \6) 8 \8)
N PLYWOOD ’
SHT'G. BM. PER
PLAN
BM. PER B.N. B.N. J SOLID CONT. BLK'G.
PLAN 7 4 ¢ i 111,
SOLID CONT. N
BLK'G. VR
JOIST HANGER = T
JOIST JOIST PER JoisT ==
PLYWOOD ——
iy HANGER PLAN HANGER AZ5 @
16" O.C.
\ BM. PER
> \ / PLAN
VAN
+ // \
-/
JOIST PER = .
PLAN

CONNECTION DETAIL




CONNECTION DETAIL

4 5 | N (D
=2 SN Q1020
! COL. PER .
PLAN
a0
BM. PER
PLAN U I
T I |
K<
[
~ ‘ B | Z
#1500 BEAM PER PLAN 13
\ — \815
COL. PER \\ / ol PER
PLAN A X CLAN
+ // \\
+ / \\
7;_/\’77 y\’ '\,




"1
N A
PLYWOOD SHT'G.
B.N.
6x SOLID
R CONT. BLK'G.
A35 @16" O.C.
P PLYWOOD SHT'G.
B.N.
JOIST PER y
PLAN
A35 @16" O.C.

SOLID CONT. BLK'G.

JOIST PER
BM. PER PLAN
PLAN
JOIST HANGER

CONNECTION DETAIL



B.N.

)
Ejl% ‘\H/‘
by
.
I\’
PLYWOOD SHTG. _ B.N. ERREOOD
| i . \ / / \\ /]
‘  gl BLKG.
SN
Ik ; JOIST PER
JOIST PER BM. PER
PLAN
SOLID CONT.
JOIST HANGER A

v

CONNECTION DETAIL



N
6

PLYWOOD

SOLID CONT.
SHT'G.

BLK'G. B.N.

JOIST PER

PLAN BLK'G. BM. PER
PLAN

CONNECTION DETAIL



T

SEE TYP. |
\81.5/

W8x28 BM.

6x12 BM.
BEAM PER PLAN

7))
TS 4x4x1/4PER '

814

1
-

6x12 BM.

’

PLAN VIEW

CONNECTION DETAIL



N 7N
\E[i wr
B.N.
PLYWOOD SHT'G.
N
Wiy N
|1 ¢ — SOLID CONT. BLK'G.
\5‘ \ \ 4
2 > 11 \ / \\\ //T
/ ‘/ X /// \\
B.N. -
LOIST PER ﬁ PLYWOOD SHT'G.
PLAN &L
JOIST HANGER BMinEJFj =
\\\ / 7 ‘\\ /,/ +
- e /|
= \ /G
=i /\ ¢ B . 2
/ \\ /
\ // \J L/ \\
SOLID CONT. BLK'G. ——
TERE >
=
JOIST PER
BM. PER PLAN
PLAN
JOIST HANGER

CONNECTION DETAIL



SIMPSON'S MST48

BEAM PER

N/ PLAN

i (4
' i o/

CONT. RIM
JOIST

TYP.

1/4"

COL. PER
PLAN
{ .
BEAM PER 1
PLAN
BEAM PER SIMPSON'S
PLAN il MST48
—
-
BEAM BELOW COL. BELOW | T
- N
PER PLAN i—i NG
$ | | | | | | | $
[ | | | [ l l i
PLAN VIEW

CONNECTION DETAIL



PLYWOOD SHT'G.

BEAM PER
\ T.0. ROOF
S [ 11
/\,,(\ S
JOIST PER
PLAN
rer s B
BEAM PER
™~ PLAN
'
T.0. CANOPY
~ FRAMING
BEAM PER Lol e
PLAN

CONNECTION DETAIL



BEAM PER PLAN 1/2" THK. STIFFNER PL.
N.&F. SIDE

TS 4x4x1/4

1/4"

\ BEAM PER PLAN

BEAM PER PLAN

CONNECTION DETAIL



5
\S1.5/
SEE TYP.

W8x28 BM.

6x12 BM.

BEAM PER PLAN

70
TS 4x4x1/4 PER !

S1.4/

6x12 BM.

PLAN VIEW

CONNECTION DETAIL



S

3

ololo
T(?/ )

i N
\5/\ i/
4, PLYWOOD /
SHT'G.
B.N. B.N.
BM. PER a—
PLAN | et —
\ ATA ¥4 \ J“J \ ,“s\\ /
\ \ \ c“ s & \ / : //
e et S S
SOLID CONT. 7 \ \ ¥ RIVAR WA
BLK'G. &/ N WAV A
****** L]
PLYWOOD ﬁ
SHT'G. B.N. JOIST JOIST PER JOIST
HANGER PLAN HANGER
\\ /,
i //// \\
N
+ / \\\
JOIST PER
PLAN BM. PER
JOIST HANGER PLAN

CONNECTION DETAIL

BM. PER
PLAN

SOLID CONT.
BLK'G.



6 (7V(8) (9)
\,6,/ \7//\/ \9,/’
SOLID CONT. SOLID CONT.
BLK'G. BLK'G.
Y \s
PLYWOOD PLYWOQOD PLYWOOD
SHT'G. SHT'G. SHT'G.
B.N. B.N. B.N. B.N.
e g — I
TN AR T/
v \ /A VN I\ \ // \ /N
; Naximaviiaie 2 S VAN VANTX J
' // \\ / \ | \\/’/ / '
J JOIST PER L
PLAN
JOIST PER BM. PER JOIST HANGER BM. PER JOIST PER
PLAN PLAN PLAN PLAN
JOIST HANGER JOIST HANGER

CONNECTION DETAIL



BEAM PER
PLAN

- T.0. CANOPY

BEAM PER
PLAN

BEAM PER
PLAN

T.0. THIRD fal

FLOOR FRAMING.~

" FRAMING

CONNECTION DETAIL

CONNECTION
PER PLAN

CONNECTION
PER PLAN

COL. PER
PLAN

BEAM PER
PLAN



CONT. STRAP @ LEDGER/BLK'G

CONT. BLK'G W/ 16d @6" O.C.
- - 16d @6" O.C. PLYWOOD SHT'G.
SHT'G. PER PLAN w z
‘C HANGER PER PLAN
2x LEDGER

2-16d @ EA. STUD

2x BALLOON FRAME
STUDS PER PLAN

SHT'G. PER PLAN

CONNECTION DETAIL @ GRIDLINE F



BEAM PER BEAM PER

PLAN PLAN
T.0. THIRD N
| FLOOR FRAMING -~
®
[ 2
N
CONNECTION
PER PLAN
CONNECTION
BEAM PER PER PLAN
PLAN /
COL. PER
PLAN
4. T.0. CANOPY
L FRAMING
»
TR BEAM PER
PLAN

CONNECTION DETAIL



1'-11" Min

(12" + Tread Min.) _ wmrer=tw-1m  1-0"Min.
|| (Varies 11" Min. Tread) @

ELEV. X.XXX . DN ELEV. XXXX  £quq
Indicator Strip at et - Equal
Lower Landing

. Indicator Strip at Higher
Handrail at Wall Landing Tread

CONTINUOUS RUN INTERIOR STAIRWAY



5/4 X R.S. CEDAR CORNER BDS.
CAULK SIDING W/"VULKEM"
POLYURETHANE GREY CAULKING

| —

|

J
PROVIDE (3) STUDS EACH
DIRECTION FROM CORNER

CORNER WINDOW
FRAMING DETAIL



A

CRIPPLE SHEAR WALL,
BLOCKING AND STRAP
BY OTHERS

ATTACH SDS SCREWS
TO SHIM BLOCK

ADJACENT FRAMING
BY OTHERS

O

J| U
Qi

(

ENGINEER OF RECORD SHALL DESIGN FOR:

1. SHEAR TRANSFER

2. OUT OF PLANE LOADING EFFECT

3. INCREASED OVERTURNING AND DRIFT DUE TO ADDITIONAL HEIGHT.

STEEL STRONG-WALL HEIGHT ADJUSTMENTS
CRIPPLE WALL




KICKER PIPE, REF.

7,

BASE PLATE, REF.

CONC. DEAD- .5
MAN, CONT.
f'c=2,500 PSI
©
™
4 '2|_0'"' : X
DEADMAN

DEAD MAN DETAIL



4‘\// S

P 16" MIN.
A
OR 6 "t"
|
) N
\‘ @) DEPRESSION "t"
| O a
FIN. GRADE OR
SEE PLANS TYP. SLAB ON
GRADE REINF.
|
O Q J\_
¢ T
° O
iy
N N
P
< MIN. 7|

DEPRESSED SLAB & SLAB EDGE

(DSSE)



Q=P/3 Q=P/3

DESCENDING SLOPE



DECK

Q=P/3 Q=P/3

DESCENDING SLOPE



MST37 W/ 16-10d NAILS
B.N.

3x PT NAILER W/ 5/8" @
STUD BOLT @ 24" O.C.
] i ,

o \ | \\\ / N/ I s
\// \‘\,
Zowe s
(N // \\\
FJ (SEE PLAN)
2X FULL DEPTH BLOCKING STL BM.REF.

SPACED @ 24" O.C.
(8' -SUBDIAPH. LENGTH)

DET.2- CROSS TIES



B.N.

1-1/2" MIN 3xNAILER W/ 5/8& THREADED
EMB. WELDED STUDS @ 16" O.C.
W/NUT&WASHER
3 5
= T BN. 5
e . | = — E
i e/ Lo
=0 ‘\\ // \ / / \\\ '/,Em|_
\ - \\\, g | E
—= H 7
\\- \ /AN 16d @ 6" O.C.
. \\;\/ \:(/ RN E
N /\ i T
d : — 7 : b N~
JoIsT 7 | ~  2xBLKG
HANGER / N L/ A ol
FLOOR JOIST ' g R
| Lo |
1/2"@ M.B. @ STEEL BEAM DECK JOIST
24" O.C. PER PLAN
STAGGERED -
WOOD WEB SIMPSON "HU

FILLER

HANGER



NOTES : ALL DIAPHRAGM AND SHEAR WALL NAILING SHALL UTILIZE COMMON NAILS OR GALV.NAILS.
PLATE WASHERS ARE REQUIRED ON ALL HOLD DOWNS.
HOLD DOWNS SHALL BE RE-TIGHTENED PRIOR TO COVERING THE WALL FRAMING
PROVIDE RAIN GUTTERS AND CONVEY RAIN WATER TO THE STREET .
IF ADVERSE CONDITIONS ARE ENCOUNTERED ,A SOILS INVESTIGATION MAY BE REQIURED.

EARTHQUAKE INDUCED LIQUIFACTION/LANDSLIDE AREA:
A GEOTECHNICAL REPORT IS REQD TO EVALUATE THER POTENTIAL LOSS FOR SOIL LUIQUIFACTION
AND SOIL STRENGHT LOSS DURING EATHQUAKE.




THE FOLLOWING APPLIES TO ALL SHEAR WALLS WITH A SHEAR

VALUE GREATER THAN 300 PIf. THESE WALLS SHALL BE CLEARLY

IDENTIFIED ON THE PLANS. TABLE 23-1I-I-1 FOOTNOTE 3. PROVIDE

THE FOLLOWING :

a) 3X FOUNDATION SILL PLATES.
b) 3X STUDS AND BLOCKS BETWEEN ADJACENT PANELS.
c) 1/2" EDGE DISTANCE FOR PLYWOOD BOUNDARY NAILING.

d) STAGGER NAILS IF NAIL SPACING IS LESS THAN 2" O.C.

e) SQUARE PLATE WASHERS SHALL BE USED WITH ALL ANCHOR

BOLTS . TABLE 23-lI-I-L

5/8" BOLT-2.5x2.5x1/4 3/4" BOLT-2.75x2.75x5/16

7/8" BOLT-3x3x5/16 1" BOLT-3.5x3.5x3/8




— ___ 3X6 OR 2X8 STUD@ 16"0.C.

Y AR

L all
= o
< I N
> PLYWOOD SHEAR | / \
& WALL PER SCHEDULE | / J
z  ORTYPEASW [~ —
o _
Ll
°| CMST 12 @ 48" OC

2MIN. CLEARANCE TO THE WAEE{B.S.)
PLYWOOD SHEAR 2X FULL DEPTH BLK'G
WALL PER SCHEDULE @ 48°0.C.
OR TYPE A SW
VERIFY ARCHITECTURAL

NOTE: HEADER NOT SHOWN FOR CLARITY

(N) 2X STUD FRAMING

(E) 2X STUD FRAMING




6"

N\

#4 REBAR DOWEL SET

IN SIMPSON SET EPOXY
@ 16" O.C., LARR#25279  (E)16x16FTG

SPL. INSP. REQ'D

(E) CONC.POST

(E) SLAB-ON-GRADE

(E) VERIFY

(E) 12"

(N) 22"

DOWEL #4 @ 16" O.C.
5/8 HOLE GROUTED

6#6 TOP BARS E.W.

D)

e o 13-#6 BOTT.BARS E.W.

11'-8" SQUARE




-
_ \ #4 @ 16" O.C.
3 0 » e VERT. BARS.
#4 @ 16 0.C 4
DOWELS o
@
8" CMU
] @
#4@ 24" O.C. / 2 TERRACE
HOR'Z-\ DEPOSIT
@
e ——
DOWEL TO —
MATCH VER. e z S T
REINF. X
N z
=
3#4 N
CONT.BARS e ¢ =0

30" 7 #@18"0C.



DRYWALL PER CODE

PLYWOOD PER SHEAR
WALL SCHEDULE
(WHERE OCCURS)

9"MIN.EMB

2 3/4" =

2'_6“
FREE BOARD

#4 @ 16" O.C.
VERT.

DOWELS TO MATCH
VERT. REINF.

4'-6" MAX.

21_6“

1-6"
w

NOTE:

1. FOOTING EMBEDMENT DEPTH
MUST BE 2'-0" FROM BEDROCK.

3x SILL PL. (P.T.)

5/8"@ "J" BOLTS
PER S/W SCHD.

8" CMU (FULLY GROUTED)
fm=1,500 PSI

#4 @ 24" O.C.
HORIZ.

NATURAL GRADE

BEDROCK

R s & N

3-#4 CONT.

EMBED.

z
=
3
N

3-#4 CONT.

e Ll

2I_6"

# @ 18" O.C.



DRYWALL PER CODE

NOTE:

1. FOOTING EMBEDMENT DEPTH
MUST BE 2'-0" FROM BEDROCK.
PLYWOOD PER SHEAR
WALL SCHEDULE
(WHERE OCCURS) 3x SILL PL. (P.T.)
#4 @ 16" O.C.
DOWELS . N
5/8"@ "J" BOLTS
. PER S/W SCHD.
= 8" CMU (FULLY GROUTED)
- S m=1,500 PSI
#4 @ 24" O.C.
#4 @ 24" O.C.
HORIZ.
#4 @ 16" O.C.
VERT. NATURAL GRADE
DOWELS TO MATCH
VERT. REINF.
2
=
i - BEDROCK
> \\7\\\ \—fv
Z0
3-#4 CONT. =i
© 3 i
- ' 3-#4 CONT.
o~ #4 @ 18"0O.C.

v Ll

2"6"




SLAB ON

GRADE #4 BAR
@ 18" O.C.
, " 4 #4
q d BAR (TYP.)

SLAB ON
2 GRADE
Soe
4"g\ /’/
FOR STAIRS \ / |
DIMENSIONS / <\
SEE ARCH'L S s
DRAWINGS ) -




FLR.FRAMING,REF.

#4 @ 24" O.C.

VERT.

#4 @ 24" O.C.

HORIZ. E.F.

#4 @ 16" O.C.

DOWELS

DOWELS TO MATCH

VERT. REINF.

10"

3!_0"

STUD WALL
(WHERE OCCURS)

3X PT SILL PLATE

#4 @ 16" O.C. DOWELS

3!_01!

1-0" ’7

e 3“

o

WATER PROOFING

12" CMU FULLY GROUTED R

00 p
(SP INSP REQ'D)

#5 @ 16" O.C.
VERT.

1o PV &roureD

(SP. INSP. REQD)

3!_0"

e 3u

#3 TIES @ 16" O.C.

<&

#6 @ 8" O.C. =

VERT. ¥
12"D 3/4"D PEA GRAVEI..
W/ 4"d RENF. PVC PIPE
PER SOIL REPORT

11'-0" MAX.

.

fc=3,000 PSI
(SPL. INSP. REQ'D.)

1 |_6lv

5-#5 CONT.
TOP & BOTT.

2!_7"

3!_2"

5!_9“

#5@ 12" O.C.



3/16

CMU
WALL

1-1/2"
MIN.
N\
N
' | &Z
7 -2
0 IR
IS IS OIS,
T\ yan
o =

8"x12"x1/2" THK
PLATE W/ 4-3/4"@0 A.B.

STEEL BEAM
SEE PLAN



SIZE AS SHOWN
ELSEWHERE

LEAD WASHER

DRILL FOR 1/4" >

DIA. BOLT IN O
LEAD EXP. AN- __»
CHOR. SEE ,» 7
NOTE. ™,

1/4" DIA. X 5/8" BOLT -
BRASS, ALUM. OR
STAINLESS STEEL

ELSEWHERE
/ g /ﬁ\\

5/16" X 1/8" SLOTTED
HOLE EA. SIDE

SIZE AS SHOWN

=

>/

#14 S.S. SHEET METAL

SCREWS- 1 EA. SIDE &
FRONT, ALL OPTIONS

DOWNSPOUT & SHOE
TO BE 16 oz. COPPER,

.024" ALUM. OR .012"
STAINLESS STEEL

DOWNSPOUT STRAPS

TO BE 48 oz. COLD
ROLLED BRASS, .060"

ALUM. OR .050" STAIN-



3x NAILER

B.N.
6-1/2"

3-1/27

CMST 12
CONT.

2-#5

ARy
N/
?\

A\
st/

4" MIN

4X DRAG STRUT “SELLLE

5/16 R

INT. 8" CMU



FACE OF (E) WALL
e 3/8"x6"x10" PL.

:
D o <4" CLR. MAX. (TYP.)

2"x6" TS, ATTACH TO WALL
FRAMING w/ 4-1/4"@x3-1/2" LAG
SCREWS TO (N) 4x SOLID BLK'G
OR (N) 4x RIM JOIST, SIM TO
BALCONY FLOOR

g 1 1/4"x1.1/4" TUBE
@ 4-0" MAX.

. 1/2"x1/2!. BAR
@ 4" O.C.

1 1/4"x1 1/4" TUBE

31_6"

CONCRETE SLAB

1/8"

Kmj 1/4"X4X4 BASE PLATE
W/4-1/4"0 A.BOLT (4" EMB.)

SPECIAL INSPECTION REQUIRED FOR ALL FIELD WELDING




) 1-PHD6-SDS3 4x

w/dx4 POST A A
(18 1/4X3 SDS SCREWS) \
* Limmes 2Rrs
w/4x
WHERE OCCURS
(20 1/4X3 SDS SCREWS)
2-HDQ8-SDS3
w/4x8 POST , .
(20 1/4X3 SDS SCREWS)! &
fF—— &
N 5| — &
Z
= PHD, REF.
SSTB28
Aﬁ —h ‘\l@k
— &
—= L
7/8" M.B.
ASTM A307 a$ LJ
I ><
CONC. FOOTING, REF ®
i . 1-3/4" MIN.EDGE DIST.
Z‘ N
: \
\
= o | o
\\

ELEVATION SECTION

DEEPEN FOOTING AS
NEEDED LOCALLY TO
ACCOMODATE SSTB



4X BLCKG.

6x12
DECK BEAM

2 @ @ <)
e | cces
\\\\\ x
— =
7/8"Dx 8" LAG SCREW \
PRE-DRILLING REQ'D. (TYP.] | __

6x6 KNEE BRACE

6x6 PT POST, REF.

7




4X BLCKG.

6x12
DECK BEAM
- )@} @,

7/8"Dx 8" LAG SCREW

|

PRE-DRILLING REQD. (TYP. \

6x6 PT POST, REF.

5' MAX

/'F

7

CC66

6x6 KNEE BRACE




=

MST72 W/4x4 POST
(48-16d NAILS)

4x6 MIN.

2-MST72 W/4x6 POST

(48-16d NAILS)

\\\(\\ = |

PROVIDE 1" MIN.

END DISTANCE

EQUAL NUMBER OF
SPECIFIED NAILS

IN EACH END

~
T

e

o ©

° o =} e} [=} o o
oo oo o o [3) © %)
ae e o o o o o

END
LENGTH

d

C.L.OF /

CLEA STRAP
SPAN

\

END
LENGTH

MST72
LARR# 25119

(48-16d NAILS)



MST72 W/4x4 POST
(48-16d NAILS)

2-MST72 W/4x6 POST
(48-16d NAILS)

3-MST72 W/4x6 POST
(48-16d NAILS)

4x8 MIN.

PROVIDE 1" MIN.
END DISTANCE

EQUAL NUMBER OF
SPECIFIED NAILS

IN EACH END

1

2/ "°| END
». < LENGTH

END

.5 LENGTH

(6]
O(_, c
0 olo
o
(o]
OO c
0 clo /'/
o
ol 0
(¢ c
o] olo
g
o

MST72
LARR¥ 25119
(48-16d NAILS)



DECK FLR.

6'-0" MAX.

4X BLCKG.
6x12 |
DECK BEAM
N & & S
N | | cces
\ ZEE
7/8"Px 8" LAG SCREW o
PRE-DRILLING REQD. (TYP)  +——
5MAX

6x6 KNEE BRACE

6x6 PT POST, REF.

CB66

30"@ CAISSON w/
4-#5 LONG. BARS &
#4 TIES @ 12" O.C.

f'c=2,500 PSI
SEE SECTION A-A
SEE SHEET A-1

=

FOR EMBEDMENT




RIDGE BOARD

TAIL RAFTER

VALLEY 2N
RAFTER(DBL) )

NOTES ON EXPANSIVE SOIL :
IF EXPANSIVE IS ENCOUNTERED ON SITE THE FOLLOWING REQUIREMENTS SHALL BE COMPLIED WITH:

1.) DEPTH OF FOOTING BELOW NGL AND FGL SHALL NOT BE LESS THAN 24" EXTERIOR

AND 18" INTERIOR FOOTINGS.
2.) EXTERIOR WALL AND INTERIOR BEARING WALLS SHALL BE SUPPORTED ON CONTINOUS FOOTINGS.

3.) FOOTINGS SHALL BE REINFORCED WITH FOUR #4 DEFORMED REINFORCING BARS.TWO SHALL BE PLACED
4" OF THE BOTTOM OF THE FOOTING AND TWO BARS WITHIN 4" OF THE TOP OF THE FOOTING.

4.) CONCRETE FLOOR SLABS ON GRADE SHALL BE PLACED ON A 4" FILL OF COURSE AGGREGATE OR ON
MOISTURE BARRIER MEMBRANE.THE SLABS SHALL BE AT LEAST 3 1/2"THICK AND SHALL BE REINFORCED

WITH #4 REABRS @16"0.C.EACH WAY.
5.) THE SOIL BELOW AN INTERIOR CONCRETE SLAB SHALL BE SATURATED WITH MOISTURE TO A DEPTH

OF 18" PRIOR TO PLACING OF CONCRETE.



DRYWALL PER CODE

SLAB-ON-GRADE, REF.

STUD WALL, OR
PLYWOOD SHEAR WALL

(WHERE OCCURS)

3x SILL PL. (P.T.)

24"

1 8"

5/8"@ "J" BOLTS
PER S/W SCHD.

CONC. FOOTING w/ 3
CONT. #5 BARS

fc=2,500 PSI



6" BLIND FLANGE WITH
2" TAP AND PLUG

STANDARD MANHOLE
STREET SURFACE FRAME AND COVER

24" CONCRETE RISERS

J o Tl 1
e | [ :

ADJUSTABLE VALVE BOX

1'-6
MIN

2!_0"

6" DUCTILE IRON PIPE
24" MIN FLANGE x FLANGE

6" GATE VALVE
MECHANICAL JOINT JE\ .

x FLANGE PIPE
6" FLANGE x JOINT TEE

2-1/4" DIAMETER

P 7 ! 4 < DRAIN HOLES
WATER MAIN - w 6"FLANGE PLUG
THRUST BLOCK ke .~ MINIMUM 1/3 CUBIC
16" x 16" x 8" PRECAST | " YARD DRAIN ROCK TO 6"
UNDISTURBED EARTH HEEVE DRAIN ROLES
TR 6" BLOWOFF

1. FOR BLOW-OFF OPERATIONS, REMOVE PIPE CAP AND ADD A
2" PIPE EXTENTION AND 2" CHECK VALVE ASSEMBLY.

2. BACK-FLOW PREVENTION DEVICES REQ'D FOR ALL BLOW-OFF
ASSEMBLIES.

ASSEMBLY



2x STUDS @ 16" O.C.

3/4" CDX PLYWOOD
(T & G) w/ 10d NAILS @

4"_4"_1 2"

PLYWOOD PER SHEAR
WALL SCHEDULE

FLOOR JOIST, REF.

PLYWOOD PER SHEAR
WALL SCHEDULE

4x4 BLK'G, REF.

LTP4 PER S/W SCH., NOT REQ'D
IF PLYWOOD IS NAILED TO RIM
JOIST OR BLK'G, AND PANEL

IS A MIN. OF 48" HIGH (TYP.)

1" MIN. AIR-GAP
REQUIRED



MSTA36 @ 48" O.C.
ROOF RAFTER REF.

ROOFING
SEE ARCHITECTURAL

1/2" CDX PLYWD w/8d
NAILS @ 4"-4"-12"

LTP4 PER S/W SCH.

PLYWOOD PER SHEAR

WALL SCHEDULE
] C.J.,REF.
B.INS — BN
VN A35 PER
1\ 1\ WALL SCHEDULE
BNt —BN.

DRYWALL PER CODE

PLYWOOD PER SHEAR
WALL SCHEDULE




DECK FLR.

4X BLCKG.
6x12
DECK BEAM
() ﬁﬁ §8F %
| O/ 0

0 l
fﬁ 6
7/8"@x 8" LAG SCREW |

PRE-DRILLING REQ'D. (TYP.
Q'D. ( sk 12
7 6x6 KNEE BRACE

6x6 PT POST, REF.

RAILING NOT SHOWN FOR CLARITY







WOOD BEAM, REF.
HU _ TF, REF.

| 0 )
WOOD BEAM, REF. S




24"

MAT FOUNDATION
(SEE PLAN)

CONC. SHEAR WALL

I SEE SCHED.
N
g ‘ %
|§ |
T P
14
g0 :
8
QD
SUMP PIT
24x24x24
=T | . —N
N
— —) —_ _r|
24"
24"
24" THK W/
#5@12" EW.

24" MAT FOUNDATION
(SEE PLAN FOR REINF.)




1/8"

1/2" THK.
STIFF PLATE

WP HANGER,REF.

WOOD BEAM,REF.

M\

STEEL BEAM,REF.

5/8" THK BASE PLATE

STD PIPE POST,REF.



MAT FOUNDATION, REF.
(FOR REINF. SEE PLAN)

18"

2

[ ] @
CMU WALL.REF.
fm = 1,500 psi
(FOR REINF SEE SCHED.) o .
L
18" THICK MAT o . g
FOUNDATION &
fc=4,000 Ig8| a)
SP. INSP. REQ'D =
@ [ ]
—
[ ] [ ] [ ] o ] [ ] ® [ ] [ ]
of ¢ [ [ ® °
J C

2" SAND
CUSHION

6-MIL PLASTIC
SHT'G

3-#6 ADDED BAR
TOP & BOTT.




CMU WALL.REF.
fm = 1,500 psi
(FOR REINF.SEE SCHED.)

MAT FOUNDATION, REF.
(FOR REINF. SEE PLAN)

40 D SPLICE

18"

2" SAND
CUSHION

6-MIL PLASTIC
SHT'G

\»

3-#6 ADDED BAR
TOP & BOTT.

#5 @ 16" O.C.

24"

12"

CONT. #5 BAR




PLYWOQOD

2-#4 CONT.

2-#5 CONT.
H#HA4x
@16"0.c.

P.T.SILL PL.

30"
#4x DOWELS

2-#5 CONT.

I

]

-
3"CLR.X

p @24"o.c. CONC.
| SLAB
/ -
/ SAND
/ 24" M. BARRIER
CONT.FTG.

SEE PLAN



BN

l,- 2x BLKG
i
F.J. PER A35 @
PLAN 16" O.C.
2x STUDS
@ 16" O.C.
g
SN
WALK WAY
2 N JOIST
/‘
3x SILL PLATE Y e iy
W/ 5/8"2 A.B. L
I F 16" O.C.
S #4 @ 16" O.C. VERT.
#4 @ 24" 0.C. HOR.
-
DOWELS TO MATCH it v IS S
VERT. REINF. W ol
156.5 S 2 g : \5v/ﬂ\
DOWELS TO MATCH
VERT. REINF. .
3-#4 CONT. -
#4 @ 18" O.C. 2.9




1/2" THK.

STIFF PLATE

3/16

\

V\

STEEL BEAM,REF.

5/8" THK PLATE X BEAM WIDTH +4"
W/4-3/4"@ A307 BOLTS

TS POST REF.



CURVE ROOF (TS)
BEAM SEE PLAN

3/16

< TS (SEE PLAN)
=0 (SKYLIGHT
5/16 > <
SUPPORTING BEAMS)
4?7 3116
SLOT
CuT
6"x6"x1/2"
o THICK THICK PLATE
PLATE
NOTE:
OTHER ROOF MEMBERS e
NOT SHOWN FOR CLARITY.
REF. DET. 1/S-7 , 2/S-7 PIPE POST
& 3/S-7, FOR OTHER P —

DET. INFO.




IF PIPE OCCURS IN THIS AREA

ALL PIPE SLEEVES LOWER FOOTING. SO PIPE PASSES
TO BE 1" CLEAR ALL THRU WALL, STEP FTG. AS REQUIRED
AROUND, TYPICAL
T /1/—\1\—37
6"MIN. | Zz
., FOOTING = 5
N— :

CONTRACTOR MAY FORM{

ENDS OF CONC. TRENCH

S gﬁ |

L
25 FILL AT HIS OPTION OR :SLEEVE
= o LET CONC. SLOUGH TO
® O NATURAL SLOPE.
%} ;
= {
=
co n n l_ 1]
i D"+1'-6 L
SECTION 'ELEVATION
THIS CONCRETE MUST BE
POURED BEFORE FOOTING
IS POURED.
NOTES:

1. SEE MECH. SPEC'S. FOR CAULKING AROUND THRU PIPES.
2. FOR PIPES MORE THAN 3'-0" BELOW BOTTOM OF FOOTINGS
COMPACT SOIL TO 95%




DBL. 6x6 POST

STUD . B
16d@8"0.c. | STUD
ELME?SEN%?S" | 16d@8"0.c.

o e R eer cone
i-./lggLTS 8 SILL PLATEK SLAB
I D - ]
CONC. #4 TIES 2-#5

REINF.



OR TOP OF

HD2A @ EACH SIDE

4" THK. SLAB-ON-GRADE STAGGAR'D @ 48" 0.C.
w/#4 BARS @ 12" O.C. EA. MAX. TY
WAY @ MID DEPTH. ™ (WHERE OCCURS)
fc=2,500 PSI T |
=L )
/
"B" REINF. 5
WALL (fm - 1500 PSI ABN%HgR BOLT @ (WHERE OCCURS)
SPECIAL INSP. REQ'D. ) o
FULLY GROUTED 2 12" MIN. EMBED) sie.
"A" REINF. o "C" REINF.(WHERE APPLICABLE)
\/\ B
[ ] ’ [ ] .I
134" CONCRETE :
WALL (fc - 2500 PSI)
. WEEP HOLE
s PER SOILS
. ) LA REPORT
)
5 5
o et oL S
3 5312
3/4" GRAVEL Y
PER SOILS s L0 e [ v
REPORT, ek —
N . ! b . 24" MIN. INTO BEDROCK
= CONC. FTG.
v, ‘®_u ' . (fc = 2500 PSI)
) DOWELS TO #5 @ 16" O.C. -
|  MATCHWALL _ TOP/&BOTT.
REINF. | 23 TYP. —
/|
L I DEPTH INTO
SUHTIIE BEDROCK TO
4" PERFORATED COMPLY W/
Ee By H/3 SETBACK
REPORT AS PER SOILS
REPORT
IIHII IITII IIAII IIBII IICII IIDII

IILII

IIEII

" Kll

#588°0.C. | §4@24"0.C. - #5616"0.C.




1/8"

X 3" STRAP ON 4X BLKG

(SEE DETAIL 3 ON THIS SHEET)

" H " IITII

IIEII

" KII

" IICII

IILII

i 10

#5@8"0.C.#4©@24"0.Cl

#5@16"0.4

4" THK. SLAB-ON-GRADE AXBLKC. @ 48 0.0
" THK, -ON- EA. SIDE OF CMU WALL
w/#4 BARS @ 12" O.C. EA. W/ A35 EA. END & g%%é g 5%05 2:3?% c
WAY @ MID DEPTH. T (5) 8d F.N. AT FLR. MAX. TYP e
fc=2,500 PSI S SHT'G. TYP. AL
® ® U] o |\ / [ ¢ //)7 f | | /
e 1 05 I | N1
= RE - - FLR. JOIST
s e 4x LEDGER W/ ¥ :
CMU RETAINING PER PLAN
WALL (fm - 1500 PSI ANCHOR BOLT @ ‘
SPECIAL INSP. REQ'D. ;34 16" O.C.(5" MIN. EMBED)
FULLY GROUTED
. e "C" REINF.(WHERE APPLICABLE)
"A" REINF.
% _
- CONCRETE :
WALL (fc - 2500 PSI)
. WEEP HOLE
> PER SOILS
o * REPORT
(S]
5 o
7)) T
[0 s <t
3 217
3/4" GRAVEL [ o
PER SOILS s .« upf
REPORT -
\ - i 24" MIN. INTO
Y TR TR ¥ BEDROCK
T , CONC. FTG.
—, " ] . (fc = 2500 PSI)
_| DOWELS TO S
L MATCHWALL _
REINF. 2-3 oo
i
v x DEPTH INTO
SCHEDULE BEDROCK TO
4"@ PERFORATED 45 @ 16" O.C. COMPLY W/
PVC PIPE To?& i H/3 SETBACK
PER SOILS TP : AS PER SOILS
REPORT : REPORT
IIAII IIB IIDII



2x STUDS @ 16" O.C.

PLYWOOD PER SHEAR

3/4" CDX PLYWOOD WALL SCHEDULE
(T & G) w/ 10d NAILS @ (WHERE OCCURS)
4"_4"_1 2" \~
\ 7 —
. — =) A35 PER S/W SCH.
| o4 RIM JOIST/CONT. BLOCK'G
—11, (TYP )
w HALLWAY =
O FLOOR JOIST REF. B PLYWOOD PER SHEAR
% WALL SCHEDULE
S N (WHERE OCCURS)
o | CMST 12 @ 48" OC
- DRYWALL PER CODE 3/4" CDX PLYWOOD
S ] (T & G) w/ 10d NAILS @
o 4"_4"_1 2"
)| 30" MIN.(TYP.)
Ramy SN
(| A |
im i A ~J/
A35 PER S/W SCH., NOT REQ'D i 2X MEJ.REF.
IF PLYWOOD IS NAILED TO RIM FULL DEPTH BLK'G
JOIST OR BLK'G, AND PANEL
IS A MIN. OF 48" HIGH (TYP.) DRYWALL PER CODE
2x STUDS @ 16" O.C.




O

/

/o'

1-PHD6-SDS3
wl/dx4 POST

(18 SCREWS-SDS3)

2-PHD8-SDS3
w/4x4 POST

(18 SCREWS)

4x4

PHD, REF.

7/8"@ MACH. BOLT,
SET IN SIMPSON SET
EPOXY MIN. EMBED. 9",

MIN. EDGE DIST. 1-3/4"
LARR# 25279
SP. INSP. REQ'D

1" AIR GAP REQ'D

(E) CONC. FOOTING
& SLAB, REF.

9" MIN

SECTION




1/2" CDX PLYWOOD w/8d
NA"_S @ 4||_4||_12||
PANEL INDEX <= 24"

ROOFING
SEE ARCHITECTURAL

VI ——
==

== A35 PER S/W SCH.
RR REF.

DRYWALL PER CODE

2x STUDS @ 16" O.C.




B.N.

,\\ // \
g \\\/
/\
// \\
/// \\
2X BLK'G
ROOF JOIST © 40" O.C. CMST12
@ 4'-0" O.C.
3'-0" MIN e
2X CRIPPLE K
STUD WALL { ~ _ _
\ ) ,/
N/
e
/N
/ N\

FLOOR JOIST



HOLD ROD EMBEDMENT  BOLTS W/ WASHERS
DOWN DIA. DEPTH (de) TO POST
HD-2A 5/8" DIA. 12" 2-5/8" DIA.
HD-5A 3/4" DIA. 12" 3-3/4" DIA.
HD-6A 7/8" DIA. 12" 2-7/8" DIA.
HD-8A 7/8" DIA. 12" 3-7/8" DIA.
HD-10A 7/8" DIA. 12" 4-7/8" DIA,
HD-20A 11/4" DIA. 14" 4-1" DIA.
MINIMUM END MEMBER/POST
HD-2A | 2-2x
HD-5A  2-2x
HD-6A  4x6 POST
HD-8A | 4x6 POST
HD-10A | 4x6 POST
HD-14A 6x6 POST @ 2x6 STUD WALL, 4x10 @ 2x4 STUD WALL
HD-20A 6x6 POST @ 2x6 STUD WALL, 4x10 @ 2x4 STUD WALL
NOTES:

1. SEE FRAMING NOTES FOR OTHER APPLICABLE NOTES.

2. BOLT HD TO POST PER SCHEDULE. PROVIDE STD. CUT WASHERS ON OPP.

SIDE OF POST
3. PROVIDE MIN. 3" COVER TO BOTTOM OF HD ROD, THICKEN FOOTING IF REQ'D.

(HD-N)



B.N.

= = =) e = “_,,,“_;F.
\| / \l
\ / I
7% '
/N\ \
/ ) ‘
—
ROOF JOIST ' e CMST12
2XBLK'G | > 11
@ 4'-0"O.C. @ 40" O.C.
|
1
|
1
2X CRIPPLE =
STUD WALL A

FLOOR JOIST

A-35 PER SHEAR WALL SCH.




5"

P/W SHEAR WALL, REF.
MAX. HEIGHT 8'-0"

#4 BARS @ 12"
0O.C. MAX. EA.
WAY @ CENTER

CONC. STEM WALL
f'c=2,500 PSI

4'-0" MAX.

CONCRETE
FOOTING, REF.

FOR BALANCE OF INFO SEE DET. 8 THIS SHEET

ONE-STORY SHEAR WALL & FOOTING



DRYWALL PER CODE

8" CONC. WALL

#5 @ 16" O.C.
VERT.

3" CLR
COVER

PLYWOOD PER SHEAR
WALL SCHEDULE
(WHERE OCCURS)

3x SILL PL. (P.T.)

7/8" STUCCO PER CODE

B FLASHING PER CODE
#4 @ 12" O.C.

Il HORIZ

+154.00

1 l_6ll

o
¢

3!_0"

3-#4

#4 @ 18" O.C.



SQ.WASHER
& NUT

4x POST,REF.

HD8A, REF.

7/8"@ ALL THRD'D BOLT

f——

gl :

g

F‘E’?
w 2X PLATE

\,\//‘ \\’/ \/

/\ SUB FLOOR,REF.
2X RIM JOIST
2-2X PLATE
2X CRIPLLE STUD
4X HEADER,REF.

SQ. WASHER
& NUT
2x STUD WALL

OR POST



HANDRAIL, HANDGRIP
PORTION 1-1/4" TO 1-1/2"
ATTACH TO WALL w/4-1/4"@
LAG SCREWS OVER SOLID
BLOCKING @ 4'-0" O.C.

FLOOR SHT'G, REF.

1"

STUD WALL
FOOTING, REF.

MIN.

2x12 PLANK RISERS

AND THREADS, SUPP-
ORTED ON STUD WALL

7o

MAX. | MAX.

3-6"
ABOVE NOSING

F.F.

Vi

A MINIMUM HEADROOM OF 6'-8" MUST BE PROVIDED.




CMU RETAINING
WALL (fm - 1500 PSI

FULLY GROUTED

#5 VERT. BARS @ 16" O.C.
#4 HOR. BARS @ 24" O.C.
; STAGGERED
E 2 4" THICK SLAB-ON-GRADE w/
2 30" #4 BARS @ 16" O.C., EA. WAY
a @ MID DEPTH, fc=2,500 PSI
% |
. 2
[ J [ ] e ﬁ
[ J ® ?D
< o o © -O
Z
:
I A Lu
® & o (LH
DOWELSTO .~ .
MATCH WALL | >
REINF. ——



CHIMNEY
FRAMING

(E) FRAMING TO REMAIN

CREATE POCKET IN
CMU TO RECEIVE BEAM

4x LEDGER WOOD BEAM PER PLAN
¢ BEYOND

CMU WALL, REF.




PLYWD S/W WHERE OCCURS

2x CONT. LEDGER w/
2-1/4"@x5" LAG SCREWS

RAFTER,REF. HANGER
PER STUD
AL 2x BLOCKING
2x BLOCKING / /r
S . 2X SILL PLATE
//// / ;’ W —
T S } / / -
— LA .
— o oy 2xBLOCKING
— (where occurs)
A35 OR LTP4 HANGER F.J.REF.
PER SW SCH.
WD.BEAM,REF
HEADER
NOTE :

PROVIDE SKEWED HANGER

HSUR/L 4.12/16 FOR HIP BM
(SEE DET.8 ON THIS SHT)




. PLYWOOD
— |
1-#4 ]
1-#4
CONT. B.N. CONT.
H#A4@16"o.c. =t
EA.WAY TYP.
SLAB REINF.
e \
\ o0 12"
N\ .
24" | 24
HA X
ole DOWELS
N g @24"o.c.
=

|
{SEE PLAN*



5/8"dx14"A.B.
.1 | @48"0.c.TYP.UNO

3x PL. AT SHEAR WALL CONC.SLAB
SEE S.WALL SCHED. | @S.WALL SCHED. SN ~0)DE
FOR A.BOLTS B.N.
\ i \
i ® [ ] » L
iSAND
oR M.B.
2"
| [ CONC.
FTG.
CONC.PAD /" SEE PLAN
AT DET. 2% f /

/7 /.
|



2" TYP.

¢ GRADE BEAM
& PILE TYP.

24"MIN.

DEVT.LGHT.

BEND PILE
VERT. REINF. 90° AT
TOP OF GRADE BM.

S5,
TYP. See B &©

24"% DRILLED
CAST IN PLACE
CONC. PILE TYP.
U.N.O. ON PLAN
(24"@ MIN.)

Rl

TIES @ 2.5" O.C.

8- #7 CONT. VERT.
EQUAL SPACED. U.N.O.
ON SCHED.

#4 CIRC. TIES

D/2 OR 12" MAX
HOOPS EMB

20"

~
PLAN DETAIL(A/J

: 1
\?/

w

P

PLAN DETAIL | B,

16’-0" MIN.

GRADE BEAM
PER PLAN
>
OR TOP OF
2 APPROVED
z BEDROCK
Q PER SOILS
ENGINEER
Aﬁ
:
o
w=

WIDEN G.B.

AS NECESSARY

TO PROVIDE MIN.
CONC. COVER

TYP.

- 3"CLR.
TYP.

S

~
PLAN DETAIL \&

90° BEND
VERT. BAR AT
TOP OF G.B.
TYP.



LEAVE ROUGH SURFACE
AFTER 1-st POUR.CLEAN

AND WET BEEORE 2-nd 1/8" WIDE x 1" SAW CUT
POUR SEE PLAN OR MASONITE STRIP
\ | \ |
| ’ | | |
CONSTRUCTION JT. (CONTROL JT.)
CONTRACTION JT.
24"
SEE ARCHT. DRWG'S
#4 CONT. oo
| ‘ .C.
| — =9 | |
SIS =3 [ESITE=TTE= LT - o4
EDGE 24" MIN.
DEPRESSION Stak s |
2-#4 CONT. 19"
TOP & BOT.

GRADE SLAB SHALL HAVE
CONTROL
JOINT(CONSTRUCTION OR
CONTRACTION JOINT)AT
APPROX.26'-0" APART IN EA.
DIRECTION




V114 ¥ A N
14 TYP.
14 3 SIDES (T. &B.)
"o (TYP) St
1/2" PLATE
(T.&B.)
r
[
1/2" STIFF. PLAT e
. " &
\\ -
i ] N W 14
14 Y W10
1/2" GUSSET
PLATE \l W10

SECTION ELEVATION (A




PLYWOOD SHT'G. B.N.

BEAM PER
PCAN
47
BLK'G. o EWPSON s
JOISTPEEﬁ
4\,7
POST PER [N
PLAN
u PLYWOOD SHT'G.
BEAM PER
PLAN
SIMPSON'S e
ECC o« o >

SECTION



2x4 ROOF JOIST
(SEE 2/S-7 FOR
CONNECTION) SIM.

TS CURVE RAFTER \\
(SEE PLAN)

TS STEEL BEAM
(SEE PLAN)

BN



3x NAILER W/ 5/8"@
AB.@16"0O.C.
COUNTERSUNK TYP

FLOOR SHEATING BN
+168.00 .
\ [ = T f
— P A m
HDZA EA FACE DECK JOIST
@ 48" O.C. TYP. 3x LEDGER W/ 5/8"@
o @ A.B. % 16" O.C.
(9" MIN. EMBED.) #4 @ 24" O.C.
#4 @ 24" O.C. HORIZ E.F.
HORIZ EF. s
#4 @ 16" O.C.
VE%. E.F.
. o o #5 @ 16" O.C. | maieodc.
\<%\ Verr, PP %
oE NATURAL
| T~ GRADE
g a Socsy 2 4 1400
: : \‘\ 2 26"
® z #4 @ 16" O.C.
SN | : DOWELS
& RN 5" SLAB
N sz T ON GRADE
5 4-#4 CONT. BARS ;; ) 158,00 \
e @ @ _e | N 5 )
N— N ;?, /
) \
4 7 # @ 18" O.C. lo ¢f
Aﬁ
3 444 CONT. BARS
T ) ® ® <
Aﬁ
SEE 8/S-3 L, 40 i #4 @ 18" O.C.
7 ~




30"

5-3"

L 10" CONC. WALL 2.0
g fc=3,000 PSI (SP. INSP. REQ'D) o |
o | #4 @ 18" O.C. )
- HORIZ. E.F. #4 DOWELS @ 16" O.C. (TYP.)
\ 41' Ll / /
‘ ‘ L : .
77
( N fONA / S 10" CONC, WALL
' B P YN fc=3,000 P
i (SP.INSP. REQ D)
2 || COMPACTED FILL K&
#4 @ 16" O.C.
#6 @ 16" O.C. e % 212 gf
VERT. #4 @ 18" O.C.
COMPACTED @1 o #6 @ 16" O.C. o S
FILL e o s VERT. BARS =)
o & #4 @ 18" 0.C. 33
N DOWELS TO MATCH VERT. BARS
A ] VERT. REIF.
S FRN b«
S BEDROCK  #5@8"O.C.
ol #4 @ 18" 0.C. DOWELS
GRAVEL W/ 4" PVC e AL\
PERFORMATED PIPE & 8 . .
O S Nre #4 DOWELS @ 16" O.C.
z - j\’
z 1 FT/FT 3/4” o
s < GRAVEL W/ 4" PVC 3 [
PERFORMATED PIPE L= .
% 444 : 5
° CONT. BARS — ) R 7
N > - T 7 T N\
il i # @ 18" 0.C. 7N R ¥
HGIE 0.L. TOP & BOTT. N






: HD2A EA, FACE
\ = @48"0.C.
COMPACTEDFILL o
: e ~ ] <
NAT. GRADE | WISEOAD DECK JOIST
16"0.C.
o o« o o BrRED TN
TR
v
N
N
\\’\
' ' 12" CMU
- @\}SRT ||~ FULLYGROUTED
,;\ \‘_Se‘ix\\ TE
#4 @ 24" O.C. TWr #4 @ 16" 0.C.
{ORL B @/ERT
e
s
r
J N =
:I_ 14
J L] [ ] L ] @ Eﬁ g
N &
O
444 -
CONT. BARS 40

# @ 18" 0.C.



24" J/
Pl
~N - 4-#6
N 3" CLR.
COVER (TYP)
Aﬁ " ,
%
NAT. GRD. CONC. ENCASED
STEEL COL.
GRADE BEAM
(SEE PLAN)
‘r'ﬁn n"’w‘
" = 3"CLR
COVER o
Jha 03
© -
N

FOOTING (SEE PLAN)



30"

#4@16" O.C.
DOWELS 2

8" CONC. WALL

fc=3,000 PSI (SP.INSP.)

#4 @ 12" 0.C.
VERT.

FT/FT 378"

GRAVEL WRAPPED
W/FILTER FABRIC
W/4"3 PVC
PERFORMATED PIPE

217277

()

33"

#4 @ 18" O.C.

N

3-#4 CONT. BARS

#4 @ 18" O.C. #4 @ 16" O.C.
HORIZ. 4” SLAB ON GRADE
12" TYP. W4 @ 16" O.C. EW.
v
33 ‘ . .
#4@16"0.C. 5 : \
DOWELS =
12"
e 7
/ 4" SLAB ON
GRADE

STAIR ON GRADE
(SEE 12/S-9)




B.N.

I
AR o
// |
2x4 JOIST
SPN 3x LEDGER W/ 2-16d
NAILING @ 6" O.C. STAGG
] TO STUDS
A 35 PER o —
SW.SCHED. 22




2x4 ROOF JOIST
(SEE 2/S-7 FOR
CONNECTION) SIM.

2x BLKG
@ 48" O.C. (TYP.)

TS 3x3x1/4

3/16

TS CURVE RAFTER
(SEE PLAN)

TS STEEL BEAM
(SEE PLAN)



\r
2x STUDS
9% BLKG. SILL PLATE NAILING BN
W/ A35 @ 16" _ o
0.C. TYP. uip
| - 7 +EL. 139.00
J |
‘( , ‘ 2x BLKG
‘ J// “J// g
2x F.J. - A35 - »
SEE PLAN @ 16" O.C. -
. 3x NAILER W/ 5/8'% 8" CMU
45 8" cMU HE-@ZPAUC ATTEY WALL TYP.
WALL TYP. o o fm = 1,500 psi)
. fm = 1,500 psi) # @ 16" 234 ) 4 .
—{ O.C. VERT. O.C. VERT.
I \A\ © | NAT.GRD./OR
COMPACTED #4 @ 24" ACTED FILL
g; Fl 2-3/4" ] 0O.C. HORIZ
E =§ / g #4 24"
23 : O.C. HORIZ.
@ < @
1 FTIFT 3/4"
GRAVEL W/ 4"@ PVC
PERFORMATED PIPE +EL. 134.00
_ _\(TYP.) O _ | TERRACE DEPOSIT q
DOWELS TO MATCH ~——_ 7
ERT. REINF. —x L/ .
z . o
% b BF ™ ¥ .
N 2"~ DOWELS TO g
MATCH 2
F VERT.REINF /
e @
& N
3#4 ° e o = 3#4 CONT. le__ o z
CONT. TYP. IT
L 33 igm
/ 7 #4@16"0.C. TYP. 4L = 4L

1 FT/FT 3/4" GRAVEL WRAPPED
WI/FILTER FABRIC W/4"@ PVC

PERFORMATED PIPE



# @ 16" O.C.
DOWELS

30"

—‘ 1-0"

8" CMU FULLY GROUTED
(SP. INSP. REQ'D)

%%.16“ 0.C.

COMPACTED
FILL

5-0
MAX.

DOWEL TO MATCH
VERT. REINF.

1FT/FT 3/4"
GRAVEL WRAPPED
W/FILTER FABRIC

2-3/4"

STEPS ON GRADE/ FILL
(SEE DET. 12/S-9)

_ ™ VERIFY W/
% ARCH.DWG.

S SLAB ON GRADE/

Io

s FILL RE: PLAN

# @4"0.C.
HORIZ.

WG PVC [
PERFORMATED PIPE | )\
)

COMPACTED
FILL

BEDROCK

4-#4 CONT. BARS s

MIN.

1'-6"

1-8-1/2"

L 1-1/2"

# @ 18" O.C.



4x POST, REF.

PHD, REF.

7/8"0 M.B. w/
WASHER & NUT

2ND FLOOR
SHEATHING, REF.

WOOD BEAM
REF.



FOR BALCONY FRAMING
(SEE 7/S-7)

STUD WALL
(WHERE OCCURS)

300
SEEDET.7/S-7 o

# @ 16" O.C. DOWELS

#4 % 24" O.C.
HORIZ.
#4 @ 24" O.C.

VERT.

g

o]

3"

-

WATER PROOFING
12" CMU FULLY GROUTED

fm=1,500

psi



SILL PLATE
NAILING BN
3x NAILER W/ 5/8"@
WELDED THREDED STUDS @16" O.C.
[ | i BN 2x BLKG
sl - W/ 3-16d
3
=2
\ / \ \ /
5 Bl /X
FLOOR HUFT /N \
JOIST HANGER /N /N
| THAI HANGER BALCONY
BEYOND
FILLER BLOCK STEEL BEAM
W/ 5/8"@ WELDED (SEE PLAN)

STUDS @ 24" O.C.




TS COL. REF.

24"x24" CONC. PEDESTAL/
ENCASEMENT

W/6-#6 VERT. BARS
WI-#3 TIES @ 12" O.C.

“A

CMU RET.

WALL
(SEE DET.4/S-12)

14"x14"x7/8" BASE PLAT

W/4-7/8"@ A307 BOLTS

OVER 1 1/2 NON-SHRINK GROUT

/1

A
.

g GRADE BEAM
s =, SEE PLAN

3" COVER

COL. FOOTING
(SEE PLAN & SCHED.)



REF: 1/S-9
FOR DETAIL (SIMILAR)

4" 5.0.G./FILL
WHA4@16" 0.C.
E.W. TYP.

4" S.0.G./FILL

REF: 2/S-9

FOR DETAIL (SIMILAR)

REF: 2/S-9
FOR DETAIL (SIMILAR)

8" CMU WALL
Wi#4 VERT. @ 16" O.C.
& #4 HORIZ. @ 16" O.C.




A35
ﬁ\ e
_ v/ PLYWOOD SHEATING.REF.
A / \\\
\ /—I \\
WERGE 3xNAILER 7 <
L
) ) \\\\\
| \\\\

NAILER TO FIT STL BEAM
FASCIA (IF NEEDED)




PLYWOOD PER SHEAR
WALL SCHEDULE
(WHERE OCCURS)

DRYWALL PER CODE T
3x SILL PL. (P.T.)

7/8" STUCCO PER CODE
FLASHING PER CODE

\ ’Ib'qi
..J 5/8"@ "J" BOLTS
; 1 PER S/W SCHD.
\
g EF o \ 8"THK CONC WALL w/ #5 VERT BARS @ 16"0O.C.
i g W/#4 HORIZ BARS @ 24"0.C.
a o fc=2,500 PSI
N
5 @ CONC. FOOTING w/ 3
= - - — CONT. #5 BARS W/#3 TIES @12"0.C.
, 26" fc=2,500 PSI
y




NOTE:

1. FOOTING EMBEDMENT DEPTH
MUST BE 2'-0" FROM BEDROCK.

2. BACKFILL SHOULD BE
PLACED UNTIL WALL HAS ATTANED
REQUIRED CONC. STRENGTH.

#4 @ 18" O.C.
VERT.

#4 @ 18" O.C.
HORIZ. E.F.

14" CONC. WALL

# @ 16" O0.C. DOWELS

21/2"

30"

10" ’7

12" CONC. WALL fc=3,000 PSI

#7 @ 8" O.C.
VERT. BARS

#9 @ 8" O.C.
VERT. BARS

21/2"

#6 @ 8" O.C.

46"

#4 @ 18" O.C. T&B

ot

141

1.8"

2" 5"

#4 @ 18" O.C.
3o 1w
#5@ 8" O.C.
42 3 |, 14
/A
9-0




(SEE 1/S-7 FOR ANCHORAGE DET.)

PLYWD FLR SHEATING

BOND BEAM W4#5 BARS

on 12"@ 3/4GPEA GRAVEL

A35 PER SW SCHED. B"‘l BN
l / ‘ E} ¢ “ J. [ 3 4()
BN ‘
8 in. CMU w/ #5 @ 8.in olc g
Solid Grout, Spc Insp #4 HORIZ.BARS #24" OC
=
Water Proofing o
Rt ©
#2TIES @ 16" O.C. N
=
f o
1
10 in Mas w/ #5 @ 8.in o/c Solid Grout, Spc Insp
3-0" =
rmm. SHlgy o Q
: #4 HORIZ.BARS #12" OC . <
P/W SW (WHERE OCCUR) g ™~ 9 4"@4 PVC PERF. PIPE
PLYWD FLR SHEATING @
N o oo =
BNFHSBN | | O] ¢
I [‘ e . =, = L H
2 H lj\ Jl;.i o ‘g ’ $
4X BLCKG or STRUT  FJ REF. J a0t 111 f*o?
(SEE 1/S-7 FOR ANCHORAGE DET.) 5
121 w/ #5@ 16.in ofc « | #4 HORIZ.BARS #24" OC
Qohﬂcf arout, ¢ ﬁisp .
2B/ &
o ©
. Water Proofing
% ,
o . | #4HORIZBARS #24" OC i
5 12 in Mas w/ #7 @ 8.in o/c -
o | Solid Grout, Spc Insp
5 L]
#4 HORIZ.BARS #12" OC ., <
% . q
® _ B (o) I
R e 2 I B
v 24" TYP. =
e 8 &
20" | 20 #5@ 16" E.W TOP & BOTT.

4"@ PVC PERF. PIPE on 12"@ 3/40PEA GRAVEL

5" THK SLAB ON GRADE W/#4 @ 16" O.C. ON 6 MIL V.B. OVER 2" CLEAN SAND.



TS6x4x%s RING
1/4

TS4x8x5/16
RING




RAILING REF.

6X12 REDWOOD BEAM
2X3 REDWOOD PLANKS @ 4"0O,.C.

3X NAILER

1/2" THK. STL BEAM,REF.
STIFF PLATE

5/8" THK BASE PLATE

1/4" STD PIPE POST,REF.



3" LIGHT WEIGHT CONCRETE

3/4" CDX PT PLYWOOD w/
10d NAILS @ 2"-4"-12" (P.T.)

o
7 \\\\\\Z v
T DRIVEWAY

~ T

FLOOR JOIST —M
REF. <4, |

ey 7« WHERE OCCURS
™ \

TS

3x4 SILL PLATE
P.T., w/"J" BOLTS
(OR'LTP4'S)

PER SHEAR WALL
SCHEDULE

GRADE BEAM, REF.
WHERE OCCURS
CMU WALL SIMILAR

12x12 GRADE BEAM W/ 4
CONT. #5 BARS
fc=2,500 PSI

DRIVEWAY



FACE OF (E) WALL
3/16" ' 3/8"x6"x10" PL.

—°
—)

<4" CLR. MAX. (TYP.)

2"'x6" TS, ATTACH TO WALL
FRAMING w/ 4-1/4"@x3-1/2" LAG
SCREWS TO (N) 4x SOLID BLK'G
OR (N) 4x RIM JOIST, SIM TO
BALCONY FLOOR

1 1/4"x1 1/4" TUBE

] @ 6'-0" MAX.

. 1/2"x1/2" BAR

@ 4" 0.C.

1 1/4"x1 1/4" TUBE
6'-0" MAX. (TYP.)

3/8" PERFORATED ST. PL.

3"6“

\ 3/8"@x5" LAG
e SCREWS @ 6"

- | 0.C., STAGGD
REPLACE (E)
RIM JOIST OR
BLOCKING w/
C6X10.5 ALL EDGES, ATTACH 4x RIM JOIST OR

TO WALL FRAMING w/ 1/4"@x3-1/2" FULL DEPTH 4
LAG SCREWS @ 4" O.C. STAGG'D MST60 EA. Sine

(E) WALL, REF.

SPECIAL INSPECTION REQUIRED FOR ALL FIELD WELDING



NOTES ON EXPANSIVE SOIL :

IF EXPANSIVE IS ENCOUNTERED ON SITE THE FOLLOWING REQUIREMENTS SHALL BE COMPLIED WITH:

1.) DEPTH OF FOOTING BELOW NGL AND FGL SHALL NOT BE LESS THAN 24" EXTERIOR
AND 18" INTERIOR FOOTINGS.

2.) EXTERIOR WALL AND INTERIOR BEARING WALLS SHALL BE SUPPORTED ON CONTINOUS FOOTINGS.
3.) FOOTINGS SHALL BE REINFORCED WITH FOUR #4 DEFORMED REINFORCING BARS.TWO SHALL BE PLACED
4" OF THE BOTTOM OF THE FOOTING AND TWO BARS WITHIN 4" OF THE TOP OF THE FOOTING.
4.) CONCRETE FLOOR SLABS ON GRADE SHALL BE PLACED ON A 4" FILL OF COURSE AGGREGATE OR ON
MOISTURE BARRIER MEMBRANE.THE SLABS SHALL BE AT LEAST 3 1/2"THICK AND SHALL BE REINFORCED
WITH #4 REBARS @16"0.C.EACH WAY.
5.) THE SOIL BELOW AN INTERIOR CONCRETE SLAB SHALL BE SATURATED WITH MOISTURE TO A DEPTH

OF 18" PRIOR TO PLACING OF CONCRETE.

CONCRETE SLABS ON GRADE ON EXPANSIVE SOILS OR COMPACTED FILL SHALL BE PLACED ON A 4" FILL COARSE
AGGREGATE OR ON A 2" SAND BED COVERED MOISTURE BARRIER MEMBRANE.THE SLABS SHALL BE AT LEAST 3- 1/2 "THK

AND SHALL BE REINFORCED WITH #4 BARS SPACED AT INTERVALS NOT EXCEEEDING 16"0.C. EACH WAY.




F.P.

BN ALONG 3x NAILER W/

LINE OF BEAM 5/8"@ WELDED
B B B 1] . _ . (THREADED)
Ny STUD BOLTS
1§ “_fi_“%: @ 24" O.C.
TS BEAM
(SEE PLAN)
TS BEAM

F.P.

(SEE PLAN)



1/4"
1/4" W, REF. W OR C, REF.

W

¥ I s
1/4"

10" MIN
COPE FLANGE AS
REQUIRED

N3

T

3/8" THICK
STIFF. PL.

BALANCE OF INFO NOT SHOWN FOR CLARITY



. 12
3/8" BENT PL. \ \#4 3/8" BENT PL.

S

HOLE FOR 5/8"@ M.B.

3
7 \\\‘ 3/8" TYP .

WIDTH TO COMPLY W/ A
ACTUAL FIELD CONDITION

TS 4x4x3/16

ANGLE MAY VARY



LESS THAN 4" CLR.

MAX. (TYP.)

— 2"x6" TUBE

BAR

@ 4" O.C.

1/2"x1/2"

BENT 8"x4"x1/4" ST. PL.
w/4 3/8"d x 3" LONG
LAG SCREWS

..@l_m

1/8"

WOOD BEAM, REF.




4x4

HD8A

7/8"d M.B. w/
WASHER & NUT

2ND FLOOR
FRAMING, REF.

3x NAILER
REF.

STEEL FRAME,
REF.



SEE SCHEDULE

3" 2"
IIA"

/ PL 5/8" MIN
— 13/4"

o
1 N

SHEAR PL
SEE SCHEDULE

BOLTS
1/2" TYP UNO AS SHOWN

A ON SPECIFIC DETAILS

BEAM TO COLUMN WEB




ST 6224
2-2X TOP PL.

EXISTING NEW CONSTRUCTION




"All

STIFF. PL.

IlAlI

3"

2"

BOLTS
SEE SCHEDULE

—13/4"

3"

SHEAR PL
SEE SCHEDULE

1/2' TYP UNO AS SHOWN
ON SPECIFIC DETAILS

BEAM TO COLUMN FLANGE




3x P.T. SILL PL.

5/8"@x14"A.B.
PLOXOOD SEE S.WALL SCHED.
MIN.2-A.BOLTS 2 .-
| CONC.
BALS. 1-#4 CONT. - SLAB
90% CERTIFIED fm N
COMPACTED ~ i e 2 e | Y
SOILS AS PER 248 (I — S Oy - SAND
SOIL REPORT . 30" <T38I§T- | | 10 MIL.VISQUEEN
| | | | 24" MIN. LAYER M.BARRIER
DOWELS@24"0.c. | e
24" L
- 2-#5 CONT. { ’
BOTTOM NP
\ f 2 concFTe.
| SEE ]

PLAN



2XBLKG.@24"0.C.

2XROOF JOIST
L3X2X1/4 @16" O.C.
TYP.
3/16"
3X NAILER
W@5/8" WELDED
THREADED STUDS
@16"0.C. W /NUT
&WASHER
2 =
3 § TS CURVE RAFTER

TS BEAM TS,REF (HORIZONTAL TIES)
REF. TIE @ 6'-0"



¢ GIRDER

COPE BEAM FLANGE SHEAR PL.

AND NUMBER OF BOLT
SEE SCHEDULE

SHEAR PL

13/4"
\ |
- 2p.fe > OF BOLTS PER

3"

TYP
IlAll

BEAM TO BEAM CONN




3/16

MOM. FRAME
MST 60 SEE 12/S-8
& 11/S-8
~N Sy
11/2" o~
3 X %
)
11/2" S
4x DRAG
STRUT

1/4 BENT "U" PLATE
W/2-3/4" & M.B.




BOLT SCHEDULE

BEAM DEPTH =Rk FL WELR SIZE ﬁﬁﬁsﬁgg’g L’Sﬁs’éﬁzgﬁ 1N3l.ll?\;g€§ %)5;‘ REMARKS
(THK) ("A") BOLTS TYP UNO BOLTS TYP UNO BOLTS TYP UNO
w8 3/8" 1/4" 2 N.A. N.A.
W10 3/8" 1/4" 2 N.A. N.A.
w12 3/8" 1/4" 3 N.A. N.A.
w14 3/8" 1/4" N.A. 3 N.A.
W16 1/2" 5/16" N.A. 4 N.A.
w18 1/2" 5/16" N.A. 5 N.A.
w21 1/2" 5/16" N.A. 6 N.A.
W24 1/2" 5/16" N.A. 7 N.A.




SEE DET. 11 THIS
SHEET FOR STEEL

BEAM CONNECTION

REBAR/TIES
NOT SHOWN
FOR CLARITY

GRADE BEAM, REF.

CMU WALL NOT SHOWN FOR CLARITY

24"

24X24 PILASTER

STEEL POST,REF.
4 #5 VERT.BARS

#3 STIRRUPS @ 12" O.C.

CONCRETE JACKET
(Fc=3,000 PSI), SP.

INSP. REQ'D

.
_\ 3"CLEARTYP.
3" CLR.

TYP.




1/ "

TYP.

5/8"@ M.B., w/
WASHER & NUT, 2

PER CONN., TYP.

N

1'-0" MAX.

é

A
ol

PL. 3/8x6x6
TYP.

TS 2x2x1/4
TYP.

HIP BEAM
REF., TYP.



PLYWOOD

/

5/8"@x14"A.B.
PLYWOOD SEE S.WALL SCHED.
5/8"@x14"A.B. o
SEE S.WALL SCHED. ﬁ 24" s
MIN/2-A.B.@EA.WALL { &
B.NLS. B.NLS. I 1LASO
1-#4 CONT. -~ [@I=
N =
o fDD1-#4
24" n
24"MIN.
#4 X
DOWELS@24"0.c. \ > #50ONT
~ADD 1-#4 TOP&BOT.EA.
o “*\\3"
2H#OX[” ; CONT.FTG.
L FTG. - (7




6x14 HIP BEAM

1/4" THK. BENT PLATE
W/8-1" & BOLT

TYP.

1/ "
TYP | (SPL INSP.REQ'D)

1/4

(SPL INSP.REQ'D)
6x14 COLUMN TIES
ON 1/4"THK x12"DEEP
U BT PLATE HANGER(TYP)

TS6x6x1/2 POST

g



PL. 7/8"x13"x13"
w/4-7/8"3 (A325)

¢ COLUMN

\——

TS5x5x¥ BEYOND

172"-4000 PSI NON-SHRINK
LEVELLING GROUT

1-#4 TYP.

F.P.

42"

ANCHOR BOLTS
CONC. SLAB | |
4" SAND. Lllle /
2-#5 CONT. ’ ’ A0 T
TOP & BOT. 24"
PL. %"x4"x4" EACH TR
ANCHOR w/ DBL NUTS
3¥ il W \%
Rl e e
GRADE BEPLM

SEEqF’LAN

#4
DOWELS@24"o.c.
2-#5CONT.
TOP&BOT.EA.

#4 TIES@8".c.




E70xx (FULL
PENETRAT'N 1
WELD. CONT.
INSPECTION

REQ'D. TYP.)

BACKUP BAR TO REMAIN
. REMOVE WELD TABS
TYP. TOP FLANGE

6"x4"x1/4" STEEL
ANGLE W/ 3-5/8"
DIA A325F BOLTS

F.P. FULL HT. OF
BEAM FLG <
TO COL.WEB

1127121

SHEAR TAB
THKNESS TO MATCH
BEAM WEB THK(1/2"x4")

w/2-5/8"@E.BOLTS(AS REQ'D)

CONTINUITY PLATE (T&B)
SAME THICKNESS AS

FRAMING GIRDER FLANGE

1/2" DOUBLER PLATE(B.S.)

> 6+ AFTERROOTIS
CLEANED & INSPECTED

~REMOVE BACKUP BAR
. REMOVE WELD TAB

14" TYP.(3 SIDES)

FULL DEPTH
STIFFNER PL.



5/8" CDX PLYWOOD w/10d
NAILS 4"_4"_1 2" ROOF RAFTER

PANEL INDEX <= 24"

LRELERAES
ROOFING ( )
SEE ARCHITECTURAL |
==
FULL DEPTH BLK'G — LTP4 PER S/W SCH., NOT REQ'D

IF PLYWOOD IS NAILED TO RIM
JOIST OR BLK'G, AND PANEL

IS A MIN. OF 48" HIGH (TYP.)
DRYWALL PER CODE

2x STUDS @ 16" O.C.




Notes:
CONCRETE
1. Cast-in-place concrete shall be regular weight stone

aggregate concrete. Unless noted otherwise, minimum 28-day
compressive strength shall be as follows:

Use 28-day Strength

a) Footings, grade beams, and slabs 3000 psi.

b) All other concrete 2500 psi.

2. Cylinder tests shall be made for all concrete greater than
2500 pst and test results shall be submitted to the
Architect for review and approval. All concrete greater
than 2500 psi shall be subject to continuous inspection

in conformance with the Bldg. Code.

3. Cement shall conform to ASTM C150.

4. Aggregates shall conform to ASTM C33.

5. Ready mix concrete shall comply with ASTM C24.

6. Unless noted otherwise, reinforcing steel for ties and
stirrups shall be ASTM A615 Grade 40; all other
reinforcing steel shall be ASTM A615 Grade 60.

7. Welded wire fabric shall comply with ASTM A185.

8. Min. reinforcing steel lap splice shall be 40 bar dia.,
1'-8" min.

9. Unless noted otherwise, all detailing, fabrication, and
erection of reinforcing bars shall conform to the
current edition of the A.C.I. "Manual of Standard

Practice for Detailing Concrete Structures.”

10. Unless noted otherwise, on the dwgs., min. concrete

protection for reinforcing stee! shall be as follows:

A. Concrete poured against earth......... i
B. Formed concrete exposed to earth or weather:
a) #5 bars and smaller....... 1-1/2"
b) All bars larger than #5...2"
C. Formed concrete not exposed to weather or in
contact with earth:
a) Slabs and walls 3/4"

b) Beams and columns 1-1/2"

11. Refer to architectural, mechanical, plumbing and
electrical dwgs. for grooves, clips, inserts, pipe

and pipe sleeves embedded in concrete.

12. All field welding shall be subject to continuous

inspection by a Registered Deputy Building Inspector.



3/16 3x NAILER w/ ¥2"@ (A307)
WELDED ANCHORS@16"0.c.

B.N.

ROOF
PLYWOOD

TS4x8x5/16
RING




3!_0"

1 I_OII

2-#4 DOWELS

TS POST, REF.
SEE PLAN

12"x12" CONC.
ENCASEMENT
WH3 TIES @ 12" O.C.

A

10"x10"x3/8" BASE PLATE
W/4-7/80 A.B.

RET. WALL FOOTING
(SEE DET. 8/S-7)




5/8" CDX PLYWOOD w/10d
NAILS @ 4"-4"-12"
PANEL INDEX <= 24"

ERECRRAS
ROOFING ( )
SEE ARCHITECTURAL o
I /// ROOF RAFTERS
L | A
L :*_f“
FULL DEPTH BLK'G ] LTP4 PER S/W SCH., NOT REQ'D
IF PLYWOOD IS NAILED TO RIM
JOIST OR BLK'G, AND PANEL
DRYWALL PER CODE IS A MIN. OF 48" HIGH (TYP.)
2x STUDS @ 16" O.C.




6x12 W 5/8" @
BOLTS @ 16" (STAGG'D)

16" @ 6" (STAGG'D)
(STAGG'D)

TR

E.N.

W 10x49



ORIGINAL GROUND
OR STREAM BED
G DO NOT RAISE OUTLET

ABOVE ORIGINAL GROUND

OR STREAM BED




LUMBER Notes:

1. Unless noted otherwise, lumber shall be Douglas Fir, S4S,
seasoned and grade marked.

2. Unless noted otherwise on the dwgs., lumber grades shall be as
follows:
A. Vertical Framing Members
a. 2x & 3x studs, 4x4 posts - No. 2.
b. All other vertical members - No. 1.

B. Horizontal Framing Members

a. Thickness 2" & 3" - No. 1.
b. All other horizontal members, - No. 1

3. Plywood shall be Douglas Fir and shall comply with U.S.
Product Standard PS 1-85. Grades and sizes shall be as
specified on plans.

4. Nails shall be common wire nails. Unless noted otherwise on
the plans, nailing shall comply with nailing schedules
prescribed by the Building Code.

5. Wood connector designations specified on the drawings refer to
"Simpson Strong-Tie Connectors” as manufactured by the Simpson
Co. and as listed in Simpson Catalog No. C-2001
substitutions shall be subject to review and approval by the
Architect.

6. Sill plates and other wood members bearing directly on
concrete shall be pressure treated lumber.

7. Bolts shall comply with ASTM A307. Bolt holes shall not be
more than 1/32" oversize. All bolts heads and nuts bearing on
wood shall have steel washers.

8. Simpson connections shall be installed in accordance with
U/HU - RR24947, UB/LB - RR24818, CC - RR22086,
HD - RR24818, RR25158, RR25293, MST - RR25129, RR25149,
RR25281, A34/A35 - RR25119, RR25293

9. Parallam PSL:

a) Shall be fabricated and provided by Trus Joist Mac Millan No
Substitutions without the prior written consent of the architect and the
structural engineer

b) Installation to be in accordance with ICBO ER 4979, and with Trus Joist
Mac Millan's specifications. RR# 25138.

c) Parallam beams shall not be cut, notched or drilled without prior
specific written approval of Trus Joist Mac Millian

d) Lateral Support of beams at bearing points is required. Additionally,
lateral support of beams compression edge is required at intervals of 24"
o.c. or closer

e) Beam widths as indicated on the dams are for single piece members.
Muitiple member units connected in accordance with Trus Joist Mac Millian's
specifications shall not be used without prior written consent of the
architect and the structural engineer.

f) Parallam bearing 3" minimum at ends and 7 1/2 " minimum at
intermediate supports of continuous spans. Bearing shall be provided for
full width of beam.

g) Nailing in parallam beams shall not be spaced any closer than 3" o.c.
for 8 d, 4" o.c. for 10d , and 6"o.c. for 16 d, for a single row of nails.
If more than one row of nails is used, the row must be offset at least
1/2" and staggered.

10. TJI/Pro:

a) Shall be fabricated and provided by Trus Joist MacMillan.

No substitutions without the prior written consent of the
Architect and the Structural Engineer.

b) Installation to be accordance with RR#22614, RR#25138, and
with Trus Joist MacMillan's specifications.

¢) TJl joists shall not be cut, notched, or drilled without prior
specific written approval of Truss Joist MacMillan.

d) TJI minimum bearing at end supports is 1-3/4" and at
intermediate supports is 3-1/2", unless noted otherwise.
Lateral support of joists at bearing points is required,
per Trus Joist MacMillan. Provide web stiffeners to TJI's
as required per Trus Joist MacMillan specifications.

e) Rim boards shall be minimum 1-1/4" TimberStrand LSL as
recommended by Trus Joist MacMillan, unless noted
otherwise. Install per manufacturer requirements and
specifications, and per ICBO ER-4979

f) Provide bridging to TJI's as required per Truss Joist Mac Millan.

g) Provide shop drawings approval by Truss Joist Mac Millan.

h) L.A. City licensed fabricator is required.



WALL WHERE OCCURS

SHEATHING PER PLAN

E.N. SHT'G TO PLATE

” TYP.
SHT'G
B.N.
JOIST HANGER 3x WIDTH OF FLANGE
NAILED TO - WOOD PLATE W/ 1/2" DIA.
NAILER WELDED STUDS @ 32" O.C.-
STUD HEADS MAY BE
COUNTERSUNK INTO PLATE.
FLOOR/ROOF
JOIST, SEE

PLAN. STEEL BEAM
SEE PLAN



3/8 WEB STIFF.

1/4
1/4

5"x5"x1/2"
CAP PLATE

1/4

TS POST
(SEE PLAN)



CMST 12
CONT. BN

2xTOP PLATES

//
ye [| L=< 5/8" @
[ | WELDED BOLTS
yd \ \‘}ﬁ%“/ 2-5/8" @
— / W, - THRUBOLTS
’ - s
il | |
Ve | mfi
///
|
TS SEE
PLAN
2x BLK'G
DECK JOIST
(SEE PLAN)







" | |

/V\ T

7~ A
%
%,/

ELBOW



MATERIAL TO BE
DEPOSITED ON BOTH

7 ) SIDES OF DITCH
s NN
¥ /\>
<< R
- -

CULVERT

DIAMETER

SECTION A-A




ROOF SHEATING

BN

=

>
e :
rd y
vl !
/

/ Z

/ 3

7 P /
/ / /
/ N

A35 PER SW

SCHED.

E.N.

2x CONT. BLKG

PLYWOOD SHEATING
WHERE OCCURS



PLATE 3/ nx4n
|

Ya

<

>
|

CONT.
DBL PLATE

4x6 POST

=

¥2"@(A307)WELDED Al
@16"0.c.-TYPICAL

TS6x4xVs STEEL
TUBING RING

TS4x8x5/16

FP.
NCHORS A 316 TYP

TYPICAL EACH END

ROOF PLYWOOD

TSA4x8x5/16 iy ”
k Ye
TS6x4x" STEEL PLATE 3/8"x4
TUBING RING =B
I I 5
i PL 4"x4"x18" w/ !




WALL

TS 5x5x% COLUMN
PL. 7/8"x13"x13"(A572) F.P.
w/4-7/8"D (A325) 114"-4000 PSI NON-SHRINK
ANCHOR BOLTS LEVELLING GROUT
CONC. SLAB
2"
= -
24"
VIN. | 3#7CONT. PL. ¥5"x4"x4" EACH ]
-~ TOP & BOT. ANCHOR w/ DBL NUTS
N3
< o}
N i) 3




STUD
WALL
REF. |
(WHERE OCCURS)| - PLYWOOD FLR ,REF. \
1/2" CDX PLYWOOD W/ / \L
8d NAILS @ 4"-4"-12" I~
~ | A35PERSW SCH.
STUD [ 7N FJ. REF. 2x BLCKG
=
(WHERE OCCURS) =~ 2 BLEML
s i
g 2\ 2x BLCKG
|/ A35PER SW SCH. ‘
FJ. REF. \?VTAf_E
\?V';ULE LSU28 REF.
e, (WHERE OCCURS)
(WHERE OCCURS)
N

L pr 1l 3x8 CONT. LE
= 2 A



SIMPSON"A35"

2-SIDES

|

16x16 WOOD
PILASTER

7

POST

2x P.T. SILL PLATE
w. 2-BOLTS EA. PL.

N\

N
12"

- B
SHITIES L~ 16"%16" CONC.
24" A-#4 PIER
Aﬁ 3|
2'-6" SQ.
L u /
! /



PLYWD SW (WHERE OCCUR)
A.BOLTS PER SW.SCHED.

1/8" X 3" STRAP ON 4X BLKG

77 (SEE DETAIL 10SHEET S-5)
4xBLKGC. @48'0C, HD5A @ EACH SIDE
5 THK. SLAB-ON-GRADE ; STAGGARD @ 48" O.C.
Wik BARS © 16" O G EA. W/ 'A35 EA. END & oD @
WAY @ MID DEPTH. e (5) BAF.N, ATFLR - TYP.
fc=2,500 PSI (WHERE OCCURS) | | HIrG
Ia— | P V% HE 1l
I / )\
4xLEDGERW/ _ FLR JOIST
X -
ANCHORBOLT @ PERPLAN
. . 16" O.C.
' (6" MIiN. EMBED)
2%
MAX |~ "B" REINF.
"A“ REINF- ° e IICII REINF.




()

(DEPUTY INSPECTOR REQD FOR DBL HD)

DEEPEN
NEEDED
ACC

1-PHD6-SDS3
w/4x4 POST
(18 1/4X3 SDS SCREWS)

1-HDQ8-SDS3
w/4x4 POST

(20 1/4X3 SDS SCREWS)

2-HDQ8-SDS3
w/4x8 POST

(20 1/4X3 SDS SCREWS)

7/
A

FOOTING AS
LOCALLY TO
OMODATE SSTB

—\

7" MIN.

N

" M.B,
TM A307

A

jamal omn ﬁ"ﬁ‘

S98)

4x

2ND PHD &
SSTB28
WHERE OCCURS

PHD, REF.

(LARR#25300)
SSTB28

LARR#25248

CONC. FOOTING, REF.

1-3/4" MIN EDGE DIST.

31" MIN.
FOR SSTB A.B.

(SPL INSP.REQD)

28"

SECTION

ELEVATION




1-#4

8"CONC. CURB BEYOND

AT WALL. SEE
CONT. <W 9
CONC.
- SLAB
DRIVEWAY
T g
24" - CLRA? 24"
2-#5 CONT.
TOP & BOT. 11
DOWELS
@16"0.c.

# SEE PLAN J‘



O 1-PHD6-SDS3
w/4x4 POST

® 1-HDQ8-SDS3
w/4x4 POST

& 2-.HDQ8-SDS3
w/4x6 POST

A307 BOLT
WITH
A STD

HEAD&BOLT P BOLT PLATE B
& WASHER E

SEE
SCHEDULE

NOTE:

4x POST TO RECEIVE
WALL SHEATHING

EDGE NAILING

IF BOLT HEADS CAN
NOT PROTRUDE, ADD Z

A STUD OR USE A
WIDER POST AND
COUNTERSINK

MUST BE %

GALVANIZED &

SIMPSON PHD REF, OR EQUAL
SEE PLAN

SILL PLATE
CONC. SLAB

FLOOR
BOLT

BOLT
PLATE

SQUARE
WASHERS

7/8"D

A

" SQ., 3/8" THK. ‘

3"x3"x1 /4"

1. BOLT HOLES SHALL BE 1/16" MAX. OVERSIZED AT THE CONNECTOR OF THE

HOLD DOWN TO THE POST
2. HOLDOWN CONNECTORS SHALL BE TIGHTENED JUST PRIOR TO

COVERINGTHE WALL FRAMING.

3. WHEN 2-HD8A'S ARE USED, USE ONE §"x6"x12" PLATE WASHER.



1
13 PIPE

DIAMETER

ELBOW

SEE
ANCHORING

DETAILS

" ouTL
O
.
. APRC
7
\



5 THK. SLAB-ON-GRADE

w/#4 BARS @ 16" O.C. EA.
WAY @ MID DEPTH.
fc=2,500 PSI (WHERE OCCURS) |- T

PLYWD SW (WHERE OCCUR)
A.BOLTS PER SW.SCHED.

HD5A @ EACH SIDE
STAGGARD @ 48" O.C.
MAX. TYP.

(WHERE OCCURS)

"A" REINF.

8

2%1-

MAX.
TYP.

"B" REINF.
e "C" REINF.

4x SEC. ANCHOR@ 48' OC.
(WHERE OCCURS)



ROOF SHEATING

3x NAILER W/ 5/8"@ WELDED
THREADED STUD BOLTS W/NUT&

V\Q\SH ER@24"0.C.
=

2

ROOF JOIST
PER PLAN

SIMPSON HUTF
HANGER

TS BEAM, REF.

3X NAILER W/
5/8"@ WELDED STUD BOLTS

W/NUT&WASHER
@ 24" O.C. TYP.
2xTOP PLATE

11/2" MAX

2xSTUD



- 3X6 OR 2X8 STUD@ 16"0.C.
| WE-oayr.)
< PLYWOODSHEAR |
LWALL PER SCHEDULE |
>/ ORTYPEASW
|_
o =
2 CMST12@48"OC
“T2"MIN. —]
| CLEARANCE TO THE WALL (B.S.) |[——T1
M
L
\
PLYWOOD SHEAR 2X FULL DEPTH BLK'G
WALL PER SCHEDULE @ 48"0.C.
OR TYPE A SW ]
VERIFY ARCHITECTURAL

NOTE: HEADER NOT SHOWN FOR CLARITY



MST72 W/4x4 POST
(48-16d NAILS)

3-MST72 W/4x8 POST
(48-16d NAILS)

4x4 MIN.

PROVIDE 1" MIN.
END DISTANCE

EQUAL NUMBER OF
SPECIFIED NAILS

IN EACH END

o]
o} 9]
o

°/ END
°| LENGTH

2 c
o clo
o
ol 0
(¢ c
e o}

:°| END
»°|° |,°| LENGTH

MST72
LARR# 25119
(48-16d NAILS)



HANGER

FLOOR JOIST REF.

e \
= FLOOR BM, REF.

STUD WALL / / /
T 2

o

N
4X POST W/ C%\\ /‘ DEEATE




DOOR PAN

GAL. FLASHING

by |3'D?'EPTH DEX-O-TEX
B.N. LARR #2360
3/4" CDX PLYWOOD
R.R., REF. T & G, w/ 10d NAILS
| @ 4"-4"-12", Pl <24
| %
L A-35 PER SW SCHED /= —
E[ T R e T/ \ i
X[ 7
//\ TN
%/:27 "\ // \\\
=3 T
3x NAILER ~~

1/4"@x4" LAG SCREWS
@ 12" 0.C., STAGGD

STEEL FRAME,
' REF.

5/8"0) M.B. w/ WASHER & /N /N
NUT @ 12" O.C., STAGG'D /NN 3x NAILER

ATTACH 2x NAILERS TO OTHER
SIDES OF STEEL FRAME TO

RECEIVE DRYWALL/STUCCO. ATTACH
w/ 1/2"@ STUDS WELDED TO STEEL

@ 16" O.C., STAGG'D.




3X STUDS

WOOD BM,REF.
—dp 1%
SRS S
7=
More —

CMU BOND BEAM

3X PT SILL PLATE

MSTCM40 @ EVERY STUD
CMU WALL,REF.



|MIN. EDGE DISTANCE =13}"

HOLDOWN ANCHORS POST SCREWS

CONT.FTG.
REINF.NOT
SHOWN

POST
B.NLS. PHD5  SSTB24
SIMPSON HOLDOWN
Lec p/AYEOR PHD6  SSTB28
SIZE&TYPE o\ o
CONC.* ;
SLAB  20°8'@5/8"Q@
BOLTS
\ 2478 @7/8"D
N BOLTS

SIMPSON"SSTB24"
ANCHOR@ "PHD5"
SIMPSON"SSTB28"
ANCHOR@ "PHD6"&"PHD8"

14-SDS V2"x3"

18-SDS 74"x3"



CB44

CONC. PAD FOOTING
f'c=2,500 PSI

(SEE PLAN)
(E) SLAB-ON-GRADE

#4 REBAR DOWEL SET
IN SIMPSON SET EPOXY
@ 16" O.C., LARR #
25729, SP. INSP. REQ'D

1 8"

SEE PLAN




ROOF SHEETING

A-35

MANUFACTURED TRUSS OR
ROOF RAFTER
\

%

SR

///// CONNECTORS
BY OTHERS

WSP SHEAR LENGTH

BY OTHERS

WSP ABOVE
HARDY FRAME
BY OTHERS

Dy o

STRAP OVER
BLOCKING

s 1/4"@x3" HFS SCREWS

BY OTHERS

4x, 6x OR
‘ MULTI STUDS
PER PLANS

BY OTHERS

E
(OR EQUAL) PER SCHEDULE

CONNECTORS

HARDY PANEL

(E}

£ S e e '

SECTION ~ ~

Nl

3/4"@x10 A.B

H [T




MAT FOUNDATION, REF.

(FOR REINF. SEE PLAN)

24"

DRIVEWAY
WHERE OCCURS

18"

3-#6 ADDED BAR

2" SAND TOP & BOTT.
CUSHION

=) #5 @ 16" O.C.
6-MIL PLASTIC CONT. #5 BAR

SHT'G

12"




(E) FRAMING TO REMAIN

5/8"@ "J" BOLTS

@ 32" O.C.
PHD6 @ EACH SIDE
5"
8
4x LEDGER W/ WOOD BEAM PER PLAN
ANCHOR BOLT @
16" O.C.

(6" MIN. EMBED) EACH SIDE.

CMU WALL, REF.



3x NAILER

W/ 5/8"Q
THREADED WELDED 1/4" THK CAP PLATE
STUD BOLT o
W/NUTS&WASHER )
1Sl2l MIN 3x NAILER
CMST 12 EMB. e
CONTINUOUS WEL DED
STUD BOLT
\ LA le 18
Ax BLK'G
SIMPSON
HUTF HANGER
TS BEAM, REF
DECK JOIST P EEAM,

3/16

3/16

TS POST
SEE PLAN




CONC WALL.REF.

fm = 4,000 psi

SP. INSP. REQ'D.
(FOR REIN. SEE SCHED.)

MAT FOUNDATION, REF.
(FOR REINF. SEE PLAN)

40 D SPLICE

18"

1®

2" SAND
CUSHION

6-MIL PLASTIC
SHT'G

3-#6 ADDED BAR
TOP & BOTT.




: i
6inCMU W/ #4 @ 16.n = =
o/dm=1,500 psi) ¢ #4 HORIZ.BARS #24"
| OC .
: v
+ | #4 HORIZ.BARS #24"
8inMasw/#4 @ 16.nolc | . ~ OC 5
(fm=1,500 psi) .‘ N
.: Y |
° ° | ® ]‘ 4‘ 2\2
] o |
2.6 #4@ 16" E.W TOP
/ / & BOTT.
FTG
CONCRETE

(fc=2,500 psi)



2x STUDS @ 16" O.C.

(E) VERIFY

(E) 12"

PLYWOOD PER SHEAR
WALL SCHEDULE

3x4 SILL PL. (P.T.)

w/ 5/8"@ SET EPOXY

A.B. PER SHEAR WALL

SCH., LA.R.R.# 25279

MIN. EDGE DIST. 1-3/4",

MIN. EMBED. 5", SP. INSP.

REQD
4" THK, SLAB-ON-GRAD
w/#4 BARS @ 18" O.C. E

WAY @ MID DEPTH.
fc=2,500 PSI

E
A.

P

(N) 18"

DOWEL #4 @ 16" O.C.
5/8 HOLE GROUTED

2-#5 TOP.
#3 TIE@ 12" O.C.

2-#5 BOTT.

24"




CONC.POST REF,

(FOR REINF.SEE SCHED.)
W
MAT FOUNDATION, REF.
(FOR REINF. SEE PLAN)
[ ] [ ) [ ] ® [ ]
: [ ] [ ) ® [ ] ®
. 5-#6 BARS EA. WAY
2" SAND ©  fc=4,000 PSI
AV
6-MIL PLASTIC e an — i
SHT'G
L 40" SQUARE L




W, REF. r W OR C, REF.

T

MIN.

107
COPE FLANGE AS
REQUIRED
/

|

3/8" THICK "
STIFF. PL.

BALANCE OF INFO NOT SHOWN FOR CLARITY



6x12 W 5/8" @
BOLTS @ 16" (STAGG'D)

E.N.

E.N.

W 10x49

]



W 10x49

E.N.

3x4 W 5/8" &
BOLTS @ 16"




4#5 REBAR DOWEL , TYP.
w/ SET EPOXY , LARR #25279

MIN EDGE DIST. 1 3/4"
MIN EMBED. 5" SP. INSP. REQ'D.

(N) FOOTING , REF (E) FOOTING

SIDE VIEW

SECTION




SIMPSON SET
EPOXY

5-#5

REMOVE EXIST.
FTG. AS REQ'D.

W 10x49
i SEE [ -
[ N
L2 N
. j
| | ©Z
.
| | y
e 3"
COVER
I ¢ " (TYP.)
o 3 o o

SEE PLAN




4
W 10x49
1/25';',&(3152 P)I(_Agsl'E S I — SIMPSON SET
W 4-3/4"Q A.B. 114 APOXY (TYP.)
o/
]\
EXIST. b
e L _
DRYPACK
\ @ ® [ ) .J
SEE PLAN




Notes:

Design Loads
1. Live Load: Roof Load - 20 psf (Reducible)
Floor Load - 40 psf (Reducible)
2. Lateral Load: 2002 L.A.B.C. Seismic Design Criteria
per Geotechnical Engineering Report

Seismic Zone Factor 0.4(Zone 4)
Soil Profile Type S D
Seismic Coefficient Ca=0.55Na
Seismic Coefficient Cv=0.98Cv
Near-Source Factor Na=1.3
Near-Source Factor Nv=1.5
Wind Load gs=70 mph




10' MAX

2#6 DOWELS

CAISSON
10' MAX

2#6 DOWELS

10' MAX

2#6 DOWELS

DIAGRAM "X"



SHT'G

E.N. SHT'G TO BEAM
OR TO EACH JOIST

BEAM OR DBL. JOIST
(PER PLAN)

EQ.

EQ.

SIMPSON ST6236
W/16d NAILS

N

DBL. TOP PLATE

BEARING WALL

DRAG BEAM TO WALL (DBW)




LTP4 PER
S.W. SCHED.

P/W S.W.
WHERE
OCCURS

LTP4 PER
S.W SCHED.

CMST12

2-2xTOl
PLATE

DRAG STRAP DETAIL

2xSTUD

P/W S.W.
WHERE
OCCURS
2xBLOCKING
@ 32" O.C.

A35 PER
S.W. SCHED.

P/W S.W.
WHERE

OCCURS



2x BLOCKING MST27 e R

TO WALL

/
F
:

CMST12 (90" LONG, 45"

ON EITHER SIDE)
TIE STRAP (U.N.O.)

OR POST

PLYWOOD SHEAR
WALL, REF.

DRAG STRAP DETAIL



4X DRAG STRUT

2x BLOCKING MST27 PARALLEL

TO WALL

\ N
\ B
\ \
\
\ ~
Y

CMST12 (90" LONG, 45"
ON EITHER SIDE)

TIE STRAP (U.N.O.)

2x STUD WALL
OR POST

PLYWOOD SHEAR
WALL, REF.

DRAG STRAP DETAIL



MST 60

CMST12 (90" LONG, 45"
ON EITHER SIDE)

PLYWOOD DIAPHRAGM,

REF.
BLOCKING, REF.
DBL. TOP PLATES
w/ LTP4 PER
SHEAR WALL SCH.
ROOF/FLOOR
FRAMING, REF.
PLYWOOD SHEAR
WALL, REF.

DRAG STRAP DETAIL



MST27
CMST12 (90" LONG, 45"
ON EITHER SIDE)

PLYWOOD DIAPHRAGM,
REF.

BLOCKING, REF.

DBL. TOP PLATES
w/ LTP4 PER
SHEAR WALL SCH.

ROOF/FLOOR
FRAMING, REF.

PLYWOOD SHEAR
WALL, REF.

DRAG STRAP DETAIL



3x

2-20d @6" O.C.

2x

DBL. TOP PLATE

48" MIN. LAP

DRAG, TOP PLATE SPLICE (DTPS1)




OUTER 1/3 OUTER 1/3
OF SPAN i " OF SPAN
_ 21 MIN. CLR.
N N [
() ) 1/3 JOIST DEPTH MAX
2" MIN. CLR.
x BORE DIA. MIN. DR||_|_|[N—G
©
3 ##f NOTCHING
R [ ] \—liii

d
1/6d
1/6d

NOTCH MAX. 1/3d WITHIN d OF

SUPPORT ON TOP SURFACE ONLY

NOTCH MAX. 1/6d WITHIN

OUTER 1/3 OF SPAN

NO NOTCHES OR DRILLING MAY BE MADE WITHIN
MIDDLE 1/3 OF SPAN-NOR BOTH TOP & BOTTOM
SURFACES NOT BE NOTCHED WITHIN SAME 1/3 OF SPAN

NOTCH/BORE

% OF JOIST 2x6 2x8 | 2x10  2x12 @ 2x14
16 2/3% 7/8" 11/8" 11/2"  17/8" 21/8"
33 1/3% 11/4" 23/8" 3" 3 3/4" 4 3/8"

DRILLING & NOTCHING OF WD. JOIST (DNWJ)



40% MAX.
STUD WIDTH
NOTCH

60% MAX.
STUD WIDTH
BORE

NON-BRG. STUDS

5/8" MIN. EDGE
DISTANCE TYP.
ALL STUDS

EXT. & BRG. STUDS

O

NOTE:
NOTCH & BORING NOT TO OCCUR
IN SAME STUD
NOTCH/BORE
% OF STUD 24 2x6
25% 7/8" 13/8"
40% 13/8" 21/8"
60% 2" 31/4"

DRILLING & NOTCHING OF WD. STUDS

25% MAX.
STUD WIDTH
NOTCH

40% MAX.
STUD WIDTH
BORE

(DNWS)



6'-0" HIGH REDWOOD
BOARD ON BOARD

FENCE r—\‘ ‘!—\ — 1 r—\‘ ‘!—\

FLAIN 4 x 4 REDWOOD
POSTS (TYP.)

1 x 6 REDWOOD
AUl WL L b VERTICALS (TYP.)

2 x 4 RDWD.
L RAILS (TYP.)

6'_0"

GRADE

|
4" TOPSOIL
\ / FILL VOID AROUND

3'_6"

POST W/CONCRETE

ELEVATION
Wooden Fence Detall



6x6 Wood
Post

3/4" M.
Bolts

5/16" Metal
Plate

W12 x Steel
Beam =

.

5/16" Metal
Plate

3/4"
Bolts

6x6 Wood
Post

End Post Above & Below
(Metal Plate Connection)



WD BEAM,REF.

ECC,REF
(WHERE OCCUR)
4@{
s
4x POST
COL. SIZE CONN. END COND. CORNER COND. CROSS COND.
4x4 CC44 ECC44 ECC CCT, CCL
4x6 CC46 ECC46 ECC CCT, CCC
6x6 CC66 ECC66 ECC CCT, CCC

END POST BEAM DETAIL




WD BEAM,REF.

ECC,REF

4x POST

END POST BEAM DETAIL



o6x6 Wood
Beam

Simpson

ECCG66

6x6 Wood v
Post

/ \
V

End Post
(Wood Beam)



EN

SN

BN

{
[\
[ /
[

2x RIM JST

TOP PLATES
SPLICES PER
SCHED

EN

STUDS PER PLAN

FA AS REQD

2x BLKG @ 48"
BN TO BLKG

STUDS PER PLAN

PLATE

0" @ 2x
1/2" @ 3x
1" @ 4x

STEM WALL

Lo

6"

Exterior Footing W/Cripple wall

MIN




(2) 3/4" SSWAB

EXTERIOR INSTALLATION



(2) 1" SSWAB

EXTERIOR INSTALLATION



2x @ 16"

A 0.C
- .C.
C"\% Ig’lxt
C :’jj ate 5/8" Min.
C— 4" O0.C _ .
16d @ C\\) Light Weight
8" 0.0, C\/:j Concrete
-
2X @ Y
16" O.C. | |
|~ a4 =
\\) 2--2X"s
2 X Blocking @ 16" C:ZD
O C Q/)/*D . n
1 0 - Simpson A35 @ 32
2 X — 0.C.
Blocking C :% 2X Double
(/\/) Plate
Cj:’j 2X @ 16"
= O.C.

Exterior Wall --Overhavng joist parallel to wall
with Lt. Wt. concrete, metal shear resistance clips.




DRYWALL PER CODE

5" THK. SLAB-ON-GRADE
w/#4 BARS
WAY @ MID DEPTH.

18" O.C. EA.

v
MIN.

fc=2,500 PS
o

2" SAND &

CUSHION

6-MIL PLASTIC  «

SHT'G w

24"

PLYWOOD PER SHEAR
WALL SCHEDULE

(WHERE OCCURS)

3x SILL PL. (P.T.)

7/8" STUCCO PER CODE
FLASHING PER CODE

5/8"@ "J" BOLTS
PER S/W SCHD.

CONC. FOOTING w/ 4
CONT. #5 BARS
fc=2,500 PSI

EXTERIOR WALL FOOTING



2x STUDS @ 16" O.C.

3 x PLATE (P.T.)

3/4" T&G "CDX" PLYWOOD
w/10d NAILS @ 4"-4"-12"

2X BLCKG
FLOOR JOIST REF.

5/8"@ "J" BOLTS
PER SHEARWALL
SCHEDULE

1 8"

18"

IN EXISTING FOOTING,

USE 5/8"d A.B. w/ SET
EPOXY, ICBO 5279, MIN.

EMBED. 5", MI. EDGE

DIST. 1-3/4", SP. INSP.

REQ'D

N—

1 6"

PLYWOOD PER SHEAR
WALL SCHEDULE

7/8" STUCCO PER COD
RIM JOIST/CONT. BLOCKING
FLASHING PER CODE (TYP.)

16"x18" CONC. FOOTING

& 1-CONT. #5 BAR @ TOP
fc=2,500 PSI
STEM THICKNESS 8" MIN.

EXTERIOR WALL FOOTING



2x STUDS @ 16" O.C.

3 x PLATE (P.T.)

3/4" T&G "CDX" PLYWOOD
w/10d NAILS @ 4"-4"-12"

e
=+

FLOOR JOIST REF. @

MIN.

1 8"

5/8"@ "J" BOLTS
PER SHEARWALL -
SCHEDULE

IN EXISTING FOOTING,
USE 5/8"0 A.B. w/ SET
EPOXY, ICBO 5279, MIN.
EMBED. 5", Ml. EDGE

(N W
\_— |
=+

—
> |6
: MIN]

1 6" ‘J

PLYWOOD PER SHEAR
WALL SCHEDULE

7/8" STUCCO PER COD
RIM JOIST/CONT. BLOCKING
FLASHING PER CODE (TYP.)

16"x18" CONC. FOOTING

w/ 2-CONT. #5 BARS @ BOTT.
& 1-CONT. #5 BAR @ TOP
fc=2,500 PSI

STEM THICKNESS 8" MIN.

EXTERIOR WALL FOOTING



DAMPER SPECIFICATIONS
STEEL DAMPERS

FIREPLACE WIDTH STEEL DAMPERS
(INCHES) P = c o E
24 - 26 2825 2675 @ 13 24 9.5
27 - 30 3225 3075 13 28 9.5
31-34 36.25 3475 @ 13 32 9.5
35- 38 4025 13875 13 36 9.5
39 - 42 4425 4275 @ 13 40 9.5
43 - 46 4825 4675 @ 13 44 9.5
47 - 50 5225 | 50.75 = 13 48 9.5
51 - 54 56.25 @ 54.75 = 13 52 9.5
57 - 60 625 6075 13 58 9.5

CAST IRON DAMPERS

FIREPLACE WIDTH STEEL DAMPERS
(INCHES) P g ” 5 =
24 - 26 28 21 | 135 24 10
27 - 30 34 | 2675 | 135 @ 30 10
31-34 37 | 2975 @ 135 | 33 10
35-38 40 3275 135 | 36 10
39 - 42 46 3875 135 = 48 10
43 - 46 52 4475 135 | 48 10
47 - 50 575 505 135 | 54 10
51-54 64 | 565 | 145 60 @ 115
57 - 60 76 58 145 72 | 115

FIREPLACE DAMPER SPECIFICATION




FLAG POLE FOOTING DETAIL



Y

FLAGPOLE POST-FOOTING DETAIL



Y

FLAGPOLE POST-FOOTING DETAIL



Actual Wall
Thickness

/

Insulation Form

Concrete

VerticaI.WgII Reinforcement
A as require

Plan View
Flat ICF Wall System Requirements



1/2" CDX PLYWOOD W/
8d NAILS @ 4"-4"-12"

ROOFING MATERIAL
SEE ARCHITECTURAL

2x FACIA BOARD

2x BLCKG

STUD

WALL
REF.

FLAT RR - LEDGER CONN.DETAIL

A35 PERSWSCH. —

R.R. REF.
LSU28

2x10 CONT. LEDGER w/
2-1/4"x5" LAG SCREWS

PER STUD ON 2X BLCKG

2x BLCKG

STUD

WALL
REF.



BOLT

(USE ONE EACH SIDE

7 A A\ SEE DETAIL)

w =
O

SIDE VIEW

FLEX ELBOW DETAIL




Exterior finish &
underlayment as
req'd by code.

Subfloor extended
to outside of wall
panel. Nail to top

plate with 8d nails
at 12"o.c.,

staggered.

_

(
(—

— i

C—

)/

Gypsum wall
board.

16d Nails
board.

into floor joist as req'd by code.

11/2" staples @ 8d Nails or 14 ga.

0.C. each side
or equivalent.

Finished floor.

\_/,,////

Floor joist.

Joist hanger
with nailable top
flange.

Gypsum wall

Floor Joist Hanger and Wall



Joist Track

/ S Concrete Fasteners
= as Req'd.

FLOOR JOIST SUPPORT AT
CONTINUOUS WALL



Vi
7 # /]
=
5
@ @
¥
&
-
7 @
3
(3]
& L s
. T ¢
©
[y2]
® L
3 &
S
z
A @
S
[y2]
L/
/ /
Al SPACING PER PLAN
N

NOTE: SPACE PANEL END AND EDGE JOINTS 1/8". REDUCE SPACING BETWEEN LINES OF NAILS
AS NECESSARY TO MAINTAIN MINIMUM 3/8" FASTENER EDGE MARGINS, MINIMUM SPACING
BETWEEN LINES IS 3/8".

3/4" FLOOR/LOW ROOF SHTG. PANEL JOINTS




SOLID UNCUT 2' x 4" Ledger
STRINGER
ALONG WITH Rl
CUT STRINGER ~

(OPTIONAL)

Double Joists

Header

JOIST PARALLEL
TO STAIRS

FLOOR OPENINGS



S~ A
Gyp. Board %
Insulation as Req. =
2x4 Sole Plate w/Studs @ 16" 0.C. ><)
Ne—"N
Flooring & Base 7] \>j
j| ==
SubFIr/Underlay =\
&=
2X10 JOISTS _—
=<
DBL 2x4 Top Plate & Studs @ 16" =
0.C. ——

- L L L& L 5L — L

Siding

Infiltration Wrap

Wall Sheathing

Rim Joists

2x4 Nailer

FLOOR: 2X4 w/ SIDING



2x STUDS @ 16" O.C.

A35 PER SW SCH.

3/4" CDX PLYWOOD
(T & G) w/ 10d NAILS @

4"_4"_1 2"

PLYWOOD PER SHEAR
WALL SCHEDULE

(WHERE OCCURS)

=l 2X RIM JOIST/CONT. BLOCK'G

RR/FJ,REF.

DRYWALL PER CODE

12"min.

FLOOR/ROOF JOIST SPLICE DETAIL



GALV.

FLASHING
BUILT-UP B.N.
ROOFING
A [\
A
R RE: FLUSH BEAM 2x LEDGER w/ RJ., REF.
(SEE PLAN) 16d NAILS @ 4"

O.C. STAGG'D

FLUSH BEAM-FJ DETAIL




POST,REF.

\
WIDEN GRADE BEAM I
TO ACCOMODATE 3/4"@0 'J' BOLT
BASE PLATE AS 4 TOTAL
NEEDED
20"

(N) CONC. GRADE
BEAM & FOOTING REF.

#5 BARS EA. WAY, REF.
f'c=2,500 PSI

SEE PLAN

SOME INFORMATION NOT SHOWN FOR CLARITY

FOOTING DETAIL



POST,REF.

gy
WIDEN GRADE BEAM o
TO ACCOMODATE 3/4"@'J BOLT
BASE PLATE AS 4 TOTAL
NEEDED
1|_6||

(N) CONC. GRADE
BEAM & FOOTING REF.

#4 BARS EA. WAY, REF.
. f'c=2,500 PSI

m
S
L
Z
=

Y 3

N N\

]\

PROVIDE 1" DRYPACK UNDER BASE PLATE.
SOME INFORMATION NOT SHOWN FOR CLARITY

FOOTING DETAIL



POST,REF.

o @ #3 @ 8" 0.C. STIRRUP
MIN’ Ki
A% L
- m\n_ 3 4
Sla ‘
S . .
=
| = 5 CONT. #5 BARS
3 £ TOP & BOTT.
N
® O B @
| CONC. GRADE BEAM

(N)
f 3,000 psi, SPL. INSP. REQ'D.

PROVIDE 1" DRYPACK UNDER BASE PLATE.
SOME INFORMATION NOT SHOWN FOR CLARITY

FOOTING DETAIL



1/4"

CONC. PAD FOOTING
fc=2,500 PSI

1/2"BASE PLATE & 2-5/8 "DIA. A.B.
(E) SLAB |

127

18" SQ PAD.
S—#4 BARS E.W.

FOOTING DETAIL



POST,REF.

BASE PLATE PER DETAIL
W/ 4-3/4"@ DIA. A.B.

o @ #3 @ 8" 0.C. STIRRUP
MIN Ki

18"

3" CLR
TY

6-CONT. #6 BARS
TOP & BOTT.

18"

) CONC. GRADE BEAM
3,000 psi, SPL. INSP. REQ'D.

(N
f&

SEE SCHED.

PROVIDE 1" DRYPACK UNDER BASE PLATE.
SOME INFORMATION NOT SHOWN FOR CLARITY

FOOTING DETAIL



POST,REF.

"\
WIDEN GRADE BEAM -
TO ACCOMODATE 3/4"a"'J BOLT
BASE PLATE AS 4 TOTAL
NEEDED
e (N) CONC. GRADE
BEAM & FOOTING REF.
+ + #5 BARS EA. WAY, REF.
fc=2.500 PSI
R s
™ \I\

SEE PLAN

SOME INFORMATION NOT SHOWN FOR CLARITY

FOOTING DETAIL



POST,REF.

BASE PLATE PER DETAIL 4 ON THIS SHT
W/ 4-3/4"@ DIA. A.B.

6 #3 @ 8" 0.C. STIRRUP
N

MIN.

18
Ay

T 1R,

3"CLR

4-CONT. #5 BARS
TOP & BOTT.

18"

(N) CONC. GRADE BEAM
f £3,000 psi, SPL. INSP. REQ™D.

,  SEEPLAN

’ ’

PROVIDE 1" DRYPACK UNDER BASE PLATE.
SOME INFORMATION NOT SHOWN FOR CLARITY

FOOTING DETAIL



40 BAR DIA.

/] /]

LAP

40 BAR DIA.

7 /]

LAP

g\ I D.\
25 1%
S - REINF. i
PERFLAN CORNER BARS
S TO MATCH
PLAN VIEW, 1 TOP BAR HORIZ. REINF.
40 BAR DIA.
LAP
2 |1 ZJNE 5
=5 S < <
=) &
F REINF.
PER PLAN
By N N

PLAN VIEW, 2 TOP BARS

CORNER INTERSECTION ALT. CORNER

FOOTING REINFORCEMENT LAYOUT (FRL)



.

. LENGTH
=
PLATE WASHER
HEAVY HEX NUTS T 134" x 13147 x 114"
\ i} |
D
FOR 12" WIDE

STEEL STRONG-WALL MODELS

MODELNO.  DIA.  LENGTH
SSWAB3/4x24 3/4" 24"

SSWAB3/4x24HS 3/4" 24"
SSWAB3/4x36HS 3/4" 36"



DIAMETER

LENGTH i
HS ON HIGH — - HEAVY HEX NUT
STRENGTH MODELS ~" FIXED IN PLACE ON
~—  ALL SSWAB ANCHOR BOLTS
PLATE WASHER —
2-1/2" x 2-1/2" x 3/8" =

HEAVY HEX NUTS

/
\

/
M[

FOR 15", 18", 21", AND 24" WIDE

STEEL STRONG-WALL MODELS
MODEL NO. DIA. LENGTH
SSWAB1x24 1" 24"
SSWAB1x24HS 1" 24"
SSWAB1x36HS 1" 36"



PROVIDE (TYP. EA. SIDE) 2-2X
RAFTERS WHERE 1 RAFTER SPAN
IS INTERUPTED BY OPN'G. 3-2X
RAFTERS WHERE 2 RAFTER SPANS
ARE INTERUPTED BY OPN'G.

]

2-2X HDR

3 SPACES (MAXIMUM)

STD. APPROVED

AN DBL. JST. HGR.

NG SPECIFIED SHT'G
BDRY. NAILING STD. APPROVED
ALL AROUND OPN'G JOIST HANGER

FRAMING AT ROOF OPENINGS

(OPNG-1)



SN

BN

B
N
4" MAX
MATCH
WALL
BELOW
4" MAX
s
EN

EN

BRACE
PER
PLAN

FA PER
SCHED

TOP PLATES
SPLICE PER

Gable End Truss Over Shear Wall

TRUSS



20-GAUGE GALV.
STEEL FLASHING

3" LIGHT WEIGHT CONCRETE

3/4" CDX PT PLYWOOD w/
10d NAILS @ 2"-4"-12" (P.T.)

FLOOR JOIST
REF. 5

3x4 SILL PLATE
P.T., w/"J" BOLTS
(OR LTP4'S)

PER SHEAR WALL
SCHEDULE

GRADE BEAM, REF.

WHERE OCCURS
CMU WALL SIMILAR

w—

7/8" STUCCO PER CODE

WEEP SCREED
MIN. 6" CLEAR TO GRADE

CONC. GRADE BEAM REF.
REF.

FINISH GRADE
WHERE OCCURS
6" MIN. CLR.
REQUIRED

GARAGE FLOOR



SLAB-ON-GRADE,
REF.

DRIVEWAY
/K\\ WHERE OCCURS
1'-6"

[

12"

12“

CONC. FOOTING w/ 3
CONT. #5 BARS

fc=2,500 PSI

GARAGE GRADE BEAM



HEADER AND POST
41k - BY OTHERS

HEADER BY OTHERS

JLIH T 3 1/8" MIN. WIDTH
10D COLUMN BASE

DETAIL BY OTHERS

STEEL STRONG-WALL AT GARAGE

ENGINEER OF RECORD IS PERMITTED TO
MODIFY DETAILS FOR SPECIFIC CONDITIONS.

GARAGE WALL OPTION 1



SHEAR TRANSFER
BY OTHERS

HEADER BY OTHERS
3 1/8" MIN. WIDTH J (I

STEEL STRONG-WALL AT GARAGE

NOTE:
STEEL STRONG-WALL NOMINAL 7FT. HEIGHT WALLS ARE 80",
2" TALLER THAN ORIGINAL WOOD STRONG-WALL SHEARWALLS

GARAGE WALL OPTION 2



SILL PLATE, REF.

CONC. FOOTING, REF.

GH48-8

GIRDER -WALL FTG DETAIL



3|_6ll

2"x6" TUBE

1.1/4"x1 1/4" TUBE
@4 Il

GLASS PER ARCH.

11/ "x1 1/ " TUBE
4'-0" MAX. (TYP.)

BENT 8"x4"x1/4" ST. PL.

w/4 3/8"D x 3" LONG
LAG SCREWS

1/8"

WOOD BEAM, REF.

GLASS RAILING DETAIL

4l_0ll




STEM WALL
WHERE OCCURS
‘o\ . ° ®
| GRADE BEAM 3
REINF. iz
PER PLAN 0|3
o o
>
( [ ] [ ] J (D &
i
o g &
GRADE BM.
PER PLAN
SECTION
NOTES:
1. SEE PLAN FOR GRADE BEAM REINFORCING &
DIMENSIONS.

2. ALL GRADE BEAMS SLOPING MORE THAN 10%
SHALL BE STEPPED PER THIS DETAIL

GRADE BEAM SECTION



4|_0ll

6'_0"

3'_6"

.
6" GUARDRAIL
(SCH. 40)
CONCRETE
FLOOR
2o <
</
6"6"6"  ENCASE W/ CONCRETE
(TYPICAL)

GUARDRAIL DETAIL



HOT WELD
LAP EDGE
SEALANT

METAL EDGE

LAP EDGE
SEALANT

FASTENED
4" O.C.

GUTTER DETAIL

=

A

11/2"

GUTTER



Handrail Return Beyond

e e
o \\
1 1/2" Diameter Piperail // \—
(1 1/4" Min. Diameter) | | |
/ (Absolute)
NP
e /|
Handrail Support .
at Abrasive--Free 2
Wall Surface -
) -

1/8" Min. Radius Edge

HANDRAIL RETURN AT WALL



EDGEDIST.  BRACE FRAME OR POST
WASHER AND NUT, SNUG TIGHT
. 1/4‘ b (USE MOISTOP, 15# FELT OR
RECOMMENDED L0 EQ\UIVALENT)
(23/4" @ 3/4" AB.) ¥ 1
N \\\‘\ %
{ \
o W
b £
L \\;\
s ALL THREAD HOLD DOWN BOLT
WITH 1/2"x3" SQUARE PLATE
WASHER W/DOUBLE NUTS, OR
SEEPLAN  TACK WELDED TO BOTTOM OF ROD
#~—EMBED DEPTH PER PLAN

HARDY FRAME PANEL: EMBED SCHEDULE

HARIRAME PANEL,

INSTALL STANDARD, ROUND, CUT-

MOISTURE BARRIER RECOMMENDED

U ‘ NO BEND IS REQUIRED ON BOLT

H ' WHEN EDGE DISTANCE AT TOP OF
| CONCRETE IS 4x THE BOLT @ (MIN)
3 1/2" FOR 7/8"@ BOLT

4 1/2" FOR 1 1/8"@ BOLT

FUBED 0L FMBED | EMBED  |EDGE & END|EBGE & END

TYPE UPLIFT DIAMETER ROM T.0. FROM T.O. DISTANCE |DISTANCE AT
- o FOOTING | CONCRETE | AT FOOTING |FINISH/CONE.

P—A 13,000 7/8" 5’ 17" 116 €|

P-B 15,333 7/8" 6” 21" 6 106"

P—C 20,00 1-1/8" 7 24" 7 16"

P-D 23,500 1-1/8" 8” 8" 106"

P—E 75,333 1-1/8 8 25 3 116

NOTE: INTERIOR CONDITION SIMILAR

HARDY FRAME @ EXT

. FOOTING



CUT WASHER & NUT
TIGHTEN FRAME END BOLTS
SNUG-TIGHT WITH NO SPACE
F'EEHE BETWEEN FOUNDATION,
3/4"@ ANCHOR BOLTS - AND HARDY FRAME
W/CUT WASHERS 7/8"3 ALLTHREAD ROD ( T AND COMPLETE WITH ONE Tm’r
8" MIN. EMBED. INTO FTG. !
|
|

PLATE WASHER Ll
| ANCHOR BO
i PER MANUF l';r'ﬁ-'- TURN.

A
A
/

1 N € ST
: | 15° G b ‘
C ”: C L = F | . [ .7
= & A—Sj - ADDED #4 BARS = e IN FOOTING.
B S — * - %;05 Ly R L _’ ’
] : L WALL FTG. OR CONC. 2 L]
Larglr (1 et K. STEM WALL PER PLAN |3 T ——
TYP. o CLR. MIN. : A
BEND 15° AT EXT. FTG. —— CLR.
AF-{OD gng g}l)AsLlﬂ(B)ENND OR STEM WALL PER PLAN
BOT.PLATWALLCL. SECTIONa-a A SECTION a-a
D TOP & BOTTOM REBARS EXTENDED EXTERIOR FOUNDATION/WALL INTERIOR FOUNDATION

A B

HARDY FRAME BOTTOM CONNECTION

HARDY FRAME FOUNDATION



STRAPS ARE RECOMMENDED FOR CONTINUOUS
HEADER CONDITION.
WHEN WELDED BY MANUFACTURER, STRAPS

. ARE 14 GA x 2 -1/2" AND ARE ATTACHED WITH A
. FILLET WELD.

| WHEN APPLIED IN THE FIELD,ST6224 éOE EQUAL)

" MAY BE ATTACHED WITH 10-#10x3/4" SELF
FULL DEPTH HEADER OR TAPPING SCREWS.
WITH CRIPPLES ABOVE PER PLANS BOTH STRAP TYPES ATTACHED TO HDR w/14-16d
TOP PLATES
i 1/4"x3: HFS SCREWS
Tl sEe (OR EQUAL) PANEL
| TO HEADER
ADJACENT FRAMING WITH HFS
ANEL  SCREWS (OR EQUAL) RECOMMENDED
: BUT NOT REQUIRED HF PANEL
- 2x TREATED
BOTTOM PLATE
| TOP OF SLAB

I

"
[,

NOTES:
MODEL NUMBER HF8x12 7/8 IS A NET HEIGHT OF 96-5/8" FOR 8'-0" DOOR OR WINDOW
OPENINGS. INSTALL PANEL ON CONCRETE OR FURR HEADER DOWN AS REQUIRED

HARDY FRAME PANELS WITH CONTINUOUS HEADER



MST27

PLYWOOD DIAPHRAGM,
REF.

DBL. TOP PLATES

PLYWOOD SHEAR

WALL, REF.

4X,HDR

2X MULTI STUD

HEADER DETAIL



E’A‘T

| S S s

2X CRIPPLE STUDS

HEADER

==

——— 22—

R

B 0

(]

—

AR 3

2-2X OR 4X STUDS

HEADER DETAIL

- JV/,/%"‘,\”}/\
- ——— 0

Ve

-

SHEAR WALL WHERE OCCURS



N\ o\
% =
//

| -/

e’%” //
\\ \/\‘\ S = ——d

\\\ \\

\\}‘-.\L\

yip BM REF-



HSUR/L 4.12/16 SKEWED HANGER

HIP BM,REF.

RR,REF.

HIP DETAIL



§§
\/'&

HCP

HIP DETAIL



ROOF BEAM, REF.

SUR, REF.

HIP BEAM, REF.

HIP DETAIL

N\

4x4 KING POST BELOW
REST ON C.B. BELOW
w/CC44 TOP & BOTT.

SUL, REF.

HIP BEAM, REF.



4x POST, REF.
PHD, REF.
7/8"3 M.B. w/
WASHER & NUT
) I=
[ i
N 1 « 7 bolt dia.
2ND FLOOR /
SHEATHING, REF. v
y rﬁ@@
\ WD BEAM.REF.
T

HOLD DOWN @ WOOD BEAM FLOOR



WOOD BEAM, REF.

HOLD DOWN BETWEEN FLOOR

4x4 MIN. SIMPSON MST72
LARR# 25119
PLYWOOD SHEAR
WALL, REF.
L
X ///////
— =
B o ////
/ =
/// //;///
SIMPSON MST72 == il
LARR¥ 25119 = 7

WOOD BEAM, REF.



MST72 Wi4x4 POST
(48-16d NAILS)

2-MST72 W/4x6 POST
(48-16d NAILS)

AT
4x4 MIN. END
LENGTH
e
B e ==
\\\\\\ L ///// —
= ////
s CLEAR
N LE
: PAN
’//S
/ ///
/
S
A
}; \ / e
\ L END
7y LENGTH
PROVIDE 1" MIN.
END DISTANCE
EQUAL NUMBER OF
SPECIFIED NAILS
IN EACH END
MST72
LARR# 25119

(48-16d NAILS)

HOLD DOWN BETWEEN FLOOR



1-PHD6-SDS3

w/4x4 POST
(18 SCREWS)

®  |_HDQ8-SDS3

w/dx4 POST
(20 SCREWS)

.. 2-HDQ8-SDS3

w/4x6 POST
(20 SCREWS)

DEE
NEE
ACC

PEN FOOTING AS
DED LOCALLY TO
OMODATE SSTB

4x POST

2ND PHD &
SSTB28
WHERE OCCURS

PHD, REF.
(LARR#25300)

SSTB28
LARR#25248

T (SP. INSP. REQ'D)

——

31"

;

<l

CONC. FOOTING, REF.

ELEVATION

HOLD DOWN DETAIL

I
1-3/4" MIN EDGE DIST. z
L

_SECTION



() 1-PHD6-SDS3

w/4x4 POST . 4x
(18 SCREWS)
" R
W/4X
(20 SCREWS) WHERE OCCURS
2-PHD8-SDS3
w/4x8 POST )
(20 SCREWS) f—
N 1
Z
= PHD, REF.
~ (LARR#25300)
SSTB28
A 4 LARR#25248
ICBO APPROVED l
COUPLER i 5
| | w
H | 2 2
O w
| 28
pd R [
: k
» =
o J u O =
N & @
2/ L 2\ S

DEEPEN FOOTING AS
NEEDED LOCALLY TO
ACCOMODATE SSTB

ELEVATION

HOLD DOWN DETAIL

SECTION




END STUD TO COVER
BOLTS AS REQ'D. MINIMUM END MEMBER

||

HOLDOWN MAYBE
PLACED ON EITHER
SIDE OF POST PER MANUFACTURERS SPEC:!

U)

]
s 8 3 s & i3
I & & a aad ROD PER SCHEDULE
I = I\ I = I I\ ‘ ‘ ‘ _
| L 674 OPTIONAL COLD JOINT | SILL PLATE
S g H 4 rFE SLAB
USE FORM BOARD @ SIDE OF FOOTING
ELSE PROVIDE MIN. 3 OF CONC. COVER /) —
3" MIN. A
3/4"x4"x4" PL. | | de @ Wi
W/ NUT TO ROD ‘ Sk OUT COLD JOINT
‘ > de %W/
OFFSET PER PLAN b e 5" de EOL V‘\J[?INT
3 TYP. @
WHERE OCCURS OF ET
6 DIA. BOLTS

HOLD DOWN "HD" INSTALLATION



BN TOP PLATE N
SIMPSON "ST-22"
Wi W/ 4-16d EA. SIDE |
L AND EA. END 1]
z |- 3
= I
> W B
_ 1y | S N i
Wi USE WHERE HOLE
MAX, EXCEED W/3
OVERSIZE HOLES IN
TOP PLATE

NOTE: NOTCHING OF STUDS OR
TOP PLATE NOT PERMITTED

WITHOUT WRITTEN PERMISSION
OF ARCHITECT.

HOLES IN STUDS AND TOP PLATES (DT27)



HOOKED BAR DEVELOPMENT LENGTH (Ld) SCHEDULE
(INCHES)
BAR ALL MEMBERS U.N.O.
SIZE Fc'=3000 Psi Fc'=4000 Psi
#3 9 8
#4 11 10
#5 14 12
#6 17 15
#7 19 17
#8 22 19
#9 25 22
#10 28 24
#11 31 26
NOTES:

Ld

qr /2'MIN.

242"
h MIN. COVER

. EA. SIDE
8 F BAR

1. THESE DEVELOPMENT LENGTHS APPLY TO REGULAR WEIGHT
CONC., MULTIPLY THE SPECIFIED DEVELOPMENT LENGTH
BY 1.3 FOR LIGHTWEIGHT CONCRETE.

2. REFER TO SECTION FOR ADDITIONAL REQUIREMENTS FOR
"ALL OTHER MEMBERS".

3. BARS NOT MEETING COVER REQUIREMENTS USE 1.25 x (Ldh)

HOOKED BAR DEVELOPMENT



B.N. 3x NAILER W/ 5/8" @

AB @ 24" O.C. (PT)

> — T <

4x LEDGERW/ . FJ (SEE PLAN)

e it i . HUTF (TYP.)

(5" MIN. EMBED)  EACH SIDE.

#4 @ 24" O.C.
HOR. 8" CMU FULLY
. GROUTED
fm=1,500 psi
#5 @ 16" O.C.
VERT.
(2#5 JAMB BARS) /\,

INTERIOR CMU WALL/FLOOR JOIST DETAIL



0" @ 2x
1/2"@3x
1"@4x

2" MAX

EN

STUDS PER PLAN

PLATE, AB & PLATE
WASHER PER SCHED

SLAB & BASE COURSE
PER PLAN

Interior Footing




(2) 3/4" SSWAB

INTERIOR INSTALLATION



(2) 1" SSWAB

INTERIOR INSTALLATION



SEE

PLAN 1/2" PREMOULDED
EXPANSION JOINT
SEE PLAN
FOR
' |
Z b X X X X1
©=
Y
i i
O |
)
L ) @
‘ #
3" CL. N N B 3" CL.
INTERIOR MASONRY

TYPICAL MASONRY BEARING
WALL FOOTING DETAIL



STUDS PER PLAN

SN PLATE
BN
N 2x SOLID BLKG
W/FA PER SCHED
TOP PLATES
JOIST EN
SPLICE PER
SCHED

Interior Party Shear Wall W/Blocking



— N\

#4 REBAR DOWEL SET
IN SIMPSON SET EPOXY

16" O.C., ICBO NO.
R-5729, SP. INSP. REQ'D

(E) SLAB-ON-GRADE

STUD WALL, OR
PLYWOOD SHEAR WALL

(WHERE OCCURS)

3x4 SILL PL. (P.T.)

12"

\J /

12"

5/8"@ "J" BOLTS
PER S/W SCHD.

CONC. FOOTING w/ 3
CONT. #5 BARS

f'c=2,500 PSI

INTERIOR WALL FOOTING



(N) 4x4 POST

(E) FRAMING @ (N) HD5A, w/5/8"3 A.B.
REMAIN & SET IN SIMPSON SET EPOXY,
ICBO#ER5279, SP. INSP. REQ'D
MIN. EDGE DIST. 1-3/4", MIN.
EMBED. 5"

(E) OR (N) SOLID BLK'G

(E) CONC. FOOTING

INTERIOR WALL FOOTING



4" THK. SLAB-ON-GRAD
G

w/#4 BARS @ 16" O
WAY @ MID DEPTH.
fc=2,500 PSI

E
A

STUD WALL, OR
PLYWOOD SHEAR WALL

(WHERE OCCURS)

3x4 SILL PL. (P.T.)

18"

1 6"

5/8"@ "J" BOLTS
PER S/W SCHD.

CONC. FOOTING w/ 4
CONT. #5 BARS

fc=2,500 PSI

INTERIOR WALL FOOTING



2x STUDS @ 16" O.C.

3 x PLATE (P.T.)

3/4" CDX PLYWOOD w/10d
NAILS @ 4"-4"-12"
PANEL INDEX <= 24"

FLOOR JOIST REF. ®

MIN.

1 8“

5/8"@ "J" BOLTS
PER SHEAR WALL -
SCHEDULE

1 6"

PLYWOOD PER SHEAR
WALL SCHEDULE

CONT. 4x BLOCKING

16"x18" CONC. FOOTING

& 1-CONT. #5 BAR @ TOP
fc=2,500 PSI

STEM THICKNESS 8" MIN.

INTERIOR WALL FOOTING



D
16d @ 8" (= . .
0.0, Q\j 2X 's @16"0.C.
2 X Cs/‘) 2 X Plate
Blocking C\\D Lap Joists
N
I
: \/) 4--10d's
LT Weight (=
Concrete L\D 5/8" Plywood
>
\ °
2X10's @ \(/
16" O.C. \
[ ]
\\//
//\\
2 X Blocking 2 X 14's @ 16
IS "
) O.C.
/‘\‘»\/
Simpson \/j/\/
A35F @ 32" - i Simpson A35 @ 32"
OC (‘\\-‘,\,/ OC
IR
——
) 2 X 6 Double Plate
- —
2 X Continuous ¥/"”’D
I
o) 2X6's@ 16" O.C.
e
ke
V

Interior Wall--Unequal joists




2 #10 Screws @ 16" O.C.

Clip Angle, 1/2" less than joist depth (screw as req'd)

Joist & Track Header

JOIST HEADER TO FLOOR
JOIST



PARALLEL TO
JOISTS

Double Joist

16d Staggared 6" 2"x 4" Ledger
0.C.

3-20d
Double Header

20d

o 1,

Double Joists

Double Header

JOISTS PARALLEL TO STAIRS



12"

1-1/2" TYP.

12"

1-1/2" TYP.

STEEL PIPE, REF.
1/2" THICK STEEL PL.

3/4" @ 'J' BOLT (TYP.)
9" MIN. EMB.

BASE PLATE

KICKER BASE PLATE DETAIL



Gypsum wall

board.
Finished flooring. T Gypsum wall
— board.
f‘”, ~ j);
Subfloor ) —
il
N =
/N T ]’\ —
b ] :J‘ - x|
/ —
Floor truss. —
I’_’f; Concrete slab.
Concrete or Masonry = i
foundation wall. p IR //
p— 7/
Concrete slab. g g
/
)¢
@ 4

Knee Wall Framing--Truss



NOTE:
FOR TREAD AND RISER DIM'S.

SEE PLANS/SECTIONS

1 1/2" NOMINAL STEEL PIPE
HANDRAIL. GRIND ALL WELDS
SMOOTH - TYPICAL

REFER TO STRUCTURAL
DRAWINGS FOR CONCRETE
DIMENSIONS AND REQUIRED

! 3/4"R
K

SET POSTS IN SLEEVES W/ \ j
- |

NON-SHRINK GROUT \

ABRASIVE CAST SAFETY
NOSING (TYPICAL)

LANDING AT CONCRETE STAIR




A 1/2°

LINE OF WALL

MC 12x10.6

3" CONCRETE FILL

N\

N

3"/ 4" %

e

N

2" 3"

N

3"x3"x1/4" STEEL ANGLE
CONT. BETWEEN C3x4.1
CHANNELS. WELD TOP
AND BOTTOM

C3x4.1 CHANNELS AT
1'-0" O.C.. WELD ALL
EDGES OF CHANNELS
AT EACH END

LANDING AT STEEL STAIR
SECTION



Mirror N
Te
S
o0
o) >
= - @
E g =
D ~ > =
x 0 = T
<§°“5 o Insulated Drainpipe/Hot O
£ 3 W ;
: £ ater Supply =
ﬂ-% (?) ry " e E
o R\ 5" Min Base =
o 9" Min. X

LAVATORY SECTION--WALL HUNG



FACE OF THE WALL
3/16" i 3/8"x6"x10" PL.

[ 1l
& y <4" CLR. MAX. (TYP.)

2"x6" TS, ATTACH TO WALL
FRAMING w/ 4-1/4"@x3-1/2" LAG
SCREWS TO (N) 4x SOLID BLK'G

%\l 4x RIM JOIST, SIMTO
BAL NY FLOOR

4 1.1/4"x1 1/4" TUBE

i @ 4'-0" MAX
; 1/2'x1/2" » BAR
@4"O.C.

1 1/4"x1 1/4" TUBE

3'_6"

CMU WALL

.

H SO

,

1/8"

1/4"X4X4 BASE PLATE
W/4-1/4"0 A.BOLT (4" EMB.)

SPECIAL INSPECTION REQUIRED FOR ALL FIELD WELDING

LIGHTWELL RAILING DETAIL



CMU RETAINING ®
WALL (fm - 1,500 PS
SPECIAL INSP. REQD.

—
N’

FULLY GROUTED
#5 @16"0.C. VERTICAL BARS
WATERPROOFING
MIRAFI MOIST.PROT. |
LARR#24783 “T"YA%‘ #4 @ 24"0.C. HORIZ BARS =
=
3/4"GRAVEL CMU RETAINING
PER SOILS B | WALL (fm - 1500 PSI)
REPORT BRI SPECIAL INSP. REQD.

FULLY GROUTED

o

#8 @8"0.C. VERTICALhEARS

LAP SPLICE TYP.
40d

T

i ONC. FTG.
& ' | J 8‘0 =%503(|§>S|)
L; . .
|
| #5 @ 16" O.C.
DOWELS TO , TOP & BOTT.(E.W.) &
MATCH WALL s TYP.
REINF. :
CONT. #5 BAR 12
3-6™

LIGHTWELL RETAINING WALL



RAILING
(3 SIDES)

36"

2
32

CMU RETAINING
WALL (fm - 1,500 PSl)
SPECIAL INSP. REQ/D.

FULLY GROUTED
#5 @16"0.C. VERTICAL BARS
WATERPROOFING
MIRAFI MOIST.PROT. )
‘ A

3/4" GRAVEL HEEE CMU RETAINING
PER SOILS : A~ o WALL (fm - 1500 PSI)
REPORT, ] | SPECIAL INSP. REQD.

- FULLY GROUTED

=}

#8 @8"0.C. VERTICAL E')BARS

LAP SPLICE TYP.
40 d

"gs PEREORATED bv vse 08
E S ’ T~ 1 1
. I . . NG, FTG.
IR (e~ %500 Bsi)
‘L oot R BT ) [ ] [ ]
. #5 @ 16" O.C. :
&%ﬁﬁh’;’ﬂ 1 TOP & BOTT (EW.)
CONT. #5 BAR | S
3-6™

LIGHTWELL RETAINING WALL



Water Proofing
(Mirafi 140N or equal)

3I_O||

‘#5 BAR @ 16" O.C. ||

|
=T,
8 in Mas w/ #5 @ 16" o/c "o
(fm=1,500 psi) : i
+| #4 HORIZ.BARS #24"
"l  4"@PVC PERF. PIPE onh 12"
FTG CONCRETE . ”; SQ 3/4"GPEA GRAVEL
(fc=2,500psi) O 'y ,
PRI b
. 2TTYP. . ﬁ J A
X
3-0" 5@ 16" E.W TOP &
_ _ OTT.
8 in Mas w/ #5@ 16.in o/c y #4 HORIZ.BARS #24" =
(fm=1,500 psi) oC e
Water Proofing
(Mirafi 140N or equal)
r
1| #4HORIZ.BARS #24" ! 5
OoC
o 2 3/4"

#4 HORIZ.BARS @24"
oC
8 in Conc. w/ #5 @ 8.in o/c
(fm=1,500 psi)

4"@ PVC PERF. PIPE on 12"
SQ. 3/4"GPEA GRAVEL

20"

CONT. #5 BAR

o ‘ r
£ [ ] =3 = ’L - [ | .’ 0 :i
4" TYP. A % ]
’ | 24" TYP. | ?
| #5@ 16" E.W TOP &
1-10" 1'-2 BOTT
o , FTG CONCRETE

(fc=2,500 psi)

LIGHTWELL SPLIT RETAINING WALL DET.



6"MIN.EMB.

BN

16"

2-#6

2-#6

EQ.

S

EQ.

DECK
JOIST

3x LEDGER
W/5/8" @ A.B.

11

2"COVER

@ 16" O.C.
STAGG.

12"

LINTEL BEAM




Missing nails (shiners or air
nails) must be corrected. One
line of missing nailing can
greatly reduce the diaphram's
capacity to resist loads.
Excessive slanting of nails will
adversely affect the lateral

capacity of the shear walls.

LOAD--Path Nailing




PLYWD S/W WHERE OCCURS

2x CONT. LEDGER w/
2-1/4"@x5" LAG SCREWS

RAFTERREF.  HANGER
PER STUD
> 2x BLOCKING
2x BLOCKING _— l& | 3X NAILER ON 5/8" THR'D
P ) STUD @ 12"0C
4 el E
//// a\/ \/ 2 L
= mm | 4
\ C.J.REF
k — (Where occurs) - ZI:EII;OCKING
A35 OR LTP4 e ol R
PER SW SCH.
STL.BEAM,REF
HEADER 3X NAILER w/ 2-5/80
M.B. @ 16" 0C
NOTE :
b PROVIDE SKEWED HANGER

HSUR/L 4.12/16 FOR HIP BM
(SEE DET.8 ON THIS SHT)

LOW RR -WD BEAM DETAIL



2x LEDGER w/16d
NAILS @ 8"0O.C. STAG.

ROOF SHEATHG E.N.
AS PER PLAN
2x6 RR @ 16" O.C 2x4 STUD @ 16"0.C.
RORETIGS
2x BLKG .~
BN, I A
- 7j/ ’/
2x FASCIA— \\ \
2 BL88}§|L’G “L
X = SIMPSON A35
B.N. FRAMING ANCHOR  DBL. BLK'G Zggé)gf A;\’IO'ST
@ 48" oc(U.N.O.) ( )
BN
2x4 STUDS @ 16" oc
L (UN.O.)

MANSARD DETAIL



METAL DECK PUDDLE WELDING SCHEDULE

DETAIL TYPE END WELD EDGE WELD MARGINAL WELD INTERMEDIATE WELD
PLBSS 4-3/4"9 PUDDLE WELD . n " n "
GAGE 22 ) 3/4" PUDDLE WELD @ 12" OC 3/4" PUDDLE WELD @ 12" OC 4-3/4" PUDDLE WELD

METAL DECK WELDING SCHEDULE




CASING

SIDE JAMB

METAL THRESHOLD (INTERGRAL)

!
SUBFLOOR RV Il SILL SUPPORT OR CONCRETE
BLOCKING -
RIM JOIST SHEATHING
%

METAL WINDOW DETAIL



WOOD BEAM, REF.
CC, REF.

4x POST

MID POST BEAM DETAIL




BOLT SIZE PLATE SIZE
1/2" 3/16" x 2" x 2"
5/8" 1/4" x 2-1/2" x 2-1/2"
3/4" 5/16" x 2-3/4" x 2-3/4"
7/8" 5/16" x 3" x 3"
1" 3/8" x 3-1/2" x 3-1/2"

"IN LIEU OF CUT WASHERS THE FOLLOWING APPROVED PLATE WASHERS"
TO BE USED FOR PLYWOOD SHEAR WALL SILL PLATE ANCHOR BOLTS,
AND FOR HOLD DOWN CONNECTOR BOLTS AT SHEAR WALLS.

MIN. SIZE FOR SQUARE PL. WASHERS



BOLT SIZE PLATE SIZE
1/2" 3/16" x 2" x 2"
5/8" 1/4" x 2-1/2" x 2-1/2"
3/4" 5/16" x 2-3/4" x 2-3/4"
7/8" 5/16" x 3" x 3"
1" 3/8" x 3-1/2" x 3-1/2"

"IN LIEU OF CUT WASHERS THE FOLLOWING APPROVED PLATE WASHERS"
TO BE USED FOR PLYWOOD SHEAR WALL SILL PLATE ANCHOR BOLTS,
AND FOR HOLD DOWN CONNECTOR BOLTS AT SHEAR WALLS.

MIN. SIZE FOR SQUARE PL. WASHERS



(2)-3/4" DIA. BOLTS A325F TYP.
™ F.P.T. &B.
FLANGES
1 3/4" =
(L
| A, ® o
47 47
o | o
TYP.
14° CONN. PL. THICKNESS MATCH

WEB THICKNESS OF CONNECTING
BEAMS, 3/8" MIN.

CONN. PL. THICKNESS MATCH
FLAMGE THICKNESS OF CONNECTING
BEAMS, 3/8" MIN.

MOMENT CONNECTION



T.S. PER PLAN

PLAN VIEW

MOMENT CONNECTION

T.S. PER PLAN



~—— (2)-3/4" DIA. BOLTS (A325F TYP.)
™ F.P.T.&B.
FLANGES
1 3/4" -
A7 N
s ® ®
TYP.
1/4" 47
® @
TYP.
" CONN. PL. 3/8" THK.

MOMENT CONNECTION



T.S. PER PLAN

PLAN VIEW

MOMENT CONNECTION

T.S. PER PLAN

TYP.



13/4"

(2)-3/4" DIA. BOLTS (A325F TYP.)

M F.P. T.& B.
FLANGES

1/4" 7

TYP.

1/4"

CONN. PL. 3/8" THK.

MOMENT CONNECTION



\ W10X26

W10X26

W10X26

+9'-0"

(FIELD VERIFY)

CONTRACTOR SHALL FIELD VERIFY ALL
DIMENSIONS PROR TO FABRICATION

MOMENT FRAME 1




HRC 44

MULTIPLE HIP DETAIL



HRC 44

MULTIPLE HIP DETAIL



STEEL BEAM, REF.

IIA“

CHANNEL BEAM,REF.

Yo A rere
TN

3/8" x5 1/2" x 8"

END PL W/ 5- 5/8"@ M.

W/ WASHER & NUT

B.

STL BEAM, REF.

1/ "

3 SIDES

(NYC8x11.5

SECTION-"A"

"Bll

5/8" CDX PLYWOOD
T i‘"%)Z"{VI 10d NAILS @

| 3x NAILER
- 1/4"0x3" LAG SCREWS
@ 12" O.C., STAGG'D

3/8" THK. STIFF.PL.

Y

=N /////
__—HANGER

=
o o

RR,REF. (BENT CHANNEL) C 8 x 11.5
SECTION-"B"

MULTIPLE RAFTER DETAIL



FULL DEPTH

2x BLK'G Ehi
R.R., REF.
’ 3x NAILER
] + T
= S
i // ——
\ 7/ \ /
STEEL FRAME,
REF.
5/8"@ M.B. w/ WASHER & 3x NAILER

NUT @ 12" O.C., STAGG'D

ATTACH 2x NAILERS TO OTHER
SIDES OF STEEL FRAME TO

RECEIVE DRYWALL/STUCCO. ATTACH
w/ 1/2"@ STUDS WELDED TO STEEL

@ 16" O.C., STAGG™D.
NAILER



JOIST OR

—1-1/2" Min.

RAFTER

2"

STUD

N

TOP PLATE 4" WIDER
THAN STUDS. 2-16d

NAILS FROM TOP PLATE
TO 2X4 FLAT.

PARALLEL TO FRAMING

JOIST OR RAFTER

1/4" —

STUD

N\

SIMPSON A-35N
DOUBLE PLATE

PERPENDICULAR TO FRAMING

NON-BEARING PARTITIONS (FRMG-1)



1/4"

BM. PER PLAN BM. PER PLAN

2 N 14
{ J
® 47
o
|
BALANCE OF
INFO. PER = \\J
' ‘*\31 6/ TYP. 3 SIDES

1/4"

ONE SIDED BEAM CONN.



BM. PER PLAN

BALANCE OF
71N

2.6/

/

INFO. PER |

1/4"

BM. PER PLAN

TYP. 3 SIDES
1/4"

ONE SIDED BEAM CONN.



il

SHEATHING

VERTICAL, HORIZONTAL OR PLYWOQOD
SIDING STOPPED ABOVE DECKING

CONTINUOUS FLASHING FROM UNDER
SIDING TO KERF IN JOISTS

OPEN DECKING
KERF IN DECK JOISTS
FOR FLASHING DRIP

OPEN DECK/WOOD WALL

P.T. LEDGER BOLTED TO FRAMING

JOIST HANGER

RABBET BASE OF LEDGER TO COVER
SIDING OR FLASH OVER SIDING.

INTERIOR FLOOR STRUCTURE

FRAMED WALL



3-0" MAX.

DO. ’ INSTALL REGISTER
A SLEEVES PRIOR
\ TO POURING SLAB

RECTANGULAR Ty L "
OR ROUND OPNG. / f\ \Qg :5
\ o7 / o
\/ /> \\\ // ™~ | .
i
A
3" /]
2-#4 AT CL.
OF SLAB
% ’ | O TL
SECT|0N< \A/\ KEYED JOINT

OPENING IN SLAB ON GRADE (VAN51)



NALNGWER Manu. specs.

[ —|

TN T

OPENI\I;@B SEiITEJARCH.
ﬁ%\ﬁﬁ@éﬁﬁkﬁmu. SPECS.

DBL. PLATE

TN
\

JdINLL

I

OPENING STRAP DETAIL (MAN36)




DITCH
A DITCH GRADE =
TO BE SEEDED
CULVERT GRADE + 1%

OUTLET DITCH




CONC. PAD FOOTING

f'c=2,500 PSI BASE PLATE & A.B.
(BY OTHERS)
6" SLAB ON GRADE WITH :
#4 BARS @ 16" O.C.E.W. %

12"

18" SQ PAD.
3-#4 BARS E.W.

FOOTING DETAIL

PAD DETAIL



R SSWTPF15
— —;j::::::fi—fff — ﬂ’:ij o \\ ‘ \\1 S SWTPF 1 8
| . SSWTPF21

N 7) tfi;;j /\ N

= . (2)1"SswAB

TOP OF
CONCRETE

PANEL FORM INSTALLATION



SSWTPF

SSWTPF12

(2) 3/4" SSWAB

TOP OF
CONCRETE

PANEL FORM INSTALLATION



1 2!_0" /

6|_0ll /

/HHHHHHHHHH

8'-0"

J J

3"

i

PERGOLA SECTION

PERGOLA (CEDAR)

4x4 POSTS; WITH 2x4
ATTACHMENT

SCREEN/HAND RAIL
(SUPPORT FOR INFORMATION

SIGNS)

NEW 4" CONCRETE WALK
CONCRETE UNIT PAVERS

(HEX PATTERN)

CONCRETE PIERS
(TAKEN TO FROST)



#5 DOWELS @12".c

=

TYPICAL
(DIAGRAM-X)
100" MAX SPACING
PILE REBARS
) PILE REBARS - u@ooe [ # DOWELS @120
TIES-TYP. /. L\ TYP.STYROFOAM TES-TYP. L~ \ DIAGRAM-X
/ \ 5 7 [' 1 \\ ( -X)
/ | . - ‘
fd j/L iy s W 212 e 1 TYP. STYROFOAM
: : : - POCKET EA. SIDE
/36" MIN. DOWEL EATENSION,, ~ -~ 36" MIN. DOWELEXTENSION, | | _,36'MIN.DOWELEXTENSION, - ,36"MIN. DOWEL EXTENSION,

STRAIGHTEN OUT STRAIGHTEN OUT
DOWELS DOWELS

PROVIDE DOWELS

BENT INTO PILE

AND EXTENDING NOTE :

BEYOND PILE FACE

STRYFOAM FILLER

TO BE REMOVED BEFORE
36" MINIMUM WALL PLACEMENT
@12"0.c. ALONG PILE
LENGTH
SEE PLAN FOR
SECTION SHORING PILE

SPACING

PILE-WALL CONNECTION



Brick Rowlock Sill
1X Trim

1%x2 Trim

1x8 w/ 6" Holes
for Pots

1x10
Galvanlzelc_i Mtl.

1x8 Rippe /1(_Ioles

at1 0" O.C.

ExpanS|on Anchors
at 1'-0" O.C.

Wood Bracket
Below

T
e

=

SOOI

/

ools

PLAN"

Py

Window

Trim beyond

1 x wood sill

1/4" x 3/8" reveal
@ bottom edge

‘L' bead, typ.
Return GWB @jamb,

head, and sill 0
window

Exterior sheathing

5/8" GWB

DETAIL



PIPE THRU ROOF

FLEXIBLE EPDM
PIPE FLASHING

BOOT

METAL BASE RING

CONTOURED TO
ROOF PROFILE

STANDING SEAM
METAL ROOF

RIGID INSULATION
(R=33)

VAPOR
BARRIER

STEEL DECK

BASE DIA. VA

RIES W/PIPE DIA.

<

PLUMBING VENT DETAIL

~__—1
z
=
o
<
(a]
@ g
Ca
< =
> =2
/,jfi///'/////
— S A
] e
e =
|
H
A — ////f/f;’;
TN
~_ - _J

FLASHING

EXTENDS
2'-0" IN ALL

DIRECTIONS



SECTION(A)

PLYWOOD FLOOR SHEATHING

EDGE NAILING,
SEE NOTES EDGE OF FLOOR

TR EDGE NAILING,
L FLT 7] iz EIREPER SEE NOTES.
L RAT W SHOWN ‘
B I —=
! / JoisT
‘ BUTT PLYWOOD
L ‘ ALONG CL OF
) 2%4 BLK'G. SUPPORTS.
l‘ JoisT
i — : ]

PARTIAL PLAN [ [

i 1
CL OF BLK'GR.YWOOD JOINT 1 NAIL REQD. AT
EQ. FIELD THESE LOCATIONS.

ki NAILING @10

;g% O.C. TYP.@
2x4 FLAT BLOCKING W/
SIMPSON "Z CLIPS"

PLYWOOD FLOOR CONSTRUCTION:

MATERIAL:

PLYWOOD: 15/32" MIN. (SEE PLAN) STRUCT. 1

PLYWOOD, CONFORMING TO U.S. PRODUCT
STD PS1-95

FIELD NAIL

PLYWOOD
SHT'G.

CL

PROVIDE GLUE
PE| TE

EDGE NAIL
STAGGERED.

PLYWOOD
SHT'G.

PROVIDE GLUE
PER NOTE

NAILS: d8 COMMON, RING OR SPIRAL SHANK, FULL HEAD
EDGE N |L

6" 0.C. UN.O. ON PLAN
" O.C.

ADHESIVE: CONFORM TO AMERICAN PLYWOOD ASSOCIATION

SPECIFICATION AFG-01. ADHESIVE SHALL BE

CERTIFIED AS CONFORMING BY A TESTING AGENCY
ACCEPTED BY THE FEDERAL HOUSING ADMINISTRATION.
IN ACCORDANCE WITH PROCEDURES GIVEN IN HUD-FHA

USE OF MATERIALS BULLETIN UM-60.
EXECUTION:

1. APPLY A BEAD OF GLUE ABOUT 1/4 INCH IN DIAMETER TO ALL
CONTACT/BEARING SURFACES. ON WIDE AREAS APPLY GLUE IN SERPENTINE PATTERN.

APPLY TWO BEADS OF GLUE ON JOISTS WHERE PANEL ENDS BUTT.

3 APPLY GLUE PROGRESSIVELY TO BUTTING

EDGES OF PANELS AND

INTO GROOVED EDGES OF TOUNGE AND GROOVE PANELS AS WORK
4. COMPLETE NAILING OF EACH PANEL BEFORE GLUE SETS.

PROCEEDS.
SEE NOTES 3, 4, 5, 6, & 7 IN DETAIL




TYP. INTERMEDIATE NAILING

; o\
12"0.C. @ ROOF TYP. OPENING PER (%2 ‘f
10" O.C. @ FLOOR \81.2/
o ——— %
ol S P = ) . 5
[T TyeoisTS Bl >
L : N o
- 2
I
i
®
8
PROVIDE EDGE BLK'G AT PANEL EDGES 5
WHEN SPECIFIED ON ROOF ORFLOOR 3
FRAMING PLANS. 4
NOTE: SEE FRAMING PLANS A) FOR PLYWOOD THICKNESS & GRADE

B) FOR NAIL SIZE & SPACING
C) FOR JOIST SIZE & SPACING

PLYWOOD ROOF OR FLOOR SHT'G (PLYD-1)



4dx POST

CC, REF.
WOOD BEAM, REF.

POST BEAM DETAIL




10"
12" TYP.
o L
N (e ‘o P3.5 STD PIPE POST
> 3/4" THICK STEEL PL.
T
)
3/4" @ A307 BOLT (TYP.) W/HEX NUTS &
3"x3"x1/4" PLATE, 9" MIN. EMB.
PIPE, REF.
i$— 4 ‘o BASE PLATE
HIDE COL. IN
WALL
BASE PLATE 5 gy 1" DRYPACK
3/16"
6-6TOP - CONC. GRADE BEAM
#3 TIES . f¢=3,000 PSI
@8" O.C. |

|
i

| SP. INSP. REQ'D

B

18

6#6 BOTT.

CONC PAD

fic=2,500 PSI
(SEE PLAN)

1 2“

POST FOOTING DETAIL



CB44 v

CONC. PAD FOOTING
fc=2,500 PSI

(SEE PLAN)
CONC. SLAB, REF.

18"

SEE PLAN

POST FOOTING DETAIL



7 ga. OR 5 ga. 2-5/8" DIA. BOLTS MIN.
PLATE. (U SHAPE)
IR L L2 BM. PER FRM'G PLAN
) 1/2"
T A WN I S 1
7 Y ] D b
Ol O 0
4
&
p
o s = TYP.
2-5/8" dia. 3 1/4
BOLTS. £ |
N 2-1/2" WIDE PL.
11/2"
POST SIZE PER PLAN
AN
COL. SIZE CONN. END COND. |CORNER COND.  CROSS COND.
4x4 CC44 ECC44 ECC CCT, 000
4%6 CC46 ECC46 ECC CCT, CCC
66 CC66 ECC66 ECC GO GO0
POST TO BEAM CONNECTION (PST-BM-1)



BEAMS PER FRAMING PLAN

P HW CONNECTOR
\\\\\ S
S } \\\\7\\\\\\ —
;i \\\\ . P '\'\'\\\\\
é\\ \\ _ \\\\ \\\\
\,\\ \\\\ \\\
o ~—
O \\\ e
Q O
O ’
T
0 ~— |
Y, CC CONNECTOR

COLUMN PER PLAN

POST TO BEAM CONNECTION



FLOOR SHEATHING, REF. 2x F.J. (TYP.)

A e A
"\\ ’,'/ “\\ / / \\ / /

A
6
O @

4x WOOD BEAM
CC44
4x4 POST
CB44 (SEE PLAN)
gEE PLAN
ONC. PAD FOOTING
f'c=2,500 PSI
o
&
° ° ®
24"x24"

POST - FOOTING DETAIL



FLOOR SHEATHING, REF.

2x F.J. (TYP.)

CC44

CB44

4x WOOD BEAM

4x4 POST

(SEE PLAN)

(CSEE PLAN
ONC. PAD FOOTING
f'c=2,500 PSI

12"

24"x24"

POST - FOOTING DETAIL



4x POST

CB

12"

(SEE PLAN)

CONC. PAD FOOTING
f'c=2,500 PSI

SEE PLAN

POST - FOOTING DETAIL



¢ COL.

1/2"

COLFLANGE |

BACKUP BAR TO REMAIN
REMOVE WELD TABS
TYP. TOP FLANGE

SHEAR TAB
THKNESS TO MATCH

BEAM WEB THK(1/2"x4")
w/2-5/8"0 E.BOLTS(AS REQ'D)

WF BEAM
3/8" DOUBLER PLATE | |
1/2"x1" SLOT WELD(4 PLACES) | +4'4 "
3" .
CONTINUITY PLATE (T&B) | | B.U. BAR
SAME THICKNESS AS o W[t TR 516
FRAMING GIRDER FLANGE =
6" (7x ||+ ¢
2 F.P. FULL HT. OF
N BEAM WEB
1/4" TO COL. FLANGE
. 3 SIDES TYP.
PP SHEAR
TO COLUMN FACE
(1/8" LAND)
A AFTER ROOT IS
CLEANED & INSPECTED
REMOVE BACKUP BAR
T&B OF DBL PLATE REMOVE WELD TAB
ELEVATION

NOTE: * WELD TO BE 1/16" LESS
THAN SHEAR TAB THICKNESS

PRE-QUALIFIED WU-F CONN.



ﬁ@

1/2" x 2 1/2" PLATE
@6'-0" 0.C. MAX.

TYP.
1/4" -
/7]
47 STEEL BM. PER PLAN

RAILING CONNECTION DETAIL



3!_6"

LESS THAN 4" CLR.
MAX. (TYP.)

2"x6" TUBE

_ 1.1/4"x1 1/ ) TUBE

@ 6-0"M

] 1/2"x1/2",  BAR
@ 4" O.C.

4'-0" MAX. (TYP

BENT 8"x4"x1/4" ST. PL.

wi4 3/8"@ x 3" LONG >
| LAG SCREWS

1.1/4"x1 1/(" TUB)E

1/8"

WOOD BEAM, REF.
OR BLOCKING

RAILING DETAIL




2"x6" TUBE
1 1/4"x1 1/4" TUBE
@ 6-0" MAX.

BAR
@ 4" O.C.

LESS THAN 4" CLR.
1/2"x1/2"

MAX. (TYP.)

..@I_m

RAILING DETAIL

LAG SCREWS
WOOD BEAM, REF.

1/8"



3I_6ll

LESS THAN 4" CLR.
MAX. (TYP.)

2"x6" TUBE

_ 1 1/4"x1 1/4" TUBE

@ 6-0" MAX.

. 1/2"x1/2" 11 BAR
@4"0.C.

1 1/4"x1 1/4" TUBE
4'-0" MAX. (TYP.)

BENT 8"x4"x1/4" ST. PL.
w/4 1/4"d x 3" LONG
LAG SCREWS

18"

WOOD BEAM, REF.

RAILING DETAIL




4x SHAPED
SHIM BLOCK

LTP4 SPACING
BY OTHERS

ATTACH SDS SCREWS
TO SHIM BLOCK

ADJACENT FRAMING
BY OTHERS

Ul U0
3Qics

ENGINEER OF RECORD IS PERMITTED TO
MODIFY DETAILS FOR SPECIFIC CONDITIONS.

STEEL STRONG-WALL HEIGHT ADJUSTMENTS
RAKE WALL

(G




X * | *
o < 'S )
45° |
MAX.
db
EXTERIOR INTERIOR COLUMN
BEAM STIRRUP BEAM STIRRUP AND BEAM TIE
NOTE: + =6d{OR 3"MIN. 5 o
_ AN *
D=6dp FOR #8 & SMALLER A  12¢0R rilf
D=4d, FOR STIRRUPS & TIES I  UNO
SEE 90° BEND 12d,FOR SLABS
|
b 1 SCHED. /\ MAX. SLOPE
f —— T ﬁ{ﬁ/\a
f—
1d FOR BEAMS, 1.5d FORCOL'S.
OR PLACE BARS IN CONTACT OFFSET SUPP. TIE
AND WIRE TOGETHER
LAP SPLICE

REBAR BENDING SCHEDULE



2l_6ll
FREE BOARD

NOTE:

3!_6“

1. FOOTING EMBEDMENT DEPTH
MUST BE 2'-0" FROM BEDROCK.

1 l_6ll

N
N 8" CMU (FULLY GROUTED)
M, 294" L e fm=1,500 PSI
a #4 @ 24" O.C.
) HORIZ.
#4 @ 16" O.C.
VERT. ) 1'-0"
3-0"
DOWELS TO MATCH
VERT. REINF.
#4 @ 16" O.C. DOWELS
3-#4 CONT.
3..
: : : 3-#4 CONT.
N T #4 @ 18" O.C.
1-7" L 1
7
2'-6"

RET. WALL AT THEATER




s CMU RETAINING o
WALL (fm - 1500 PSI)
: e a0 S
) FULLY GROUTED
SEE PLAN & SCHEDULE
BELOW
|
MAX| "B" REINF.
"A"REINF. TPl sGrREINF.
3 GRAVEL v
e CONCRETE RETAINING &
REPORT, WALL (fc - 2500 PSI) =
SEE PLAN & SCHEDULE
) BELOW
t L] @ :
E g 24" 30"
T 2  FIN.FLOOR |
82'_ AR ) <
ﬁﬁg s8-0 805 ° i ‘
8ty vy, &
@ & o o * I
. s .| #6@12"0C.
GRADE BM. PER PLAN o / (5) #6 T&B Y, EAC@H FACE
DOWELSTO | 4 oo . #4 CLOSED STIRRUP
MATCH WALL =% 1@ 2" 0.C.,10@4" REST @8"0.C
REINF. - PILE/CAISSON PER PLAN

CONCRETE & CMU WALL SCHEDULE

e

TYPE

"B”

LOWER LEVEL

CONC.

#6@870.C. | #4024°

0.C.| #5@1670.C.

R UPPER LEVEL

o1V 1V]

#5816°0.C.| §4024°0.C

RETAINING WALL



o e
- owme *
= =
/ -

L | An AN
2 I N

8 in CMU w/ #5 @ 8.in -

o/c>0lid Grout, Spc Insp . #4 HORIZ.BARS #24"
fm=1,500 psS oC _
Water Proofing K

(Mirafi 140N or equal)

#2 TIES @ 16" O.C.

1 1 I_OII

3'_0"

1 | Lé
10 in Mas w/ #8 @ 8.in | &
o/c Solid Grout, Spc el <
{1,500 psi) 24 3/4‘; § .
#4 HORIZ.BARS #12" . ~
oC * |  4"@ PVC PERF. PIPE
- 1 on 12" SQ. 3/4"GPEA
oy GRAVEL
/e . . o : ~— 1 O ?"’+ ' J
,J J
3'-0" 4/2;4% . ﬁ \
24" TYP, !
4" THK SLAB ON / FFTG C%NCR.ETE
GRADE W/#4 @ 16" 53 . PegggeEw Top &
O.C. ON 6 MIL V.B. BOTT.
OVER 2" CLEAN
SAND.

10' RETAINING WALL DET.



= |
1 i
| " #4 HORIZ.BARS #24"
8in.Mas w/ #5@ 16.in | °
O,LSoli%Sc‘ﬂout,@ ' | oc :
Spc Insp o] 23 S
; o e - ©
. Water Proofing
N #2 TIES @ 16" O.C.
5 [Tl #4 HORIZ.BARS #24" g
g 12inMasw/#7 @8.in | | oC -
0 | o/c Solid Grout, 4 L2
% | Spc Insp ) T‘
Tl =
#4 2 <
. HORIZBARS ||  4'@ PVC PERF.PIPE
5" THKSLABON > #12" OC |  on12"'@ 3/40PEA
GRADE W/#4 @ 16" | » 1] = GRAVEL
O.C.ON6MILVB. 2 /% EI ‘
OVER 2" CLEAN I ) (0) J r r
SAND. B AR 0 A
/24"TY§. i ”%
_ 20" 20" #5@ 16" EW TOP
& BOTT.
et 4'_0 -

RETAINING WALL DET.



V GUTTER PER ARCH'L.
& SOILS REPORT
; "™ ;
1
g [ ] [ ]
\ "B" REINF.
=z
=
8 REINF, « «| "C"REINF.
) CMU RETAINING
3/4" GRAVEL WALL (fm - 1500 PSI
PER SOILS o e SPECIAL INSP. REQ™D.
REPORT FULLY GROUTED
,,,,, WEEP HOLE
oo PER SOILS
¢ Fe Rl REPORT
% R
g o5 90 FIN. GRADE
S90S b 0
- T .
7 G) 4 o uDu ©
X : 24" MIN. INTO
5 F BEDROCK
= | J CONC. FTG.
I (fc = 2500 PSI)
. | DOWELS TO #5 @ 12" O.C. 245
D MATCH WALL TOP & BOTT. s
REINF. TYP. \
4"@ PERFORATED | L P DEPTH INTO
PVC PIPE SCHEDULE BEDROCK TO
PER SOILS COMPLY W/
REPORT H/3 SETBACK
AS PER SOILS
REPORT
llTlI llAll llDll

llHll

IILII

llDll llKll ||Bll

24"0.C.

IICII

#481670.C. | #

#481670.C.

RETAINING WALL



6"X4"X1/4 STL PLATE
W/ 2-5/8"@ A325F BOLT

STL BEAM.REF.

STL BEAM.REF.

VERIFY ANGLE
AT THE JOBSITE

RIDGE DETAIL



MSTA36 @ 48" O.C.
2x RIDGE BOARD
ROOF FRAMING, REF.

RIDGE BEAM WHERE OCCURS

RIDGE DETAIL



METAL
RIDGE CAP

RAFTER/GYP.BD.
ASSEMBLY

RIDGE VENT DETAIL FOR
METAL ROOF



Uplift Connector

as Required

Vertical Wall

Reinforcement as

Required

/ )
.

Z

/’/ ‘
Se i H ICF Wall
5 I Min. #4 Bar
(Continuous)
Roof ICF Wall

System Connection

Light Frame Roof



SEALANT

ROOF PANEL
RIB OR SEAM

VENT PIPE -
REF. MECH.

CLAMPING RING

ROOF PANEL

PRE-MANUFACTURED

FLEXIBLE PIPE
FLASHING, WEATHER-

PROOF

ROOF PANEL
RIB OR SEAM

ROOF VENT DETAIL



(Varies—Riser)

(4" Max)

/\\

1/2" Radius
Max

60 Degrees Min.

v,

ROUND TREAD

Indicator Strip
At Lowest Tread

1 1/2" Max
(Nosing)



8" CMU WALL(WHERE OCCURS)
4" SLAB ON GRADE

- . WITH #4 @16" O.C.
DOWELS TO MATCH © EACH WA
VERT. REINF.(WHERE OCCURS)
[ |
—f® ® ®
#4 @16" O.C. ]
DOWELS x ;. N
o _
#4 @12" O0.C.
_ EA((,(’DH WAY
g ‘ WATER PROOF
I
% 8" FULLY GROUTED CMU WALL
= m=1,500 psi
é ®
PIT SLAB 2-3/4" CLR.
#4 DOWELS 1" SQ. GRAVEL
@12" O.C. POCKET W/4"Q
1on o PERF.DRAIN PIPE.
24"
; : . A R
e
a DOWELS TO MATCH
= VERT. REINF.
n
o ) ) . # @ 12" O.C.

SEE PLAN

S.OG-CMUWALL DETAIL



PLYWOOD SHEATING .REF

i
)
] O ©
J A35 PER SW v ; 2
. AS CITED 4 // \/ ©
1=
FJ (2x12) 8" MIN
: —
—
\[V
, 6T R

4xBLOCK BN.

TO BE CUT TO FIT RR SLOPE

3X NAILER
JOIST 2x6

NAILER TO FIT STL BEAM

SECTION @MF ALONG (E)



24"

Y

| |
D=
5 A
24"x24"x1/2" THK. BASE
PLATE W/4-7/8"@A325
BOLTS 1/2"NON
® = g SHR'NK
4 T = GROUT
N o ®
Q & @ E"r
SEE PLAN L
4
® SEE PLAN
o N |
= @ )
e o ¢
o | 8-#9 VERT.
J

SECTION A-A

W/ #3 TIES @ 4" O.C.



PLYWOOD SHT'G. B.N.

i BEAM PER
/ PLAN
47
SIMPSON'S
BLK'G. o CC
5]
JOIST PER
PLAN
N
POST PER
PLAN
u PLYWOQOD SHT'G.
BEAM PER
PLAN
SIMPSON'S ° *
ECC ® ® 47

SECTION



4-#6 VERT.

#3 TIES @
12" O.C.

8" CMU WALL
RET. WALL

24"

#4 @ 16" O.C.
DOWELS

L]

TS POST, REF.

12"

24"

SECTION A-A



NOTE: STUDS IN DIRECT CONTECT SHALL BE NAILED TOGETHER W/

16d AT 12" O.C. (STAGGERED). STUD SEPARTATED BY
SHEATING SHALL BE NAILED W/ 20d AT 12" 0.C. U.N.O.

TYPICAL CONDITION AT INTERSECTIONS

E.N.

N/ X
/\| . YA\

1 ‘

NI
N
74[\]7

B.N. .
POST OR REQD.

7J\’7,,
MEMBER AT HOLDOWN

ANCHOR

R
=
C

CONDITIONS AT POST OR HOLDOWN ANCHOR

SHEAR PANEL AT STUD WALL CORNERS (DT19)



“A" ATTACHMENT PER
SCHEDULE @SHEARPANELS
16d @ 8"0.C. TYP.

U.N.O. ELSEWHERE

BDRY NAILING @ UPPER

LEVEL SHEAR PANEL
SHT'G

FLOOR SHT'G B.N.
PER FRAMING PLANS.

3x SOLID BLK'G
/ \ BETWEEN JOISTS

"B" ATTACHMENT N 2N
CONNECTOR PER 7 "B" ATTACHMENT NAIL'G. PER SCHEDULE
SCHEDULE 16d @ 8" TOE NAIL'G. TYP. U.N.O.

FLOOR JOISTS PER

FRAMING PLANS
BDRY. NAILING @ LOWER

LEVEL SHEAR PANEL- SEE

FRMG. PLANS. PROVIDE NG
SHEAR PANEL BOTH SIDES
WHERE NOTED.

SHEAR PANEL CONN. @ FLOOR



BDRY. NAILING @ UPPER
LEVEL SHEAR PANEL- SEE
FRMG. PLANS. PROVIDE
SHEAR PANEL @ 2 SIDES
WHERE NOTED.

SHT'G PER PLAN

SIMPSON A35

PER FRAMING ~ GONNECTOR
PLANS STAGGERED
W/ CONNECTOR

ON OTHER SIDE

BDRY. NAILING @ LOWER
LEVEL SHEAR PANEL- SEE
FRMG. PLANS. PROVIDE
SHEAR PANEL @ 2 SIDES
WHERE NOTED.

ATTACHMENT "A" PER SCHEDULE
16d @ 8"O.C. TYP. U.N.O.

BDRY. NAIL FLOOR SHT'G
PER FRAMING PLANS.

1/2" LAG SCREWS W/ 4" MIN EMBED.

3x CONT WHERE LAG SCREWS APPLIES
OR BEAM PER PLAN

ATTACHMENT "B" SIMPSON A35F
PER SCHEDULE, MINIMUM
16d @ 8" TOE NAIL'G. TYP. U.N.O.

SHEAR PANEL CONN. @ FLOOR



BDRY. NAILING @ UPPER
LEVEL SHEAR PANEL- SEE AN
FRMG. PLANS. PROVIDE
SHEAR PANEL @ 2 SIDES
WHERE NOTED.

ATTACHMENT "A" PER SCHEDULE

SHT'G PER PLAN 16d @ 8"O.C. TYP. U.N.O.

BDRY. NAIL FLOOR SHT'G
PER FRAMING PLANS.

\ / 1/2" LAG SCREWS W/ 4" MIN EMBED.

e s " A 3x CONT WHERE LAG SCREWS APPLIES
/| ' A : OR BEAM PER PLAN

FLOOR JOISTS S'ggﬁf\l’g(’:‘%R - ATTACHMENT "B" SIMPSON A35F

PER FRAMING SonNeco PER SCHEDULE, MINIMUM

PLANS R 16d @ 8" TOE NAIL'G. TYP. U.N.O.
W/ CONNECTOR

ON OTHER SIDE

BDRY. NAILING @ LOWER N
LEVEL SHEAR PANEL- SEE
FRMG. PLANS. PROVIDE
SHEAR PANEL @ 2 SIDES
WHERE NOTED.

SHEAR PANEL CONN. @ FLOOR



PROVIDE BDRY

DOUBLE PL NAILING @ ALL
CONT. PANEL OPNGS & PANEL
U EDGES PENETRATIONS
BOUNDARY
NAILING
STUDS @16"
CTRS. UN.O. OTHER EDGE
NAILING- SEE
SCHED.
SHERR BANEL- NAILS @ 12"0.C.

SEE PLANS FOR
LOCATION. SEE

TYP. @ INTERMED.

SCHED. FOR MAT.
THK. & NAILING BOUNDARY
SOLIDAI?_LLOECI)DKCI;I\EIg NAILING- SEE

SCHED.
EDGE NAILING

HOLD DOWN ANCHOR
WHERE REQ'D SEE
FDN. PLAN

SHEAR PANEL DET. (SPDS)

5/8" DIA. ANCH. BOLTS

4'-0" CTRS. @ CONC. OR MASONRY

P U.N.O. WHERE PANEL IS

SUPPORTED ON WOOD OR STRUCT.
STEEL, SEE PLANS FOR DETAILS.

SUPPORTS, U.N.O.



B.N.
PLYWOOD SHT'G.

16d @6" O.C. ()

CONT. BLK'G.

SHT'G. PER PLAN BLK'G.

2x CONT. JOIST W/
2-16d @ EA. STUD

2x STUD PER PLAN

SHT'G. PER PLAN

SHEAR TRANSFER @ LEDGER (STL2)



STUD
WALL

2x BLKG.

SHT'G

E.N.
B.N.

E.N.

SHT'G

O3
O

.C.
O BLK'G

Ce

mo
Ly
A
—

SHEAR TRANSFER @ LEDGER STL



PARAPHET WHERE OCCURS

e A34 AT 4-0" O.C.
T i W/ BOLCKING

B.N.

PLYWOOD SHEATHING

PER PLAN
2x FULL DEPTH BLK'G -
WI/(3) 16d TOE NAILS ,
PER BLOCK "
OR BEAM PER PLAN !
W ROOF JOIST
E.N. SHT'G TO UPPER | ROGr 10!
PLATE |

ST6236 AT 4'-0" O.C.

SHEAR TRANSFER @ ROOF



PLYWOOD BDRY. NAILING TYP.
BEAM PER PLAN

JOISTS PER PLAN

PLYWOOD SHT'G.
= { )
=
BDRY. NAILING AISE @ 16'0.C
WALL SHT'G. 2x STUDS @ 16"0.C.
PER PLAN
N

SHEAR TRANSFER @ ROOF



SIMPSON'S CMST PER PLAN
@TOP OR

S
OR BOTTOM

PLYWOOD SHT'G.

PLYWOOD BDRY. NAILING TYP.
BEAM PER PLAN

JOISTS PER PLAN

BDRY. NAILING

WALL SHT'G.
PER PLAN

A35F @ 16"0.C.
BOTH SIDES

2x STUDS @ 16"0.C.

SHEAR TRANSFER @ ROOF



PARAPHET WHERE OCCURS

B
== A34 AT 40" O.C.
— W/ BOLCKING
B.N.
PLYWOOD SHEATHING
PER PLAN
2x FULL DEPTH BLK'G
W/(3) 16d TOE NAILS
PER BLOCK ,
OR BEAM PER PLAN | P
m — ROOF JOIST
E.N. SHT'G TO UPPER | PER PLAN
PLATE |
ST6236 AT 4'-0" O.C.
AN

SHEAR TRANSFER @ ROOF



PROVIDE 12" LAP W/4-16d
(IF DISCONTINUOUS)

SHT'G

WALL WHERE OCCURS

2x FULL DEPTH
E.N. BLK'G OR CONT.
JOIST

A35 @32" O.C.

16d NAILS

TOE NAILED
@ 6"0.C.

-  2x STUDWALL

(SEE PLAN)

- WALL SHT'G

SHEAR TRANSFER @ ROOF OR FLOOR



B.N.

PLYWOOD SHEATHING
JOISTS WHER OCCUR PER PLAN
JOIST PER PLAN
7 e o
V5N / A\

SOLID BLK'G. CONT. W/
1/2" DIA. BOLTS @16" O.C.

2x BLOCKING

SHEAR TRANSFER



B.N.

PLYWOOD SHEATHING

JOISTS WHER OCCUR PER PLAN
JOIST PER PLAN
\\‘\ / : \\ a
‘\“" \\ /// \ j
Z [ “;‘M\\ /\/i\'\ /\\/\ ]] Z
YU /0N U
/ // \\ ; \‘\

SOLID BLK'G. CONT. W/
1/2" DIA. BOLTS @16" O.C.

2x BLOCKING

SHEAR TRANSFER



N)1 1/8" CDX PLYWOOD
1.8,G) w'10d NAILS @
1.5 X CANT.LENGHT T I;I
(E) WALL
N)1 1/8" CDX PLYWOOD
1.8,G)w/ T0d NAILS @
FILLER
J = (N)RAILING
I | i ’ Fu
(N)TJI FLOOR JOIST REF. (N)JCONT. BLockg ) 2X BLOCKING (N) 2X BLOCKING
sN 3.5X9.5 TJI OR SOLID WD ATTACHED
TO TJl FJ W/ 2-ROWS 10 d NAILS (STAGG'D) (NALTP4 PER SHEAR
WALL SCHEDULE
(N)DRYWALL PER CODE
(E)PLYWOOD PER SHEAR
WALL (WHERE OCCURS)

SHEAR TRANSFER DETAIL



2x STUDS @ 16" O.C.

PLYWOOD PER SHEAR
3/4" CDX PLYWOOD WALL SCHEDULE
, WHERE R
T & G) w/ 10d NAILS @ ( OCCURS)
ll_4ll_1 2" \.
—h RIM JOIST/
LTP4 PER SHEAR
WALL SCHEDULE
PLYWOOD PER SHEAR
WALL SCHEDULE
(WHERE OCCURS)
4x POST

SHEAR TRANSFER DETAIL(FLOOR)



// \ — ‘7
- o | ROOF TRUSS OR RAFTERS
~ // _
| /| —
ol LTP4 PER S/W SCH., NOT REQD
FULL DEPTH BLK' y
B £ IF PLYWOOD IS NAILED TO RIM
JOIST OR BLK'G, AND PANEL
| IS A MIN. OF 48" HIGH (TYP.)

DRYWALL PER CODE

2x STUDS @ 16" O.C.

SHEAR TRANSFER DETAIL(ROOF)



\\\ PER ARCHITECTURAL
N IS

2 1/2" CDX PLYWOOD w/8d
N NAILS @ 4"-4"-12"

\\\\\\\
\ |
\

N

C.J., REF. | j
(WHERE OCCURS) ™~ LTP4 PER S/W SCH.
DRYWALL PER CODE

PLYWOOD PER SHEAR
WALL SCHEDULE

(WHERE OCCURS)

2x STUDS @ 16" O.C.

SHEAR TRANSFER DETAIL(ROOF)



3/4" CDX PLYWOOD
(T & G) w/ 10d NAILS @
4"-4°-12" WALL SCHEDULE
(WHERE OCCURS)
—
| ~ |l
FULL DEPTH BLK'G LTP4 PER S/W SCH., NOT REQ'D
IF PLYWOOD IS NAILED TO RIM
JOIST OR BLK'G, AND PANEL
DRYWALL PER CODE IS A MIN. OF 48" HIGH (TYP.)
2x STUDS @ 16" O.C.

SHEAR TRANSFER DETAIL(FLOOR)



2x4 STUDS @ 16" O.C.

3/4" CDX PLYWOOD
(T8,G)w/ 104 NAILS @

FLOOR JOIST REF.

DRYWALL PER CODE

PLYWOOD PER SHEAR
WALL SCHEDULE
(WHERE OCCURS)
I
i
RIM JOIST/
CONT. BLOCK'G CONT. BLOCK'G
LTP4 PER SHEAR
WALL SCHEDULE
PLYWOOD PER SHEAR
WALL SCHEDULE

(WHERE OCCURS)

SHEAR TRANSFER DETAIL(FLOOR)



4x4

CONT. BLOCK'G ECC. REE.

A35 PER SHEAR
WALL SCHEDULE

PLYWOOD PER SHEAR
WALL SCHEDULE

(WHERE OCCURS)

WOOD BEAM, REF.

SHEAR TRANSFER DETAIL(FLOOR)



2x STUDS @ 16" O.C.

3/4" CDX PLYWOOD
(T & G) w/ 10d NAILS @

4"_4"_1 2"

FLOOR JOIST REF.

DRYWALL PER CODE

) 1AL s
L e
=+ ES =+ =

PLYWOOD PER SHEAR
WALL SCHEDULE
(WHERE OCCURS)

LTP4 PER S/W SCH.

RIM JOIST/CONT. BLOCK'G
(TYP.)

SHEAR TRANSFER DETAIL(FLOOR)



B.N.

PLYWOOD SHEATHING
PER PLAN
JOISTS WHER OCCUR JOIST PER PLAN
K il
2 \ / \ / \')
[ l \;</ \;\’/ “‘  ‘ TJ
T ]
// \ // \\ ‘}‘ 2
I . \
JOIST HANGER
2x BLK'G. CONT. JOIST HANGER
SOLID BLK'G. CONT. W/ 9% BLK'G. CONT.

1/2" DIA. BOLTS @16" O.C.

SHEAR TRANSFER



PHD,REF. )

e AT SHEAR WALL PER PLAN
TYP. 7/8"@ M.B. w/
hid WASHER & NUT
A
FLOOR/ROOF SHT'G. &-
PER PLAN L | TOP ELANGE HGR.
Al PER PLAN
( Sl
J
=
3x FULL WIDTH OF FLANGE
W/ 5/8"3% THRU BOLTS
@ 16" O.C.
TYP. EACH FLANGE 23
WF BEAM 2x FLR. JOIST
FE L WHERE OCCURS

SHEAR WALL AT STEEL BEAM CONN. DETAIL



X| 4X | BN SEE NOTE #7 IN TYPICAL
— SHEAR WALL SECTIONS

a0 16d NAILS @ " X" FOR
; SISTERING STUDS & PLATES
x| O STAGGERED (TYP.)

|

|
@ SEE NOTE #7 IN TYPICAL
SHEAR WALL SECTIONS

||

\/
X

o)
(o)
2
2X |
1

\ T LEDGEND
BN BOUNDARY NAILING
X, X FN FIELD NAILING
x  BOUNDARY NAILING
9"MIN. ANCHOR BOLTS EQUALLY SPACED SPACING
PER SHEAR WALL SCH. / DET.

SHEAR WALL ELEVATIONS



=
- S—s = P . ’ pa
o S— E\\I E E
z i : N
= = : & =
N N Z Z

\ il = = +— |k

——— & Y § = JF
SEC. SEC - SEC o
(A (8) (©)
NOTES:

1. WHEN PLYWOOD PANEL 1S NOTED AS 'LET-IN' ON PLANS OR SECTIONS,
ALL STUDS & BLKS ARE TO BE RIPPED TO MAINTAIN CONT. PLANE ON
FACE OF WALL.

2. USE 4'-0" x 8'-0" MIN. PLYWOOD SHEETS WHEREVER POSSIBLE &
STAGGER ADJACENT HORIZ IN ALL CASES.

TS
3. 'X' REPRESENTS THE SPC'G OF EDGE NAILS. SIZE OF NAILS & SPECIFIC
SPACING. ARE SHOWN ON SHEAR WALL SCHEDULE OR DETAILS.

4. THE MIN. EDGE DISTANCE FOR NAILING OF PLYWOOD SHALL BE 1/2".

5. ALL SILL PL. ON MASONRY OR CONC. SHALL BE PRESSURE TREATED
DOUGLAS FIR.

6. MIN. DIMENSION OF ANY PLYWOOD SHEET SHALL BE 2'-0".

7. USE 3x STUDS & BLK'G. AT PLYWOOD JOINTS WHEN SHEAR CAPACITY
IS 300 PLF OR MORE. IN EARTHQUAKE REPAIR JOBS DOUBLE 2X STUDS
AND BLOCKING MAY BE USED IN LIEU OF 3X STUDS EXCEPT WHEN EDGE

NAILING IS 2" O.C.

SHEAR WALL INTERSECTIONS



&b
5
INSTALL WINDOW
IN OPENING PER
ARCHITECHTURAL
PLANS
-
C5x6.7
./
2x4 STUD OR 7 2"D x 33" LAG SCREWS
PLATE TO RECIVE /1 @ 4" 0.C. STAGGERED
PLYWOOD S/W, REF. VAl
/ LY
(]
SECTION LA

SHEAR WALL OPENING DETAIL



CMST 12

OVER CONT.
PRESSURE BLOCK
EDGE OF WALL

DBL TOP TO EDGE OF WALL
PLATES

STEEL FRAME

PER DET@

PLYWOOD
SHEATHING
REF.

4x4 w/10 d

NAILS @ 2" O.C.
STAGG'D w/CMST12
CONTINUOUS TO
ELEVATED DECK OR
BEAM/HDR BELOW, REF.

SHEAR WALL OPENING




Shear Wall Schedule, common nails only
Shear Wall Schedule, (Douglas Fir-Larch framing):

SILL PLATE ANCHOR BOLTING
o blifhg  REESGY  ppggrosmon
' - l’f\4A 'II'TACHMSENTt o ICOIgléVrg‘gFélé 'B' ATTAgyl\gEN; é&
" thic min., Structura 16d @ 8" o.c. " dia
i E rated Iywoop sht'g w/ 10d W/Aé5/ g.. o%c% /4" @., .
nails @6" o.c. edges 12" o.c. @48"o0.c. @ 32"o.c.
I;I?Id okck4all edges. o min. emb;ad 204 plf
) .. ura »1a9 SCreWy 16d @ 8" 0.c.3/4" dia. A.B.
A @f ocg}% %%w§! c. min. emb (]% @24"/9 W/A35 & A35F @ 24" o.c.
b%th oth s:des edges
sides 8 plf
" k 4 ral/Z'ra screw 16d @ 8 Al B
x ?75" AL w§j v 24"gc W/AW, &A35F B s
/ ocl? é’:‘”g gg ln embed.
1/2" thick, 4 pl 3:301‘6 Itf 1
" thic ply min., Structura 1/2" lag screw 16d @ 8" o.c. 3/4" dia. A.B.
/2\ rated Iywood sht'g w/ 10d @12"o.c. w/4" %}16"0 C. w/,%S & A35F @ 16" o.c.

both nails @4" o.c. edges 12" o.c. ~ min. embed.
sides field. Both sides. Block all edges. 613 plf
1/2" thick, 4 ply min., Structural 1 1/2" lag screw 16d @ 8"o.c. 5/8"dia. A.B.
o\ | e P, BiGEs i g EAss @2 oo
L YN J min. embed. 4@
field. Block all edges. 400 pif
A 1/2" thick, 4 ply min., Structural 1 1/2"lag screw 16d @ 8" o.c. 3/4"dia. A.B.
rated plywood sht'g w/ 10d @8" o.c. w/4" w/A35 & A35F @ 16" o.c.
both " "
_ nails @3" o.c. edges 12" o.c. _ : 12" 0.c.
sides field. Both sides. Block all edges. min. embed. - @12"0.c

798 pif

SHEAR WALL SCHEDULE (LASHR99 flexible)




8'-0" MAX.

PROPERTY LINE

3x12 LAGGING
Ak
1L

— - //

RETAINING
WA4x74 WALL, REF.
24"@ CAISSON

£c=3,000 PSI

SHORING TYPE 1, PLAN VIEW



NATURAL GRADE

8!_0"

P6STD
W14x74 <
3x12 LAGGING §

@ 24"% CAISSON ,

f'c=2,000 PSI | ,
,,,,,,,, ToN
N

RETAINING WALL NOT SHOWN FOR CLARITY

SHORING TYPE 1, SECTION



8'-0" MAX.

PROPERTY LINE
3x12 LAGGING

ak ak

RETAINING
W14x74 WALL, REF.
24" CAISSON
fc=3,000 PSI

SHORING TYPE 2, PLAN VIEW



NATURAL GRADE

5 39
—0

8

RETINING WALL NOT SHOWN FOR CLARITY

N
P6STD
W14x74 5 '
3x12 LAGGING § |
@ 24"@ CAISSON |
fc=3,000 PSI A
,,,,,,,, S

SHORING TYPE 2, SECTION



" I
/ \ 3X12LAGGING /|
| |

RETAINING
=2 WALL . REF.
24"% CAISSON
fc=3.000 PSI

SHORING TYPE 3, PLAN VIEW



8!_0"

P5STD
W14x61

3x12 LAGGING

(D
./

f'c=2,000 PSI

NATURAL GRADE

12'-0" MAX.

24"@ CAISSON

> H . ’ s

4‘ ’ -

o
o

—

RETAINING WALL NOT SHOWN FOR CLARITY

SHORING TYPE 3, SECTION



PLYWD SW (WHERE OCCURS)
A.BOLTS PER SW.SCHED.

1/8" X 3" STRAP ON 4X BLKG
(SEE DETAIL 1 SHEET S-8)

4 THK. SLAB-ON-GRADE EASIDE G GO WALL
wi#4 BARS @ 18" O.C. EA. vg; A35 EA. END &
WAY @ MID DEPTH, dF.N, .
f'c=2,500 PS@(WHERE OCCURS) [~ 1 gHT G. TYP.
T 1 | 1] ]
o e FLR. JOIST
: . . 4x LEDGER W/ :
2 ANCHOR BOLT @ PER PLAN
;‘\r‘ llAll REINF 16 O-C- -
: (6" MIN. EMBED) =
A wmerar CMU RETAINING 2
g WALL (Fm - 1500 PSI) 4
: SPECIAL INSP. REQ'D. 2
= I * B AR ¥ epULE BELOW
ﬁ"
wax | "B" REINF. _
" n ;I
A REINF- o e IIC" REINF.
3/4" GRAVEL A )
P o™ 1 . CMU RETAINING I
I WALL (Fm - 1500 PSI) E
- SPECIAL INSP. REQ'D.
: FULLY GROUTED
g v e SEE PLAN & SCHEDULE BELOW
6 et 24"
z e 30"
w 5 s
% - FIN. FLOOR ‘
S0oC o <
TS - . * r
< ]t Q‘S//V : . o &
3 ‘ 3 A IIDII X
; / 24" MIN, INTO
. BEDROCK
- J CONC. FTG.
. e e (fc = 2500 PSI)
#5 @ 16" O.C. 25
b DIWELS TS TOP &/BOTT.(E.W.)
REINF. | 2z TYP. -« o
43 PERFORATED =
SEE PLAN DEPTH INTO
PER SOILS+ BEDROCK TO
REPORT COMPLY W/
H/3 SETBACK
AS PER SOILS
CMU WALL SCHEDULE LT
! "T2& T1 TYPE A "B

7'-6" 10"

cMmu

9'-0"

110" 12" & 107

11°-9" [12" & 10"

alole|lg
==

SIDE RETAINING WALL DETAIL

SREREHG P c.
MAX. TYP.



SKEW 60 SKEW 120

SKEW DIAGRAM




COUNTER FLASHING
W/BITUTHANE

FLASHING
W/BITUTHANE

NOTE:

DO NOT CUT TRUSS MEMBER
CROSS SECTION IN BLOCKING

Skylight Operable-Typical



3l_ou

1"

#4 DOWELS @ 16" O.C.

/ 4"THK S.0.G.,REF.

|

-~ - —
/) ) )

CMU WALL,REF.
FULLY GROUTED
23/4 7L7|L
o #4 @ 24" O.C.
HOR.

#4 @ 16" O.C.
VERT.

SLAB ON GRADE & CMU WALL DETAIL



3'_6“

1 l_6ll

1 l_6ll

2X STUD WALL,REF.
4" SLAB ON GRADE

WITH #4 @16" O.C.
EACH WA
E @ ® ®
#4 @16" O.C. 5
DOWELS x 3¢ & -
12" ®
#4@24" O.C.
H4 9|_16" O.C. HORIZ.
VERT. BARS
‘ WATER PROOF
8" FULLY GROUTED CMU WALL
fm=1,500 psi
SOG. 2-3/4" CLR.
#4 DOWELS . \
@12" 0.C. 1' SQ. GRAVEL T
,, POCKET W/4"®
e | PERF.DRAIN PIPE.  Z
24 l/ ’ ’ =§
® . — ////1 e E‘E
— .
DOWELS TO MATCH N
. VERT. REINF.
s
S N\ S ol 4#4 CONT.BARS
o g 1/ #4@18" O.C.

2'_9"

S.O0.G-CMU WALL-STUD WALL DETAIL



— 6" MIN. AT 12" & 15" PANELS
J 8" MIN. AT 18", 21", & 24" PANELS

# 4 REBAR (MAY BE
HEAVY HEX NUT FOUNDATION REBAR)
s, | | FIXEDIN PLACE ,
T 5, FORALL SSWAB AB'S 2 R
L. —:,?L' B ":)
% ; # 4 REBAR (MAY BE% . g 't
g T FOUNDATION REBAR) [ %
MIN. _ = [
SSWAB ANCHOR BOLT .
F P} — o
(MIN) ~ (MIN) MIN)
SECTION ELEVATION
NOTE: f - S ]
1. REFER TO EMBEDMENT SCHEDULE ON DETAIL 4 ENGINEER OF RECORD IS PERMITTED TO
2. FOUNDATION AND STEM WALL(SIZE AND REINFORCEMENT) MODIFY DETAILS FOR SPECIFIC CONDITIONS.
BY OTHERS k

SSW ANCHORAGE (CURB / STEM WALL)



HEAVY HEX NUT

FIXED IN PLACE # 4 REBAR (MAY BE

FOUNDATION REBAR)

FOR ALL SSWAB AB'S
2 i —— - ] 2 o
.‘,L " 4" i:
b I i‘ - - [ 2
de de E )
3" = — —H— &
MIN. - 8 . = e
IN.
iy @y #4REBAR (MAY BE g
FOUNDATION REBAR)
SECTION SSWAB ANCHOR BOLT ELEVATION
NOTE:

1. REFER TO EMBEDMENT SCHEDULE ON DETAIL 4
2. FOUNDATION AND STEM WALL (SIZE AND REINFORCEMENT)
BY OTHERS

ENGINEER OF RECORD IS PERMITTED TO
MODIFY DETAILS FOR SPECIFIC CONDITIONS.

SSW ANCHORAGE (SLAB ON GRADE)



ENGINEER OF RECORD IS
PERMITTED TO
MODIFY DETAILS FOR
SPECIFIC CONDITIONS. i |© ol (o |H
|
PLACE SSW PANEL OVER
-t L THE ANCHOR BOLTS AND
| SECURE WITH HEAVY
HEX NUTS. (PROVIDED)
N Py ‘EJ |
_— )

o L
SSW BASE PLATE CONNECTION



Embedment Schedule for 1997 UBC Loads
Wind Seismic
2500 psi 3000 psi 2500 psi 3000 psi
WallModell 4o | F de | F de | F de | F

phi = 0.65 (reinforcement not provided per Sect. 1923.3.2)
12" Wall 12" 12" 12" 12" 11" 11" 10" 10"
15" Wall 13" 13° 12" 12" 11" 11" 10" 10"
18" Wall 15" 15" 15" 15" 14" 14" 13" 13"
21" Wall 16" 16" 15" 15" 14" 14" 13" 13"
24" Wall 16" 16" 185" 15" 14" 14" 13" 13"

phi = 0.85 (reinforcement provided per Sect. 1923.3.2)
12" Wall 10" 10" 10" 10" 10" 10" 9" 9"
15" Wall 11" 11" 11" 11" 10" 10" 9" 9"
18" Wall 13" 13" 13" 13" 12" 12" 11" 11"
21" Wall 14" 14" 13" 13" 12" 12" 12" 12"
24" Wall 14" 14" 13" 13" 12" 12" 12" 12"

a. Assumes no special inspection and a multiplier of 2 (anchor not embeded in
tension zone of member) on the concrete per Section 1923.2.

Embedment Schedule for 2000 IBC Loads
SDC A & B or Wind SDC C through F
Wall Model 2500 psi 3000 psi 2500 psi 3000 psi
de F de F de F de F

12" Wall 10" 15" 10" 15" 11" 17" 10" 15"
15" Wall 12" 18" 11" 17" 15" 23" 15" 23"
18" Wall 14" 21" 14" 21" 15" 23" 15" 23"
21" Wall 15" 23" 14" 21" 18" 23" 15" 23"
24" Wall 15" 23" 14" 21" 15" 23" 15" 23"

b. Assumes cracked concrete with no supplementary reinforcement.

Anchor Bolt Embedment Schedule General Notes

1. Anchor bolts shall be high strength ASTM A449 or equivalent. Nuts shall be heavy hex ASTM A563 Grade DH.
2. Where justified by analysis, the registered design professional may specify alternate embedment or bolt grade.
3. Footing dimensions and rebar requirements are for anchorage only.

SSW EMBEDMENT SCHEDULE




ENGINEER OF RECORD IS PERMITTED TO
MODIFY DETAILS FOR SPECIFIC CONDITIONS. |

HEADER BEAM
BY OTHERS

SHIMS EXCEEDING 7/8"
SEE DETAIL 10

= = el e | ] e ATTACH TO HEADER WITH
SDSY x 3% SCREWS.
(PROVIDED)

/
SSW HEADER CONNECTION



ENGINEER OF RECORD IS
PERMITTED TO

MODIFY DETAILS FOR
SPECIFIC CONDITIONS.

|
4

e
-

ot VL

TOP PLATES

SHIMS EXCEEDING 7/8"
SEE DETAIL 10

ATTACH TO TOP PLATES
WITH SDSVs x 3% SCREWS.
(PROVIDED)

SSW TOP PLATE CONNECTION



HANDRAIL, HANDGRIP
PORTION 1-1/4" TO 1-1/2"
ATTACH TO WALL w/4-1/4"@ |
LAG SCREWS OVER SOLID i
BLOCKING @ 4'-0" O.C.

Lo
MIN.
O]
L 2x12 PLATE (P.T.) W/ %
< — 3- 5/8"@ "J" BOLTS o 2
\ \\ /*'/ ™ g
//\\\ s %
AP
=
4x12 BEAM N T
~ 2
E .
JB HANGER %
2.2x14 STRINGER i
TOE NAIL TO PLATE F.F. F.

2"X12 " THREAD
w/10d NAILS
@ 4"_4"_12"

1 2"

CONT.12"x30" FOOTING
w/3- #5 BARS @ BOTTOM
fc=2,500 PSI

A MINIMUM HEADROOM OF 6'-8" MUST BE PROVIDED.

STAIR DETAIL



HANDRAIL, HANDGRIP
PORTION 1-1/4" TO 1-1/2"
ATTACH TO WALL w/4-1/4"9
LAG SCREWS OVER SOLID
BLOCKING @ 4'-0" O.C.

2x LANDING FRAMING
w/ U HANGER, REF.

ABOVE NOSING
3'_6"

MAX. | MAX
& 7"
\
/

- _ e 4x12
N~
7 JB HANGER
4-2x14 STRINGER
IEIIQ%\)/IIIQNG TOE NAIL TO BEAM
¥ \\ /7 1 LAYER 3/4" THICK
‘al‘ \/ PLYWOOD, w/10d NAILS
‘s““ ///\\\ @ 4ll_4|l_1 2"
/ \\
JB HANGER
4x12

PROVIDE MIN. 6'-8" HEAD ROOM

STAIR DETAIL



HANDRAIL, HANDGRIP
PORTION 1-1/4" TO 1-1/2"

ATTACH TO WALL w/4-1/4"Q
LAG SCREWS OVER SOLID ;
BLOCKING @ 4'-0" O.C.
g
. 2x12 PLATE (P.T.) W/ |8
| — 3- 5/8"@ "J" BOLTS o Z
N/ ™ g
X 0
/ A i y
3
. =
4x12 BEAM \.
~
=
JB HANGER 5
2.2x14 STRINGER .
TOE NAIL TO PLATE FE. F.
2"X12 * THREAD 97 CONT.12"x30" FOOTING
w/10d NAILS ©Z w/3- #5 BARS @ BOTTOM

@ 4"-4"-12" | fc=2,500 PSI

12"

A MINIMUM HEADROOM OF 6'-8" MUST BE PR

STAIR FOOTING DETAIL

O

VIDED.



1-1/2" CLEAR

@ 1-1/2" O.D. PIPE HANDRAIL

HANDRAIL SUPPORT FASTENED

S

METAL FLANGE

12 GAUGE 4" WIDE BACKING
PLATE FASTENED AT BOTH
ENDS TO STUDS

5/8" GYP. BD.

STAIR HANDRAIL- SECTION



1-1/2" CLEAR

F 1/8" MAX. GAP

12 GAUGE 4" WIDE BACKING
PLATE- FASTEN AT BOTH
ENDS TO STUDS

5/8" GYP. BD.

- 1-1/2" O.D. PIPE HANDRAIL

HANDRAIL SUPPORT FASTENED
TO BACKING PLATE
METAL FLANGE

STAIR HANDRAIL- PLAN



WALL LINE

MC 12x10.6 STEEL CHANNEL

3/16" DIAMOND PLATE STEEL
DECK. WELD TO PURLINS

I
l

)

6x8.2 STEEL CHANNEL PURLINS
AT 1'-0" O.C. MAX.

2"x2"x1/8" STEEL SUPPORT ANGLE
CONT. - WELD TO DECK AND WALL
CHANNEL

STAIR LANDING AT STEEL
PLATE STAIR - SECTION




NOTE:

FOR LOCATION & EXTENT OF
STAIRS, & FOR ADD'L. DET'LS. g 16"
REFER TO ARCH. DWGS. 1

#4 NOSING BARS, DOWEL INTO
SIDE WALLS (TYP.)

" #4 DOWEL TO MATCH

SEE ARCH. DWGS. SLAB REINF. TYP.

CMU WALL WHERE OCCURS

: §\ " 7 , & 1-6" I 8"
2-#4 BAR —2"CLR. MIN. | NOSING AP MIN.
FNGR F <4 CONCRETI?LSLAB [ | ‘
ORSLAB | 0 _
E Spe? | -']
o #4@12 0.C. EA. WAY 344 MIN-L
| | OR 6x6-W1.4xW1.4 W.W.F. ; CONT.KEY| |
= #a@120cCc. |
, & | ~ _EA.WAY
/! i\l Z. L —
S = : . ,
— H

10" AN
/L SECTION A |

MIN. FOOTING DEPTH
PER SOILS REPORT

STAIR ON GRADE



12"
MIN.

MIN. FOOTING DEPTH
PER SOILS REPORT

#4 DOWEL TO MATCH
SLAB REINF. TYP.

NOSING

BAR ‘

LAP

i
|

3/4"x4"MIN.
CONT. KEY |

#4@12 O.C.

[

10"

By,

EA. WAY

STAIR ON GRADE SECTION

CMU WALL ,REF.
WHERE OCCURS



NOTE:

1'-6" |
FOR LOCATION & EXTENT OF " /
STAIRS, & FOR ADD'L. DET'LS. CLR %
REFER TO ARCH. DWGS. .

#4 NOSING BARS, DOWEL INTO
SIDE WALLS (TYP.)

" 44 DOWEL TO MATCH

SEE ARCH. DWGS. — -~ SLAB REINF. TYP.

N 6 16" |, 6"
2-#4 BAR { L 2'CLR. 7 MINNNOSING LAP 7 MIN.
CONT. ) BAR ﬁ—
ORSLAB | LA ——
soT #4@12 O.C. EA. WAY 3/4"x4" MIN.
N OR 6x6-W1.4xW1.4 W.W.F. _| CONT. KEY .
. o #4@12 O.C.
£ [ 'EACWAY
a = ] N
= i
—= " H

L 10" SECTION <A/

MIN. FOOTING DEPTH
PER SOILS REPORT

STAIR ON GRADE



BEAM WHERE OCCURS

TYP.
1/4"
MATCHING STIFF. PL. TYP.
By
° o | 1120
’
47 e ® | —c i
3" TYP.
0.2 "1 172"
W4x, W6, L2 -(1)-3/4" DIA. BOLTS "
W8 % WVQ,O g oAk PN BOLTS T3BE FULL DEPTH
X
Wi % Wis-tal3id Bla: EQHHS
W21 X, W24- 3/ " DIA. BOLTS

STEEL BEAM CONN. (OSBC)




BEAM WHERE OCCURS

1/4" TYP.
MATCHING STIFF. PL. TYP.
£ R TN |
° ./ \<1 172"
.
o [lre | —L
% 3" TYP.
. p———
‘ é ‘ 11/2"
Wax, W6, L2 -(1)-3/4" DIA. BOLTS
CONN. PL. 't
W8 x, W10-(2)-3/4" DIA. BOLTS
W12 X, W14-(3)-3/4" DIA. BOLTS VLIS FEE RIS

W16 x, W18-(4)-3/4" DIA. BOLTS
W21 x, W24-(5)-3/4" DIA. BOLTS

STEEL BEAM CONN. (OSBC)




COL. PER PLAN

1/2" THK. CAP PL. W/
(4)-1/2" DIA. BOLTS
USE (2)-1/2" DIA.
BOLTS FOR CHANNEL

1/4"

BEAM
SIZE PER
PLAN

1/4" THK.
STIFFNER PL.
N.&F. SIDE

STEEL BEAM TO COL. (MART12)




1/2" THK. STIFFNER PL.

COL. PER PLAN

BEAM SIZE PER PLAN

N.&F. SIDE
—T T
e ol
7
/
™ o
v b i
1/4"
1/2" THK. CAP PL. W/
(4)-1/2" DIA. BOLTS
COL. PER PLAN
(SKEWED WHERE OCCURS)
AN

STEEL BEAM TO COL. (SBC)



1/2" THK. STIFFNER PL.
N.&F. SIDE

COL. PER PLAN

BEAM SIZE PER PLAN

1/2" THK. CAP PL. W/
(4)-1/2" DIA. BOLTS

1/4"

WHERE OCCURS)

STEEL BEAM TO COL.(SBC)



1/2" THK. STIFENER PL.
N.&F. SIDE

BEAM SIZE PER PLAN

1/2" THK. CAP PL. W/
(4)-1/2" DIA. BOLTS

1/4"

R PLAN
D WHERE OCCURS)

=

STEEL BEAM TO COL.



COL. PER PLAN

1/2" THK. CAP PL. W/
(4)-1/2" DIA. BOLTS
USE (2)-1/2" DIA.

BOLTS FOR CHANNEL

1/4"

BEAM
SIZE PER
PLAN

1/4" THK.
STIFFNER PL.
N.&F. SIDE

STEEL BEAM TO cOL. (MART12)



1/2" THK. STIFFNER PL.
N.&F. SIDE

BEAM SIZE PER PLAN

1/2" THK. CAP PL. W/
(4)-1/2" DIA. BOLTS

N

1/4"

COL. PER PLAN
(SKEWED WHERE OCCURS)

STEEL BEAM TO COL.



BM. SIZE PER PLAN

1/2" THK. STIFFNER
PL.N. & F. SIDE

1/4"

1/2" THK. CAP PL. W/
(2)-1/2" DIA. BOLTS

COL. PER PLAN

STEEL BEAM TO COLUMN (SBC2)



BM. SIZE PER PLAN

1/2" THK. STIFFNER
PL. N. & F. SIDE

1/4*

1/2" THK. CAP PL. W/
(2)-1/2" DIA. BOLTS

COL. PER PLAN

STEEL BEAM TO COLUMN (SBC2)



BM. SIZE PER PLAN

1/2" THK. CAP PL. W/
(2)-1/2" DIA. BOLTS

Ny

COL. PER PLAN

1/2" THK. STIFFNER
PL.N. & F. SIDE

1/4"

COL. PER PLAN

STEEL BEAM TO COLUMN  (SBC2)



BM. SIZE PER PLAN

=

1/2" THK. CAP PL. W/
(2)-1/2" DIA. BOLTS

STEEL BEAM TO COLUMN

COL. PER PLAN

1/4"

COL. PER PLAN

(SBC2)



COL. PER PLAN

1/2" THK. CAP PL. W/
(2)-1/2" DIA. BOLTS

1/4"

1/2" THK. STIFFNER
PL.N. & F. SIDE

BM. SIZE PER PLAN

STEEL BEAM TO COLUMN



1/2" THK. CAP PL. W/
(2)-1/2" DIA. BOLTS

b=t

BM. SIZE PER PLAN

STEEL BEAM TO COLUMN

COL. PER PLAN

1/4"



BLOCKING PER PLAN
CONTINUOUS STRAP PER PLAN

B.N. PLYWOOD SHT'G.
JOISTS PER PLAN
_
/,,/
/ 47

/" | A34 @32" O.C.

,/
/8

3x NAILER PER t |

814/

W8x BM. PER PLAN

STEEL BM. TO WOOD BM. (SCT9)



—(4)-3/4" DIA. BOLTS

BEAM PER PLAN

11/2"
77

10||

@
(e/l -h= =

1/4" THK. PL. EA. SIDE

1/2" THK. PL.

N

1/4"

1/4"

COL. PER PLAN

STEEL COL. TO WOOD BEAM DETAIL

(SCWB3)



BEAM PER PLAN
(2)-3/4" DIA. BOLTS —

7 112]
7
P %1/2"
o
1/4" THK. PL. EA. SIDE ’ N
.
7 . Q Y
N

1/2" THK. PL.

1/4"

1/4"

COL. PER PLAN

STEEL COL. TO WOOD BEAM DETAIL



(4)-3/4" DIA. BOLTS
BEAM PER PLAN

112", . 10" 132"

N
(N
= -
—~
N

Ve A
/og/\ 5

1/4" THK. PL. EA. SIDE
1/2" THK. PL.

1/4"

1/4"

COL. PER PLAN

STEEL COL. TO WOOD BEAM DETAIL (SCWB3)



(2)-3/4" DIA. BOLTS

BEAM PER PLAN

N
N

1/4" THK. PL. EA. SIDE o

/1

112"

1/2" THK. PL.

1/4"

1/4"

COL. PER PLAN

STEEL COL. TO WOOD BEAM DETAIL




STEEL COLUMN STEEL COLUMN.

EXPANSION BOLTS ARE DRILLED
INTO FOOTING OR SLAV AFTER
CONCRETE IS FINISHED, ALLOWING
FOR PRECISE LOCATION OF
COLUMN INTEGRAL
COLUMN BASE

N 17 NBE:

\J7 \| |/<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>